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PHYSICS - 2533%3

1) An object is moving with a constant

2)

3)

4)

velocity along a straight line in a path
of zero friction. Force is not required to

1) Increaseits velocity
2) Decrease its momentum
3) Change its direction

4) Keep moving with constant velocity

The Specific heat of a given metal is ‘X’
JKg7'K™. If the mass of this metal is
doubled, then its specific heat will be,

1) X JKg' K™

2) 2X JKg' K™
3) 3X JKg K™
4) % JKg K™

In the following the vector quantities are,

a) Work
b) Energy

d) Displacement
e) Speed

c) Momentum f) Force

1) a, e and d
2) b,c and f
3) ¢,d and f
4) b, e and f

When an objectis placed beyond 2F of a
double convex lens, then the nature and
size of the image formed is,

1) Virtual, Erectand same size as object
2) Virtual, Inverted and diminished

3) Real, Erectand diminished.

4) Real, Inverted and diminished

1y

2)

3)

4)

20T TODF) DTS zgpdf.;cﬂ@od ﬂ.@ég
PIH QTS 0 WBIODER. Tenewd
WO e.-od%%é VYW QDRI & TODT,

1) Sermm, TR

2) HOPenmD), FRWOTPBED

3) QFI, WTSOOWILD

4) BOZODZ, ngddeh’@ocﬁ TRODTORLD

BRLHT 20w deeRT aéﬁ.@;ﬁwsé) ‘X’
JKg7K™. ©nd. 3: deexT TP ooy,
QT Ty Fejacwen BE0 26RRCT,

1) X JKg'K™
2) 2X JKg' K™
3) 3X JKg K™

4) % JKg K™

$NZRYNLY RO TORTNE

a) 3ox d) T TYW
b) 33 e) &3
c) mozen f) 2o

) a, e 3 d
2) b, ¢ =& f
3) ¢, d &= f
4) b, ¢ = f

20T S HRRTTY IWI, 2F 8 WoB
QPR LVOLRMDE  FISWOWD o 0
mognes,

) 5, 3T D INITFE MZTNZT.
2) o, DSRED I BTN,

3)  ®E, 360 W WITONHTS,
4)  FE, Ddned WE WIRNIIT.
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S)

6)

7)

Assertion (A): The Phenomenon of total
internal reflection occurs only when the
light ray travels from rarer medium to
denser medium.

Reason (R) : When the light ray travels
from rarer medium to denser medium
the refracted ray bends away from the
normal.

Considering the above,
1) Both A and R are true and R is the
correct explanationtoA

2) Both A andR are trueand ‘R’isnot
the correct explanationto ‘A’
3) BothAandR are false.

4) AisfalsebutRistrue.

A body of mass 10 Kg is moving in a
circular path of radius 2m with a speed
of 5Sms”. Then centripetal force
experienced on the body is,

1) 25 N

2) 75N

3) 100N

4) 125N
The correct sequence of increasing wave
length of the given electromagnetic
waves is

1) Gamma rays, X-rays , UV - rays,
Visible light, IR -rays.

2) X- rays, UV - rays, Gamma rays,

IR rays Visible light.

3) UV - rays, X-rays, Visible light,

IR rays, Gammarays

4) IR - rays, Visible rays, UV-rays,

X - rays, Gammarays.

S)

Rewd : (A) : BoTerer BOTOCT JSTPOTH)
BeBD N0 m:%;ﬁ:aozs 0T, mz%:né&
BOATRN TR YOOI DTRERT.

50 (R) @ B93 QT wm:smaocs
mogmz:swa%& ¥OTRN T3 T VO
e323n mmgzﬁ.

Oy, Tonedamen,

) A®%H R a0Ee 30 BB R 903
QTCHR A ZOBRONIS,

2) A®® R ot@e 30 & R Qo
AWOHBR A 1} RORRODHOR.

3)  Am® R 20E6 3%
4) A3z esS R 0.

6) 10 Kg TE008 QT 20w To005) 2 o0¢ SW 3

7

%@gmdd IS 5ms"z:dc$§ O ET.
SN & RONT NS TSFIT FCOTVRTND
WO

1) 25N
2) 75N
3) 100N

% 39X 8D AEE0dch Idornvay,
0¥ ITOREATRY HOF IHTY w3,

) mewmm® §3e, 3-30¢, JeTw0ees 3T,
TR €233 3R, WT[ROT D3TE.

2) 3-30e0, JeTw08e8 3T, MO=IVITED,
STROT 3T, TAREWT LY.

3) Seoweded 8T, F-300, TR0
BB, HWROTD TED, Moo 3TEV.

4) oIRoT T, TRWREET  BIR,
JeTw08e3 3T, i—%dsa, MOWID 3T
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8) Match the column I and II with 8) sow-I =3y sow-II TY ﬁ.ra&.gsc'aa'
respect to physical quantities and their FRITOTONAYY [y oYny Sl
SI units. DTSRI, FOSIN BROQA.
Column-1I Column - IT gow -1 gow — 11
1) Force A) Watt ) 2o A) =
ii) Power B) Joule i) ==or B) B
iii) Charge C) Kelvin i) wses C) 8o
3
iv) Work D) Coulomb .
1v) Wor ) Coulom iv) 8o% D) 2puness
v) Temperature E) Newton.
V) eoFd E) Sese
1) i-E, ii-A, iii-D, iv-B, v-C
2) i-E, ii-D, iii-C, iv-B, v-A D 1-E, u-A, m-D, iv-B, v-C
3) i-B, ii-A, ii-C, iv-D, v-E 2 1-E, 1-D, m-C, wv-B, v-A
4) i-D, ii-B, iii-A iv-C, v-E 3) 1-B, u-A, a-C wv-D, v-E
4) i-D, ii-B, iii-A iv-C, v-E
9) Therelation betweenf,uand v of adouble 9) oW ARVIRRTT f, u DI, v ALY SRS
convex lens is Towoy
1 _1_ 1 1_1_1
D w=v'7 D w=vT
1 1 1 1 1 1
T Sy S A
1 1 1 1 1 1
VooTEuty DooTEuty
1 1 1 1 1 1
VoTEuy DoTEwY
10) Assertion (A) : Spark plug is not present 10) TePF(A): Rexo® YoRFTY RWS

in dieselengine.
Reason (R) : In diesel engine carburrator
does the function of spark plug

Considering the above
1) A iswrong but R is correct.
2) A iscorrectbut R iswrong

3) Both A and R are correct and R is the
correct explanation to ‘A’

4) BothAand R arecorrectbut R isnotthe
correctexplanationto ‘A’

B[R,
0% (R): R0’ [ouTTY $RBHB
soxam‘i RRAFBLWTT T@DIT.

81 eOSRNRy, Jonessawen

) AZs)snd RO

2) A0 uEld RIJ

3) AXF R 20BR 30 DR ‘A’ AR’
[OOIRT NWTBOIIONT.

4) A D R 20B8» 30 ©38 ‘A’ #°R°
X003RT DTWTHBODY.
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11) With respect to the diagram given below, 11) 33 3R %Jaaéd:d 235% Howodawod Fow-1
match the column I and II to labeling their =3y Bow- 11 8Y 2RSS gonnds, wIhns
parts BHoRdeodn Beodadowd.
D E s D E
A B A B
C F C F
G H
_____ | ala W | W gle ™ I
Column-1I Column-1I gow -1 gow — 11
i) Aand B A) Carbon brushes i) A3 B A) Bomeon Bownd
iy CDEF B) Splitrings ii) CDEF B) 3@ vorsnsh
%11) G&H C) Magnetic }-’oles i) Gmod H C) woza do Srieh
iv) TandJ D) Coppercoil SV T mé:J D o0 BT ®
v) K E) Externaload 1iv) = ) SRR
v) K E) @o® 303
1) i-B 1-C iii-D  iv-E v-A 1) i-B ii-C iii-D iv-E v-A
2) i-A ii-B ii-D iv-C v-E 2) i-A  ii-B iii-D iv-C v-E
3) i-C ii-D ii-B iv-A v-E 3) i-C  ii-D iii-B iv-A v-E
4) i-E ii-B ii-A iv-C v-D 4) i-E ii-B iii -A iv-C v -D
12) The Weakest force in nature is 12) g 2ohQTm 8303 BOWFOmRn WO
1) Strongnuclear force ) T [oEweD WO
2) Weaknuclear force 2) THUFO FTORRED 2O
3) Electrostatic force 3) myowe DNET WO
4) GQravitational force 4) rbdaa?sﬁazis-'m weo
13) Inthe following the correctstatements are 13) 33 FINIPNYY BOSRE BevIn
a) Lightrequire medium for propagation. a) WEBY TIOTJOND  WIoH WO
b) Lighttravelsinastraight line @55553 a0

c¢) Lightislongitudinal wave

d) Lightconsists oftiny energy packets
3) band d

4) band c

1) aandc
2) aandd

b) 98 ITY Se3oDY WBADIT.
c) B¢ wgston

d) &$m aas&mcs 330 M%wﬁvmd
JRODT.

) a DR ¢
2) a AR

3)b I d
4Hb R ¢




NTSE - SAT

PHYSICS

14)

15)

16)

The value of gravitational constant (G) is,

1) 6.67x 107 Nm? kg™
2) 13.34 x 10" Nm? kg
3) 9.8 ms™

4) 19. 6 ms™

Match the column I and II with respect to
scientists and theirinventions.

Column -1 Column - 11
i) Newton A) X-Ray
ii) Chadwick B) Law of Gravitation
iii) Roentgen C) Neutron

iv) Hertz D) Theory ofrelativity
v) Einstein E) Photo electric effect
1) i-A, ii-B, iii-C, iv-E, v-D
2) i-B, ii-C, iii-A, iv-E, v-D
3) i-B, ii-C, iii-E, iv-A, v-D
4) i-A, ii-B, iii-A 1iv-D, v-E

Assertion : When light travels from one
medium to another medium it changes the
path.

Reason (R): When light travels from one
medium to another medium its velocity
changes.

Considering the above,
1) Aiscorrectbut Riswrong
2) AiswrongbutR iscorrect

3) A and R both are correct and
R isthe correct explanation to A

4) Aand R both are correct but R is not the
correct explanationto A.

14)

15)

16)

RRTEHE 40908R (G) B

1) 6.67 x 107 Nm? kg™
2) 13.34 x 10" Nm? kg
3) 9.8 ms™

4) 19. 6 ms™

sow 1 33 sow II 8P 3etithad Qenpnsd
B ©TT WFeTBRIRY, BOBTN TRODA

gow -1 gow — 11
i) Seue A) X- 330
i) WEFRT  B) MODBYBRF T 0D

iii) oceotFrxa C) SRR

iv) ®&F D) moheszo ATR0Z

V) d3°F > E) WS DS BOmod
1) i-A, 1-B, iii-C, iv-E, v-D
2) 1-B, 1-C, iii-A, 1iv-E, v-D
3) i-B, ii-C, iii-E, iv-A, v-D
4) i-A, ii-B, iii-A iv-D, v-E

TVePF(A): BT 0w wawémaow
D3RO0 TRGEHE BOamen IF, JPIY,
WRCRODTTZ.

0% (R): 393 womd wnz;’ﬁwaaod
HBR0W SRGPE  WBOmR $WT [enTY
WRRR BRI,

SeORPrivy, Wortdawon,

1) AROewS R

2) A3 eB3 R3O

3) A3 R 0B B0 A R A AR
ROCIRE DTVTHOIPNT.

4) A @3 R 208 30 A R @ AR
30CIRT ORVHCHER.
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17)

18)

19)

In the following, the wrong Statement
about the physical quantity ¢ Work’is,
1) Work is a vector quantity.

2) When displacement is zero,
Work is also zero

3) Work is the dot product of force
and displacement.
4) The SI unit of Work is joule.

In the given figure a person moves from
AtoBadistance of 3kmand fromBtoCa
distance of 4km. Then the distance
travelled and displacement are in
respectively

A 3 Km

4 Km

1) 7km and 12km
2) 12km and 7km
3) 5km and 7km
4) 7km and Skm

Abody of mass 4 kg is placed at a height
of 1 meter above the ground. the
potential energy stored in that body is
(g=9.8 ms™),

1) 2.45]

2) 9.8]

3) 19.6]

4) 3927

17)

18)

19)

83 ISNIYNIY PPITWOSReoTT BB Wil
IR Tews.
1) B30I .00 DI Jooece.

2) mRTQL ARG, IORFe B
BRRTMIT.

3) 3Ry wo D m(pdwgww 03
msao&gpmnd.

4) 3038 SI DIRPR xS

$RYR BIRY 2y Fyoko ‘A’ oor ‘B’ i
3 km Be3 BORTS =3y ‘B’ owos ‘C’ i
4 km B3 BORT. ToMES BORE BRT
b3 TSR HTN.

A 3 Km

4 Km

1) 7km &3, 12km
2) 12km 3, 7km
3) Skm &3 7km
4) 7km 3 5km

4kg THOd ATT word TOLHRY, vdor
Im 238RY VR, & ROHTY BORBONTH
T3, B3, (g=9.8 ms ),

1) 2457
2) 9.8J
3) 19.67
4) 3927
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20) In the given combination of resistances 20) 3 ¥R SRYTHT CeerEng BeerdBodY A
the effective resistance across A and C ) C N SBAR TOFBT0 BRGFH)

iS 30 3o
D 50 3) 130 ) 50 3) 13Q
2) 7Q 4) 16Q
2) 7Q 4) 16Q ) )
21) The increasing order of doping levels in 21) 0% ERPIOR NG [ORNER), VN
different regions of transistor is W0 TImgrnd wHrymod QoI FTHTY
. wiwen
1) emitter, base, collector
1 b ) ) ©U3nEs, S50, ROMRTT
2) collector, base, emitter 2) RoreREs, BGRS, TusHFY
3) base, emitter, collector 3) ges, Bo3kEs, Jorewe
4) base, collector, emitter 4) 598, ROTRBE, WO
- ~
22) A train is approaching a stationary 22) womh GG Q0N QR B, eI
observer with sounding a whistle. Then the QPoTRNDLE  dewbns sdR ¥WOMIW. en
observer hears the sound of Besbnih ewh 3R
1) Same frequency ) o8 3:53,3030N3Ia.
2) Slightly lower frequency 2) 3o 3R T S3WNTIT.
3) Slightly higher frequency 3) RY BEI ©B 33PN,
4) Same frequency but of different quality 4)  2e8 ROeeRBE WKl B8R, 303NIIT
23) If the distance between two bodies is 23) Q0@ ROPNY VWIS WOITIT, 2% TR,

increased by 2% then force of attraction
between them will be,

1) decreasesby 6%
2) decreasesby4%
3) increases by4%
4) increases by 6%

%zzadz,mn VOR)NY TN ST WOR),

1) 6% 3T IRDOIRHIT.
2) 4% S, BRI
3) 4% IT, BT,
4) 6% I, BeRHIT.
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24)

25)

26)

27)

If suddenly the gravitational force of
attraction between earth and a satellite
revolving round it becomes zero, then the
satellite will,

1) Continue to move in its orbit with
same velocity

2) Move tangentially to the original orbit
with the same velocity

3) Become stationary in its orbit.
4) Movetowards the earth.

A force of 5 N is applied on a body of
mass 20 kg makes it to move a distance
of 2m, the Kinetic energy acquired by
the body is,

1) 207
2) 107
3) 153
4) 53

Which of the following velocity-time
graph is not possible?

1) 1 2)
W ThL
v v
0 t—
4) Thj_
A\
;’ =

Universal timeis based on

<—>

1) Rotation of earth on its axis.
2) Oscillation of quartz & crystal.
3) Vibrations of caesium atom.

4) Earth’s orbital motion around the sun.

24)

25)

26)

27)

PR DI 980 DI DRI IS
SWON THTOTPWRD WO TWF  ©N
BRRFTRTT, €N & LWINTH)

) Bo3od, 33, 3o wBe [enng
BOOTORIT.

2) e IennY I, 380D BBFIT IeTTY
BORIT.

3) 38, 380DY dFowrdIT.

4) R0 3AER B8O,

20kg BF00d [T 20T Tob Fed SN
woIR, Fleenawen ©W 2 Nt BeS
BORF0Z IR, MRS & ORT) NPT
BOT o,

1) 207
2) 107
3) 157
4 53

81 UNIZINYY BRI [en-won IFohs
@mdé?

D 2
W ThL
v v
0%

t—

3) ) TE

Vv
;’ t>

TRFIF POR) SHOTTNTIRT

) Hedoodn 3F, 9BE Hed BB

2) Re38 dS0D BoRReVT

3)  RCACNO LENNT FOTS.

4) PRodd 3T, 3FOHY RARCDFI AT
DBF)T.

<—>
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28)

29)

30)

Two trains A and B are moving on two
parallel tracks in the same direction. The
velocity of train ‘A’ is 80 Kmh™ and
velocity of train ‘B’ is 55 Kmh™, Then
relative velocity of train A with respect to
train ‘B’is,

1) 135 kmh'

2) 3.2 kmh'

3) 4400kmh'

4) 25 kmh'

A stone of mass 200g is dropped from a
tower of height 20m. The time taken by it
to reach the ground is, (consider air
friction=0 & g=10ms ?)

1) 2s
2) 4s
3) 8s
4) 10s

In the following, the v-t graph which
represents a body is moving with uniform
acceleration and with some initial velocity is,

1) 2) 3) 4)
I V }/ W /
v v v
t— t— t— t—

28)

29)

30)

A3 B o@D Seonsh Q8@ BRRmeoss
S 20T DIVY WO, ‘A’ GO Hen
80 Kmh™ 3 ‘B’ 5o et 55Kmh™
Tomns ‘B’ 8(5@71 Howopwo3 ‘A’df)ﬁ
moBeg len,

1) 135kmh'
2) 3.2kmhk'
3) 4400kmh’
4) 25kmf’

200g TF 000 [T 20T FYR, 20 e 22T
[ON ReexhOROR 98 VeI, AW SOTD,

3eoTen 3@&@%&;}5 20 (PePrs =0
S8 g=10ms™? Qo Jonedz)

1) 2s
2) 4s
3) 8s
4) 10s

B IPNTINGSY, oW NP NITHAT
dcﬁm%&ir DBy h;g spleletal BV  talela)
VOB IR TR, BeWWS Hen-5w S o,

1) 4 2) 3) 4)
=
v A\ v
t— t— t— t—
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31) In the following v-t graph the displacement 31) 8 3I9NT Jn-non SEORY DT
of the particle is, ﬂ%ﬁwgu@
/N /N
8
T
) 6
(ms™) 4
2
O 2 4 6 8 0 2 4 6 8
t(s) t(s)
) 12m 3) 36m 1)12m 3) 36m
224m & 48 2)24m 4) 48m

32)

33)

With respect to a perfect gas, if,

1) PandV are given T Can be determined

2) Tisonly given P can be determined.

3) Tisonly givenV canbe determined.

4) Tisonlygiven P and V both determined.

“Heat it self does not flow from a body at
lower temperature to a body at higher
temperature”, this states

1)
2)
3)
4)

law of conservation of momentum
First law of thermodynamics
law conservation of temperature

Second law of thermodynamics.

10

32)

33)

20T WoTeeer WAVRY (Perfect gas)

) P od Ve, dewmn, T o,
AFFORWIBO.

3eBO T oD, R[owg et P od,
QFFORLTBI.

o0 T oD, [ Betin Vo,
NP FORLTOW.

T o), detn, P DB V Q0BIR,
AFFOTIBOIN.

2)

3)

4)

“ougR) 3R LFS FOHE THAVCT é&z%aﬁ
wFPF Qoem Imyn a’a’&&zﬁé e
TOCINPOR” B Bevdods,

) Roen BOTFETD O

2) wwFWO &mﬁﬁm’(thermodynamics)
RRTOIE AODIW.

LOFI0D FOoTTETD VOW.

T O ébm‘ap’(thermodynamics)
QOB VOR.

3)
4)
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34) In winter season woolen clothes keep the

35)

36)

37

38.

body warm because, wool

1) Isabad conductor of heat

2) Increases the temperature of the body
3) Decreases the temperature of the body
4) Absorbs heat from the surrounding

The magnitude of charge of an electron is,

3) 1.6x10™°7
4) 1.6x10™°C

1) 1L.6x10"°7
2) 1.6x107°C

10 identical wires each having resistance of
1Q are joined in parallel . The resistance of
the combination is,

D 1@
2) 0.1Q

3) 10Q
4) 001Q

In the following the correct statements are,
Resistance of a metallic conductor is

a) directly proportional to its length
b) inversely proportional to its length
¢) independent ofits length

d) directly proportional to its area

e) inversely proportional to its area
f) independent ofits area

1) aand d 3) band e
2) cand f 4) a ande

A current of 3.2 A is flowing through a
conductor, then number of electrons flowing
per second is,

1) 51.2x10°  3) 5.12x10™

2)3.2x 10° 4) 2x10"

11

34)

35)

36)

37.

38.

BOMORY Cor Wit BB, VN33
280w, vosdo

) O[T 3.

2) BT ToTBI), BRI,

3) VDT T[N, FRBTPROTT.
4) OFBW, RBAI0T SeOERNIT.

20T adaga‘af 33363 JOTD

1) 1.6x10°T  3) 1.6x10™J
2) 1.6x10°C 4 L.6x10™°C

Tecdeomd oo Beedny) 102 BTHV wotde
Oedcd 10 303n¢R), WowoP(AW[RoBT)emeN
BRekan. 83 FocdeemsNod Bregm)

) 10 3) 100
2) 0.lQ 4) 0010

B IPNIPINYY DOOIRE Bewdnw, 0w
SRITTTTR BRTFR) ¥TT

a) WGE Je0 ODTIBYIIT.

b) WFF DSRBRITIZTIYIZT.

c) BF FBOTHNTIT.

d) DaeeerE 38 OTHITYTIT.

€) DXeeRFE BB TPIBYTIT.

f) Dxeeord 3Z0ZmoNTHTT.

) axdd d
2) caRf

3) badR e
4) a =R e

womd WTIRY 32 A IF, IWI
BOCIITN SWOY B3 BIorRY BOCKHS
ad%mne; sos%
1) 51.2x10°  3) 5.12x10™

2)3.2x 10° 4) 2x10"
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39. You are provided three resistors of 2 Q, 3 Q
and 6QThe following combination which
gives the effective resistance of 4  across AB

is

3q 62
1) A- 2Q B
3a 20
Y, Y /\A. \
2) A- 6Q B
S
3Q
2
3) A N?
6Q
30 2Q 6Q
4) A*/\/\/»—/\N\/;A-N A

40. Inthe given circuit the valueof R is,
AAM,
I=3A « @ -
@) V=12V
1) 36Q 3) 12Q
2) 24Q 4) 40
41. Abulb having 4 QO resistance produces light

when it is connected to 2V supply. The
electric power of the bulb is,

) 1Watt
2) 2Watt

3) 4 Watt
4) 8 Watt

12

39. R 2Q,3QI 698.@@5?1@3‘534 BRYH. 82
NS MocdeewdnsY ABRY IBI 40

TOFSOHT0 draez:aabd T T,
3Q 6a
DA 20 B
30 20
2) A 60 B
30
20
3) A- A
60
2Q  6Q
g A 322 02 A

40. 3RYTT DoBwRY R RS
R

VAVAVAVAN
I=3AQ§ ®v=12v ™
) 360 3) 120
2) 240 4) 40

41. 4Q BRCG VDT WOTH u%abd 2V m%ﬂﬁ

BoJgeaton zwsm& s.rawgd. esn aoe::‘ow
&)c&:zss‘ mabzsﬁr (J=T9)

) 1w
2) 2w

3) 4
4) 8
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42. 1In the following , the paramagnetic

substances are
a) Copper

b) silver

¢) Iron

1) a andb
2) c andf

43.

d) Aluminum
€) Manganese
f) Cobalt

3) band d
4) d ande

The most suitable material for preparing

permanent magnet is,

1) steel
2) copper

44.

3) Softiron
4) Nickel

In the following the correct representation of

magnetic lines force is,

1)

R
K

13

42. B3 INSIHnYQ
a)
b)
c)

S0

3¢

LD
tA)

1)
2)

adba'_bnb
cma_)’f

43.
RRTE ITY
D em%%
2) o

4. B ENIYNEY

Carler) T0SeOP ai*’.;_:pne.?o

d) ©ORICNO
e) WRONICR"
f) dwezef

3) bva d
4) dadd e

233 wobmoIRR, IodROBL ©303

3) WP Y
4 e

F03e0DH z,.mti‘c3371@33:“l

BOC3TN BIDPAHHT.

1)&(1\}
44

iy
5%

> S)\,
—
—
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45.

46.

47.

48.

The monochromatic visible light contains
1) Only two rays of light

2) Lightof one wavelength

3) Lightofall colors.

4) Only white light

The focal length of convex lens is 20cm, its
radius of curvature will be,

1) 10cm 3) 30cm
2) 20cm 4) 40cm

Arun is driving a car, due to fog he cannot
see the road. This is because
1) Fogabsorbs light
2) Lightis scattered by the droplets in fog
3) Light suffers total internal reflection

by the droplets in fog
4) The refractive index of fog is infinity.

The Combination of a convex lens and a
concave lens each of focal length
10 cm behaves as

3) Convex mirror
4) Glassslab

1) Convex lens

2) Concave lens

14

45.

46.

47.

48.

DESedrecd Zre et Ned BeodHLHHT

1) %R Q0B BLEI $0consd.
2) 20T ITONTRT YR LEH.
3) oup wegnsd [\ LW

4) FeRO VPO BE®

WOTH LERFBRTT BORTHHEAT 20 Fo.dwe
|, VWO TP KR

) 10 Xo.ene
1) 20 Xo.eoe

3) 30 Xo.ooe
4) 40 Fo.oe

WTIHRTY TN, WO JINRBIWN

SowRomen wTAIX TRXN  TERJHAY.

Al lelnle)

) oo B8N, HedodeWIT.

2) B9 ORI TINSY WRITIT.

3) X980 RORT JAINGY XoTweer
$030e8 TIPOTONZT.

4) ORI [BePBI ARW0THR) WT0S.

Facdeoms Bon=HTAT 10 cm  [THT 2.0
RERTDBRT DI wowH AW FLRATATRY,
Boo3ee3atien W) NSFDIHT

1) &3 VDRRTVWOZ  3) e TIF WO

2) AR, WRRTEOZ 4) Moy BJBOPOZ
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49.

50.

The image formed by the objective of a
compound microscope is

1) virtual and diminished
2) read and diminished
3) read and enlarged

4) rirtual and enlarged

A man of height 1.8m is standing in front
of large vertical plane mirror. The
distance of the image from the man if he
stands at a distance of 1.5 m from the
mirror is,
1) Im

2) 1.5m

3) 1.8m
4) 3m

15

49.

50.

2.0 Tooksg BRY, TBFREYS
IRTHERTBY VotRMHT JEWOWH)
) oA BB 8ZTNDIT.

2) A DR WITONTTT.

3) AW DB BRFTNDIT.

4) BI ) BRFENTIT.

1.8 €0 2.8) FI0ID 0™ BRFWRT
868 BHIO BIJFLOW o 03RS, B
5361_%»0333 BIFOROW 1.50¢ BRTTY aoé%c?
B3R ROIHT BIROT BT JIWOWTHT
©R3

| I AV 3) 18 e
2) L5 &we 4) 3 e
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3¢ QOITNEH
TP~ 25’33933)
C eriid A eri;p R0 e:iics s efi;,d B ”i;d
1 4 11 3 21 2 31 2 41 1
2 1 12 4 22 3 32 1 42 4
3 3 13 37 23 T 33 47. 43 14
4 4 14 1 24 2 34 1 44 1
5 3 15 2 25 2 35 2 45 2
6 4 16 3 26 T 36 27 46 4—
7 1 17 1 27 1 37 4 47 2
9 3 19 4 29 1 39 3 49 3
10 2 20 1 30 3 40 4 50 4

16
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CHEMISTRY - dmoﬁaﬁmg

1) Match the following naturally

2)

3)

occurring acids in column A with the
respective sources in column B.

A B

1) Nettle Leaf
b) Methanoic acid i) Vinegar

a) Oxalicacid

¢) Aceticacid 1i1) Tomato
d) Citricacid iv) Orange
v) Curd
1) a-iv, b-i, c¢-v, d-iii
2) a-iii, b-v, c¢-1v, d-i
3) a-iii, b-i, c-iv, d-ii
4) a-iii, b-i, c-i d-iv

The salt used in soda-acid fire
extinguisher is

1) NaHCOQ,
2) NaCl

3) NaCO,

4) CaOCl,

The correct arrangement of the
following metals in the decreasing
order of their relative reactivity is,

1) Potassium, Copper, Gold, Aluminum
2) Potassium, Aluminum, Copper, Gold
3) Aluminum, Copper, Potassium, Gold

4) Gold, Copper, Aluminum, Potassium

17

1y

2)

3)

A TYoHQooT mdz;n;wmn BRTHRN

STRETY, B TeoROR oyne xeg
Shwontecdn Broda.

A B
a) uRIT oY i) 0%
b) DFBRecWFT BTy i) OINT
C) ©AUT G iil) QeRwREee
d) 27 o iv) 339 e

V) RRRD

1) a-iv, b-ii, c-v, d-1iii
2) a€ii, b-v, c-iv, d-i
3) adiii, b, c-iv,  d-ii
4) a-ii, b-i, c-ii d-iv

RRt® SR ONZTTY  LoTO3RENTLE
O[ed

1)  NaHCO,
2) NaCl

3) NaCO,
4) CaOCl,

B 398 BRYOOR deemnY mTey 03w
3e03odh ¥PF FHTROR NOIRT BeeRH

) TR0, T, W, LLYIONO0
2) BRERAOIOLHLVIONO, T, 8T,
3) ©AONO, T, BRERACHO, BT,

4) BT, 0T, VLUION0, BRERAOIO
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4) Which of the following is a
decomposition reaction

1)
2)

3)
4

Fe + CuSo4—> FeSQt+ Cu
Na2 So +BaCl — BaSo+ 2 NaCl
3 2 4

Fe So4 —>Fe203+ Soz+ So3

CaO + HZO — Ca (OH) N heat

5) Which of the following is the structural
formula of propanoic acid

) H

e

C-C-C-OH
H H

6) The liquid used by a Goldsmith to melt
Gold, is a mixture of

1)

2)

3)

4

Concentrated Sulphuric acid and
concentrated Nitric acid in 3:1 ratio

Concentrated Hydrochloric acid and
concentrated Sulphuric acid in 3:1
ratio

Concentrated Hydrochloric acid and
concentrated Nitric acid in 3:1 ratio

Concentrated Hydrochloric acid and
concentrated Nitric acid in 1:3 ratio

18

4)

3)

6)

8 FNFHNYY IR JPE Fodbodentd

1)
2)

3)
4)

Fe + CuSo4—> FeSo4+ Cu
Ne&So +BaCl — BaSo+ 2 NaCl
4 2 4

Fe So4 —>Fe203+ Soz+ So3

CaO + HZO — Ca (OH)2+ heat

83 FWAYNSO AIRHT BRTIoWTF ST
SRTe BRITeNT

DH

H HQ
C-C-C-OH

WEIMOSD WP, FONTes WIDHT TR[ERY
QNS WIJFoTNT.

)

2)

3)

4)

31 T oDIIRY TJwo IR0T
) DB TP JWe" vy

3: 1 8 oDTRIBY B BRBREROT
T D, TpO IOROT o

3: 1 B ONTITY T BREERYOT
SENIEWMES ASIRICON]

1:3 3 TRweBY Jpo B@REROT
B DB Bpo JEIe° 9
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7) The major Hydrocarbon present in 7) ol ©ROTYR TTHH PUTTNDHT
cooking gas is ByR 0T
1) Ethane ) sge
2) Methane 2) 2P
3) Ethylene 3) RO
4) Benzene 4)  Homey
8) Statement A : Vinegar is acidic in nature 8) e A: QI Bead rHd BRCXT.
Statement B: vinegar is used as a , ,
preservative in pickles Bevd B: 0 TFVONI0IITY, XOTE LI
SWNTY, vT3RNTSRMHIR.
1) A istrueand B isfalse D A R H B =
2) A isfalseand B istrue 2) A 3D P B ®d
3) A isfalseand B isfalse 3) A BB %P B 3D
4) A istrucand B istrue 2) A %0 3% B 30
9) Rekha prepared soap solution. It 9) Cesoosh XTOWAIN WRREOTR IoOAWY
appeared cloudy, because soap micelles O SReRTOZ PEWET, VECTS TWAIT
1) Absorblight AT
) Absor = ) evEmy, GeoRnuEs.
2) React withair 2)  RECRES BSFAISE.
3)  Scatterlight 3) 2398 BTHORT.
4) Reflectlight 4)  BIBD, BTIPORIR.
10) The components used in the | 10) 33 %338 WIDT LWIFCONY ScIPOZDY

manufacture of surgical instruments
are

1) Fe, Al, Cr, C
2) Fe,Ni, C
3) Fe,Al, C
4) Fe,Ni, Cr, C

19

WEBCRMIT Fe3FND

1) Fe, Al, Cr, C
2) Fe, Ni, C
3) Fe Al C
4) Fe, Ni, Cr, C
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11) Radha is studying modern periodic 11) Topesh UEhiE SRNIre deegssy, vgons
table and listed the periodic trends in SRS TN VT, 8'071%"@35 “wmisran
the properties of elements. Read all the Howopamod 8 NI wosm:fab W|ed
sentences carefully and choose the right SRR, B AR VevInTse, aw@ﬁo&:od
option. 2,0 BOCIR ek 2,00, rbam
A) Atomic radius decreases across a A) oTBERY QWOOTW  wod  wBOTOI
period from left to right o | 1o 5@53033713313
B) Ionization potential increases down B) moasy heddomw ¥ wWoamod
agroup Gomacﬁdt'a ma‘)ﬁ £ %mmzd
C) Electro negativity increases across a O e"zggd@té a;g;’? 2;::& wOuRo3
period from left to right DI s b/
1) Aand Care correct, Bis incorrect 1) AXZHCAD,BIX
2) A,BandCare correct 2) A,B & C ned %0
3) AandBarecorrect Cisincorrect 3) AR B A0, C 3R,
4) BandCarecorrectAis incorrect 4) B3y CHO A 3=,

12) Saturated Hydrocarbons burn with a 12) Zo3F BRerewranw VO wBdeodn
blue flame while unsaturated BWaBS WBoZT BWALTETRD Tb2od
Hydrocarbons burn with a sooty flame POBALR RVRROON BWI. Do
The reason is 1) ROB T TyBRLTPWED NI TR

—t
1) Saturated Hydrocarbons have low TRROT FRLEHT BRODN W)

percentage of Hydrogen and
unsaturated Hydrocarbons have high
percentage of Hydrogen

Saturated Hydrocarbons have high
percentage of Hydrogen and
unsaturated Hydrocarbons have low
percentage of Hydrogen

Saturated Hydrocarbons have high
percentage of Carbon and
unsaturated Hydrocarbons have low
percentage of Carbon

2)

3)

4) Saturated Hydrocarbons have
Oxygen and unsaturated

Hydrocarbons do nothave Oxygen

20

WROZT TWRLTWFIND TP
BRIWEOT BBRLRI® BHOD.

ROBTW TBERETWFIND TS
BROT BBRBRIT BROVT DB
VRO T TBBRLFWFIND  FRND
BRI TRRLWY BRHOVI.

RNOBTW TBBRTPWFI NN TS
TWWRT  PWFI® BRODD =B
VRO T TBBRLFWEIND  FRID
TTOOTI ToWF D BRODES.

ROZW TBBRLTDWFDTIH  SERIN,
VROV ) BFOZ T BERTOWF
R SIRI, BROOY

2)

3)

4)
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13) Rahim burnt a piece of magnesium wire
and noted down his observation as.

14)

15)

1)

2)

3)

4

The wire burnt with green - blue
flameand gave black coloured ash.

The wire burnt with yellow dazzling
flame and gave white coloured ash

The wire burnt with white dazzling
flame and gave white coloured ash

The wire burnt with yellow flame and
gave brown coloured ash

Mary overate at her friend’s birthday
party and developped burning
sensation in her stomach due to the
formation of the following acid

1
2)
3)
4)

1,5
HC1
HNO,

CH3COOH

Oxidation of fats and Oils is called
1) Rancidity
2) Rusting

3) Corrosion

4) Decaying

21

13) S&eshd dmdeaaob 3030 e‘.ooz:&.raozﬁrxbe1
D%y B, IYAT wos‘n‘#a’a& noola
ma:)@:sbagé.

L.

B03030 BT W3 dedezBodeodn
D& a’m’% ws%m’ wa@o:s’oaa’od
LV23NTVRD.

TOEOIN TWFToTRIOTXOW TYO
md@"o&rao@ﬁ TR WY us@ad
LR, LVWNTPRB.

F0803N T, FoTIIDINOT VY
zsadei’oirao@r? Ty 09 &)s'%cs'
m@o&n&d VO WORIV.

30803 IJYD zsgeioﬁxao@ﬁ T&A
BOTD WEYT WRDOITY, YLOLDTIR.

14) bedad» 364 ns3od zsafpaﬁcs psplelethial]
NS NED  SOTH m&gos:cg O WRPS
moms%, B UHT LVIRVEIN 0T

1)
2)
3)
4)

5
HCl
HNO,

CH3COOH

15) 3oy oI o OIREEBR LIMIHRHTRY,

aocﬂailus:da.

) I S IXPAL

2) 3B, HRAINDF
3) =BcoRB

4)

BRVOIVNT
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16)

17)

18)

19)

Dobereiner’s triads among the
following is

1)
2)
3)
4)

Hydrogen, Lithium , Helium
Chlorine, Potassium, Calcium
Nitrogen , Phosphorus, Arsenic

Calcium, Strontium, Barium

The number of covalent bonds in
propaneis

1) 13
2) 10
3) 9
4) 15

In a chemical reaction dilute HCI is
added to Iron fillings. The products
formed are

1) Chlorine and Iron hydroxide
2) Chlorine and Iron oxide
3) Hydrogengas and Iron chloride

4) Ironsaltand water

Which of the following salts have 10
molecules of water of crystalliration

1. Ferroussulphate
2. Bariumchloride
3. Sodium thio sulphate
4

Sodium carbonate

22

16)

17)

18)

19)

31 FENSPNY BB FOS Fodnw

) BRERRED, IePODTT, &edo0
BRe0ex", TBRLWRONO, TN
S @R, TR, BRI

%3560330, T AONTF, 3e00NTF
~ e

RRBe RO dnetedon® wogny 50936

1) 13

2) 10
3) 9
4) 15
WO  TOXmRORNAT 300N WWFY

[RRLBHOT GPIW, TP WRTORYR
Re0Bem3I. A vwotRrhE LR nPons
) 30" D) 3R By B

2)
3)
4)

&roaoeaev msg %a%sad Eﬁgdw
BBRLBT VIO BB BLYer3 BT,
62%9@:3 (Do) mé_op e,

BINTY BT O 10 e g&sacsdwd
QeTRy, VRO,

1) oz xgew

2) 25e00%0 B
3)  AeeRoDo Hodee ﬁeiew
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20)

21)

22)

The atomic mass of three elements
arranged in increasing order are
x=40.1, y=388.7 and z=m. Then the
value of mis

1) 1373
2) 1733
3) 64.4
4) 128.8

Which of the following is not a redox
reaction

1)
2)

Burning of Magnesium ribbon in air

Addition of dilute Hydrochloric acid
to Zinc granules

Addition of Silver nitrate to Sodium
chloride

Release of Energy during respiration

3)
4)
Match the functional groups in column

A with their molecular formula in
column B

A B
a) Ketone i) -OH
b) Alcohol ii)- C-H
o)
9
¢) Aldehyde iii) -C-0H
d) Carboxylic acid iv) - § -
O
1) a-ii, b-i, c-iil, d-iv
2) a-iv, b-ii, c-i, d-iv
3) a-iii, b-iv, c-ii, d-i
4) a-iv, b-i, c-ii, d-iii
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20)

21)

22)

DR OD/NRY T caéo&:abd NO3
0 wowmen x = 401, y = 88,7 =3I
z=m esrbgd. TOMTT ‘m’ & 233

1) 137.3
2) 1733
3) 644

4) 1288

B3 PNTJIRSY c3eFPHod Breew®, 303 vy

) N0 B0 Mevody BT
2) FIOAT WROINTIY, WIWFO
BRREREOT GIF FeORJYD

3) Recrodo dgedRn AQoT e
T0RED BEOATYT
4) a0 30HCHY B8 DRNBOITIDIHT.

A TEIoHOHT 33RHoTbrvRy, B [eioh O
RRT OrNTRINIATER B0
A B
a) seednes’ i) - OH
b) ©dReTHe” ii)- C-H

o)

Q
c)ug B iii) "C"OH
d) eRrde oy  jv) - C-

O
1) a-ii, b-i, c-iii, d-iv
2) a-iv, b-ii, c-i, d-iv
3) a-iii, b-iv, c-ii, d-i
4) a-iv, b-i, c-ii, d-iii
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23)

24)

25)

Consider the following statements and
select the correct alternative

A) Carbon occurs in different forms
in Nature
Diamond and Graphite are

allotropes of Carbon

B)

In Diamond each Carbon is
bonded to 3 other Carbon atoms

O

D) In Graphite each Carbon atom is
bonded to 4 other Carbon atoms

1) A and B are connect ;C and D are
wrong

2) A,Band C arecorrect; D is wrong

3) A,C&D arecorrect; Biswrong

4) A,B andD arecorrect; Cis wrong

While experimenting in Laboratory

with acids, the teacher instruct the
students to

1) Add water drop by drop to
concentrated acid

2) Add Concentrated acid drop by
drop to water

3) Pour water into acid

4) Pour acid into water.

When a white power A is added to

water, a vigourous reaction takes place
and a large amount of heat is produced.
This mixture is used for white washing.
Then Ais

1) Calcium hydroxide
2) Calcium bicarbonate
3) Sodium hydroxide
4) Calcium Carbonate

24
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26)

27)

28)

An element with atomic number27isa

1) Non-metal

2) Metalloid

3) Zero group element
4) Metal

Assertion A : Lead reacts with Copper
chloride to give Lead chloride and
Copper

Reason R : Lead is less reactive than
Copper

1) AistrueandRistrue
2) Aisfalse andRis false
3) Aistrue andRis false
4) Aisfalse andRis true

In this experiment the colour of zin
granules changes to

& § Sy > dilteHOl
8
0
0
0
0
o]
0
0
0
0
0
DO OO OO0 Q CX
[x 7 ﬁ\L 5 ‘)‘(Y/' > Zn
NeJertie aiores et
1) White
2) Black
3) Brown
4) Red

25
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CHEMISTRY
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28)
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29)

30)

31)

32)

The percentage of water in Glacial
acetic acidis

1) 50%
2) 5%
3) 25%
4) 0%

An Inertgas with atomic number 10 is
1)
2)
3)
4)

Neon
Argan
Krypton

Xenon

The corect arrangement of the
following metals in decreasing order of
their metallic character is

1) Be > Mg >Ca >Sr
2) Ca>Mg >Be >Sr
3) Sr> Ca>Mg >Be
4) Ma > Sr>Be >Ca

If an inert gas with atomic number 18 is
in 3rd period, then in which period and
group do you find an element with
atomic number 17.

1)
2)
3)
4

3rd period, 18th group
3rd period, 17th group
4thperiod,1st group

2nd period, 18th group

26

29)

30)

31)

32)

HeRODEF 32435 SRHTROTHHT DO TRwed

1) 50%

2) 5%

3) 25%

4) 0%
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1) Be>Mg>Ca >Sr

2) Ca>Mg>Be >Sr
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4) Ma> Sr>Be >Ca
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33) Thestructural formula of Butanone is
1) CH- C-CH -CH
2 (ll) 2 2

2) CH-CH=CH
3 (l) 3

3) CH-CH-CH,-CH
2 1} 2 2

4) CH-C-CH.-CH
3 n 2 3

34) Aluminum reacts with Copper chloride
to give Aluminum chloride and Copper
the balanced chemical equation for this

reaction is
1) Al+ CuCl2 —> A1C13+ 3Cu
2) 2Al+ 3CuC12— > 2A1C13 +3Cu

3) 3 Al+2CuClL > 3AICL, +2Cu
4) Al+3CuCl, > AICL +3Cu

35) Assertion A: Sodium hydroxide reacts

with Hydrochloric acid to give Sodium
chloride and water.

Reason: An acid and a base react to give
asaltand water

1) A istrue R istrue

2) A istrue R isfalse

3) A is false R istrue

4) A isfalse and R is false

27

33) wniiRecdS T BRZ
1) CH- C-CH.-CH
2 (n) 2 2

CH -CH-CH
3 1 3
O

CH-CH- CH,-CH
2 n 2 2

2)

3)

4) CH- C-CH.-CH
3 2 3

34) weodobo, @ ERegRNeoRR [
WOONICRC  IRETT I TINTIY,
gookhIR@IE, B DR 3y XocsNT
TomRCHF TWeITEI)

1) Al+CuCl, —> AICL+3Cu
2) 2Al+3CuCl, > 2AICL+3Cu
3) 3Al+2CuCl, > 3AICL, +2Cu
4) Al+3CuCl, > AICL+3Cu

35) JIWTS A T Aerdpedr wprieodn
AneRcho B B S3ra AeeRobo dpedn®
Y DTy, WNE ZRBDIT.

w9 R: 2,000 &by .00 Jsbreodn
TIFATOR 2OW OTH [Ty IO,

LLOENTRE IR,

1) AZXo, R %0

2) AR, R 3R
3) A3 R %0

4) A 3®,R 3D
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36) The carbon compound that undergoes
complete combustion among the

following is
1) C2H4 3) C4H10
2) CH, 4) CH,

37) 10ml of acetic acid is mixed with equal
quantify of water. The diagram
representing the mixture is

N

watere | aectic acide =P EEiES

acetic acid ¢—f 110 water¢- g:,?,jf/
K //

\

H 0 e

| clear romzzarzs

water<- [l solution i

acetic acid¢——-------=o4 ot

water$ ,/ ooy

38) In the process of electrolytic refining of
Copper

1) cathode is impure Copper and
anode is Graphite

2) cathodeis pure Copper and anode is
pure Iron

3) cathode is in pure Copper and anode
is impure Copper

4) cathode is impure Copper and
anode is pure Copper

28

36)

37)

38)

[RNYY ToTprer TITIODR WM
TN :doo.*mﬁ

1) C2H4 3) C4H10
2) C3H4 4) C5H10

10. <0.0¢ S VLT CRHR, ¥R Jeeow
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39)

40)

41)

42)

Select the pair of metals which are poor
conductors of heat among the following

1) LeadandBarium
2)
3)
4)

Lead and Merecury
Merecury and Vanadium
Zincand Lead

The two colours seen at the extreme
ends of the pH chart are

1) Redandblue
2) RedandGreen
3) Blue & yellow

4) Blueandgreen

Raju’s Silver ring gradually turned
black due to the formation of the
following layer on it

1) Silveroxide

2) SilverNitrate
3) Silver Sulphide
4) Silver Sulphate

Assertion A : Sodium hydroxide reacts
with Hydrochloric acid to give
Hydrogen peroxide and Sodium
chlorate

Reason R : A base reacting with an acid
forms salt and water.

1) Aistrue Risfalse
2) Aisfalse Ristrue
3) AandR aretrue
4) AandRarefalse

29

39)

40)

41)

42)
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43) Afew drops of Methyl orange are added
to a soap solution. The colour of soap

44)

45)

solution changes to
1) Orange

2) Pink

3) Green

4) Yellow

Galvanization is a process in which

1)
2)
3)
4)

Zinc coating is given to Iron
Copper coating is given to Zinc
Zinc coating is given to Copper

Aluminum coating is given to Iron

Which of the following statement’s is
not true for Non - metals.

A)
B)
0

D)

1)
3)

Non-metals form acidic or
neutral oxides

Non-metals replace Hydrogen
from acids

Non-metals reacts with Chlorine to
form chlorides which are covalent

Non-metals react with Chlorine to
form chlorides which are

electrovalent
A only 2) B and D
B only 4) A and B

30
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46) Which of the following test tube contains a
solution of Zinc sulphate

/< 3 e N
1) N 2) P A
S NG
Colourless Red
solution solution

3)
'\‘,:’ 77777 p" £ —- ————— = o
Blue Black
solution solution

47) 1In this chemical reaction represented by
the figure The colour of the precipitate

formedis —

-~ ~ g ﬁ;z SO4 Solution
Setate) '::f? o BaCl, Solution
sy

1) Red 2) Black

3) Yellow 4) White

46) B3 NI CIRT FeYny TDIS AGee

TRRONT.

P
Do)
u%c.ia:s;a €2

g
3) M > 4)
e

ded w5n WD

47) B UIRY TAWAT
NZS03RT ggeaﬁd ey

Soubd s weRe

\
\_/

B R R

TomRchdE  3odhobg

ke )('}' / ? Badz e
1) 8o 2) 8%
3) B0 4) 00
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48)

49)

50)

The molecular formula of Gypsum salt
is
1
1) 5 HO
2) 3HO
2H20

3)
4) 2HO

CaSQ, -

CaSQ1 .
CaSQ, -
NaSQ, -

Select on alkene from the following
DG HIO
2) CH
57710
3 G HIO
4) C ” H g

Statement A : An alloy is a homogeneous
mixture of two or more metals

Statement B : An alloy is a
homogeneous mixture of a metal and
not-metal

1)
2)
3)
4

Statements A and B are correct
Statements A is correct, B is incorrect
Statements A and B are incorrect

Statement A is incorrect and B is
correct

32

48)

49)

50)

BT VRN WEDRRY

1

2 HP
31'120
2H20
2HZO

1)
2)
3)
4)

CaSQ, -

CaSQ‘ .
CaSQ, -
NaSQ, -

81 SNTINYY e

DG HIO
2) CH
57710
3) 6 HIO
4) C6 H8

BewE A 1 WO NIBRTY STH VT
TS SeeTre BHTRT SDFFITONGS.

RBewd B : 200 DIVREY Wotd AR
D) 2.0TH VERETH BHTLRT DTN

) Beos ADR B e 20

2) Bevs ARO DR B 3
3)  Bevd Ad B ried 3
4) 98 A3 DBHB RO




NTSE - SAT CHEMISTRY

Key Answers
Subject : Chemistry dmoﬁamg

vy [Nt sos (Decwdh| sos, [Mevsal| sesy [loudl| sos, [Neuss
1 4 11 1 21 3 31 3 41 3
2 1 12 2 22 4 32 2 42 2
3 2 13 3 23 1 33 4 43 4
4 3 14 2 24 2 34 2 44 1
5 1 15 1 25 1 35 1 45 2
6 3 16 4 26 4 36 3 46 1
7 2 17 2 27 3 37 4 47 4
8 4 18 3 28 2 38 3 48 3
9 3 19 4 29 4 39 2 49 2
10 4 20 1 30 1 40 1 S0 1

33




NTSE - SAT

BIOLOGY

1)

2)

3)

BIOLOGY - 23¢=ze8
=

Examine the following statements and
select the correct option.

1) Statement A : Massive amounts of
gaseous exchange takes place in the
leaves through stomata

Statement B: Exchange of gases also
occurs across the surface of stems, roots
and leaves of the plants.

1) ‘A’istrueand ‘B’is false

2) ‘A’isfalseand ‘B’istrue

3) Both‘A’and ‘B’arctrue

4) Both‘A’and ‘B’ are false

If gastric glands do not secrete HCI, the
following actin the stomach is affected.

1) Starchbreaking down into Maltose

2) Fats braking down into fatty acids and
glycerol

3) Thedigestion of proteins

4) Complex carbohydrates converting
into glucose

The following statements/s is/are
correct about life processes in
organisms

A) The breaking down of pyruvate in to
CO , water and energy takes place in
mitdchondria

B) In yeast fermentation takes place in
the presence of oxygen

C) Breaking down of pyruvate using
oxygen takes pace in the Chloroplast

D) The release of energy in aerobic
process is greater than the anaerobic

process.
1) ‘A’and ‘B’ 2) ‘Cand ‘D’
3) only‘C’ 4) ‘Aand ‘D’
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4)

)

Assertion A : The lungs always retain
some residual volume of air during
breathing cycle

Reason R : This condition provides

sufficient time for oxygen absorption

and release of CO,

1) ‘A’ istrueand ‘R’is false

2) ‘A’isfalseand ‘R’istrue

3) Both ‘A’ and ‘R’ are true - but ‘R’
doesn’texplain ‘A’

4) Both ‘A’ and ‘R’ are true and ‘R’
explains ‘A’

Acidic food from the stomach is made
alkaline with the help of this

1) Pancreaticjuice 3) Intestinal juice

2) Bilejuice 4) Saliva

Assertion A : The rate of breathing in
aquatic organisms is much faster than
terrestrial organisms

Reason ( R ) : The amount of dissolved
oxygen is fairly high in water, compared to
the amount of oxygen in air

1. ‘A’istrueand ‘R’isfalse

2. ‘A’isfalseand ‘R’istrue

3. Both ‘A’ and ‘R’ are true and ‘R’
explains‘A’

4. Both ‘A’ and ‘R’ are true but ‘R’ does not
explain ‘A’
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7) Choose the incorrect statement about

8)

9)

transportation in animals

1) Double circulation of blood is found
infishes

2) Reptiles have three chambered heart

3) Amphibians and reptiles can tolerate
mixing of some amount of oxygenated
and deoxygenated blood .

4) Separation of the right and left side of
the heart allows high supply of oxygen
to the body.

Carbon monoxide poisoning is due to
the formation of

1) Carbamino haemoglobin
2) Methane
3) Carbonicacid

4) Carboxy haemoglobin

Examine the following statement and
select the correct option.

1) Statement A : When the moisture
escapes through guard cells, they shrink
and stomatal pores open

Statement B : Stomatal pore closes if the
guard cells swell

1) Both‘A’and ‘B’aretrue
2) Both‘A’and ‘ B’ are false
3) ‘A’istrue ‘B’is false
4) ‘A’isfalse ‘B’is true
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10)

11)

12)

The following statement/s is/are
correct about the circulation of blood

A) Blood pressure is caused by the
constriction of veins.

B) High blood pressure is caused by the
constriction of veins

C) One cell thick vessels are called
capillaries

D) Arteries need to have thick elastic
walls since the blood emerges from

the heart under high pressure .
1) Aand B 2) B,CandD
3) A,Cand D 4) Only D

Raghu was absent in the class because
of muscle pain which he claims to be due
to excess physical exercise he had done
the previous day This pain is due to the

1. formation ofpyruvic acid
2. formation oflactic acid

3. formation of acetic acid
4

. formation of nitric acid

When carrying out the starch test on a
leaf it is important to boil the leaf in
alcohol to

1) dissolvethe waxy cuticle.

2) make the cells more permeable to

iodine solution.
3)
4)

remove the chlorophyll.
Stop chemical reactions in the cells.
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10) T3 ToBoR OB B IWNT Rewd/nisd

11)

12)

BO3wN /3

A) OPTRINYNOZ  WIFRINSY T3
%33 dzs%hdagd

B) ©2TH0AINY TORNNBIN0D ©wHT
TBRRIRB YV,

C) 20w BeIBRBTR), TH PO,
BREFTOPNLOTH FBOINTT.

D) 083 T[ROROOT WY WIBOOT
&rao’&rawwe@dt)od T BOINGD

a’a;ana‘, 28X TE w%oa’oa’%
BRODTLIED.

D Ams_opB 2) B,C,ma_)DD

3) A, c,msg D 4) D 328,

HONT OF TRRT IO :sdaos s:sdgaozs
SVOERT mdoS:a RRCNT FTRROT 3R
SFb s TomTeNRNoT: BewhImen. B
[0 FTeesieton,

ﬁdd)é)?‘ ST eroagdé

méga‘ BT emagdé

VAT ST emagda?

JT BT WTTI

-

A WO

WOTH ado&:m‘i LTB wacgﬁ weTRAmen
ae?os’oa’od ed@acmoa’g CAIARREV I
TS0 0TMHIW NFOTT

1) Res BT ﬁradodomo{ FONZED.

2) 2O3RCRTT T BewteeSneR TRe3
TIOBEX.

3) BRBREPORY, rtodden.

4) ReBEReBNTY  ToRRCAT  FOINRTIY
_OAN.
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13) The enzyme secreted by the pancreas 13) sherdpeziedy ZRX §5y
1) Trypsin 2) Pepsin ) o 2) Bz
3) Bilejuice 4) Pepsinogen 3) &30 4) BaZeexs’
14) Pancreatic juice contains enzymes 14) FeTweenery UXRY B FEAV
which digest the following nutrient i‘:cwg°§"¢m¢ BerdrROT NI
ol
1) Proteins, fats and carbohydrates o
) ) TReBITNYY SJoewxmd =30
2) Proteins and carbohydrates only ) ;zﬁ).ra ei—‘%@ s e M -
3) Proteins and fats only 2) BREIND WD) ToRPFBBEFR
4) Fats and carbohydrates only BRE,
3) Barsere 8 Sedr) S13
4) BB W) TSR BBFTID =0T,
15) Identify the correct statements about 15) PFPBHER BOZT NORBRT  VeLINTI,

transpiration.
A) Transpiration in plants helps in
temperature regulation in them

B) Transpiration increases with the
increase in velocity of wind

C) Rate of transpiration increases with
the increases in atmospheric pressure

D) The amount of transpiration from
lenticels is less than the stomatal
transpiration

1) ‘A’ and ‘C’ only
2) ‘B’and ‘C’only
3) ‘C’and ‘D’only
4) ‘A’and ‘B’only

Hohez.

A) mém%@, mﬁw DRBWFIOD  LPYINIY
em%éojom& D3NRCLS JBEN ITOOD
mmgd.

B) oo Bens BPIBerS woR ORRFS
BT

C) 20TORTHRT  WBB BWPWOZ  WOF
DRWES BUWPOIT.

D) ZIDOTRYOTONDE  F  IXBFINOS
OB TOPOOTRMIE T QRWF T
BRI FRFDCIRNTIE.

1) ‘A’ B3 ‘C a0
2) ‘B’ &3 ‘C'=w3
3) ‘C @I D'RRS
4) ‘A R ‘B’ IN,
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16) The fluid part of human seminal plasma
is produced by

A) Prostate gland
B) seminal vesicles
C) Bulbo - urethral glands
D) Urethra
1) ‘A’and ‘B’
2) ‘B’ and ‘D’
3) Only‘C’
4) ‘A’and ‘D’
17) Match column I with column II and
identify the correct answer
column I column II
A) Gestation i) Delivery of baby
from uterus

B) Ovulation i1) Formation of zygote
by the fusion of the

egg and sperm

C) Parturition iii) Release of eggs from
Graafian follicle
D) Conception iv) Duration between
pregnancy and birth
v) Miscarriage
1) A-ii, B-iv, C-i, D-iii
2) A-iii, B-i, C-v, D-ii
3) A-iv, B-iii, C-ii, D-i
4) A-iv, B-iii, C-i, D-ii
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16) TNTT DecHFR TR PonD) ARNYOT ¥
s3I

A)
B)
0
D)

Bpedess ROY
DeODF BedF
wdpe 0TI ROY
TRT, DRBF DO oY
) A 3B

2) ‘B &F ‘D’

3) ‘C’ Iwg,

4) ‘A’ P D’

17) By - 1 sb3 3g 11 &, Beods, FOGRT

LZTIR, HTH 3.
Y -1 g - 11
A) nmrwﬂm 1) NPFEee3dod ST
WIS
B) wodee3d i) ©0B P NeodFT
ANOT QOB YLOoERT
ooz
C) Tz iil) TRGONTT BRe3HOT
©OBNY VWNGA
D) ngegoss iv) Rgge P, BIIB
VNI A)
V) REFmed
1) A-ii, B-iv, C-i, D-iii
2) A-iii, B-i, C-v, D-ii
3) A-iv, B-iii, C-ii, D-i
4) A-iv, B-iii, C-i, D-ii
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18) The following statement/s is/are 18) HRTTCQ AoTecFd [FE BOT 83 NS
correct about reproductive system in Bewd/nish BoceN:3/B

human beings

A) ©O0BRII Q0w TFOHOWOT  EOFT

A) Oogensis is the process by which the 038 3.
formation of sperm takeplace B) DChFHEs S0RET Soend

B) Spermatogenesis  occurs in the @

. Upleliolavicia
seminiferous tubules -

C) Follicle - Stimulation Harmone C) 3pe38 wodesd  Boxpred (FSH)
(FSH) indirectly stimulates TARETTON  IEODF LWIVZ,
Spermatogenesis e0Ze2d RT3,

D) The urethra forms a common passage D) 30g HRWFD PP DeCIDFED WH
for both the sperms and urine. RRIIFORER, TR, TN NG,

1) ‘A’and ‘B’are correct ) ‘A B3 ‘B’ROcRNS

2) B,Cand ‘D’are Correct 2) ‘B’C <585 ‘D’ 300353

3) ‘C’and ‘D’are correct 3) C’ “D’ 200373

4) Only ‘C’is Correct 5 “C’ S8 BOCIPAT

19) Fertilization of ovum occurs in 19) ©oBT POLITER) BOPIWRT VY
1) Uterus 2) Cervix 1) ngrdees 2) RPFB8RE3T OB
3) Fallopiantube 4) Ovary 3) PSRCLONT® ¢  4) WOWSOD

20) Assertion (A) : Testes are located 20) 3TN (A) : Oonecadnieh sLpych B0

outside the
scrotum.
Reason (R) : Sperm formation requires
a higher temperature than the body
temperature.

abdominal cavity in

Select the correct option from the given
alternatives

1) ‘A’isfalseand ‘R’istrue

2) ‘A’ istrueand ‘R’isfalse
3) Both‘A’and ‘R’aretrue
4) Both‘A’and ‘R’are false
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SFeoseoneYTHIN.

BRPEI(B) : deadwrnd  LWITIIA,
B emaginos é&%a:d m%@oﬁ wwssaioaad.

PR DeRTT ToIeroRndy BOSRT
e:eoi%osaabaesaza

) ‘A 3I R’AO

2) ‘A o @3 R’ 3D
3) ‘A’ @3 R’ 20@e 70
4) ‘A’ IR’ o0@e 3T
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21)

22)

Remarkable reduction in blood
pressure affects normal functioning of
the kidney as follows.

1) Reduces Secretion of nitrogenous
wastes

2) Reduces renal filtration

3) Reduces reabsorption of useful
materials

4) Reduces tubular secretion

Read the following statements and
select the correct option

If the egg is fertilized

a) thereis no menstrual discharge
b) thelevel of progesterone decreases

c) progesterone prevents maturation of
another follicle

d) emptied follicle in the ovary turns
into a harmone producing tissue

1) ‘A’and ‘C’Only
2) B,and ‘D’Only
3) A,Band‘C’Only
4) A,Cand ‘D’only

21)

22)

sgmgcszseg NI Qe BRI, JOTWAY
TRRNN, TIONFNY eeS B Oed JOMmITH
wc&gz%.

1) =ostuIB WEE FOROBODI),
ROBIRRHVRBI

2) FwI Q0B é\.raezﬁr&odaafo‘,l
20BIRRVRITI.

3) GBI FRNY TDTOT eTHABOD,
$0oDIRRORIT.

4) TNy ROBoh, DOBSRRVIS.

B SN ée%neéabd N0 Y BOSRT
eso&%o&mel 302

o FOSTNTO
a) SIS DRRFS ADHOY
b) Bpifoor's ey IRFCIPOIT.

¢) TRROWD BeBT IOV, ARHIT
SIS,

d) ©0oEIDTOR CoO0IRT Bee3IY
TORPEED emgg TR LHOTRO3 0N
wderorbgd.

D A DD C R

2) ‘B @3 ‘D’ 3wy
3) ‘A,B’ B ‘D’'Sn3
4) ‘AC DD ‘D’'Iwg
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23) The following investigation was carried 23) wozle Jlegnw et BRNRY Thed U9T

out using flower buds growing on three
plats of the same species

Plant x — The anthers were carefully
removed and buds left open to the air

Plant y — The anthers were not removed

and a paper bag was tied tightly around
each bud.

Plant x — The anthers were carefully

removed and a paper bag was tied tightly
around each bud.

Although all flowers bloomed normally

only those on plant ‘ x ’produced seeds.

This result shows that in this species

The following kind of pollination/s will

have take place

1) Only by insect ~ 2) Only cross

pollination

4) Either insect,

cross or wind

3) Only wind

Although all flowers bloomed normally
only those onplant ‘ x ’produced seeds.

This result shows that in this species

The following kind of pollination/s will
have taken place

1) Only by insect 2) Only cross
pollination
3) Only wind 4) Either insect,

cross or wind
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BHRIT mmnmaql WP2BROW B3 FUNS
TOBeePs ISBBCOW.

:s:sé X — BpeoSwoNn woana@eswmd
3N, MevnR drarﬂ;‘ m#abol 38BN,

A X — TooNBREBNFDY, SRONT , Hewo?
WA, TS BeNS  DIww N3N
BLITOONB.

AR, Z — Joorndeeds, 3w Bemio®
NS, TE [eNS IR VN3N
FEICOOWD.

PR BRPND  RBROT0Z  WTPTTe
3B, P, X DOHT BRJINH [
VBRI, WWISBRATR). 38 Jer 9N
2R}0 WoeXBr IEDTLeBowD B FOBOB
30e0RTT.

1) dewd =g 2) =odead 3503,

3) TP =50 4) &3, JVTFEOD
TP MY
(Ford ).

AR, Z — Toerideedny, Incd Bexo®
AR, TE [eNS RIUR VN3N
FITOONB.

DY BRPYND  BRI[08  WTLTTR
BRB, R, X DeOHT BRJNL B
VBRI, LWISBRARTR). 33 TR 9N
2o ToeIBF IBRTLSeBowD B3 FOB0OB
B3ReORTT.

1) 3ew =[S, 2) T[TEeOD [0S,
3) MY I 4) 3ee3, JTFEOD
Clovolianls
( RRDTL WR).
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24) In which part of the given figure does 24) 33 E9R VDT w¥IW CIRT PRTY DecIRreDd
the fertilization of an ovum by a sperm DROR LOTLODR TOFTLD VORI
take place? =
P
p et -
gl e - AN e A
AN e 2 Lo\ 7S
TN QRA\\\/
Q Ri\w // 14
AL \ ‘_' S
48 /
(
b\ o
) P @AQ BGOR @ S
1) P 2)Q BG)R @ S
25) Homologous organs have 25) HTHRY wONnsH
] 1) 208 Ded0H TWD, woTde Dedod
1) same structure, same function FODERAODI.
2) different structure, different function 2) QADP TBY, VP FONF TBRODR
. . 3) woTe e300 TWI, AP TODE
3) same structure, different function 2003
4) differentstructure, same function 4) QNP BRBI , 2.0Te 0e30H TODF
BHOV.
26) Speciation takeplace when variation 26) 3 &R eRDHT  PIFB0H AYFWendeonn

occurs with

A) mutation.

B) death ofan organism.

C) geographical isolation.

D) ifthe DNA changes are severe.
of these

‘A’and ‘C’ are correct

‘B’and ‘D’ are correct

‘A’and ‘B’ are correct

‘C’and ‘D’ are correct

1)
2)
3)
4
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TePTTED LVOMHTT.

A)
B)
O
D)

A

BeN03R0TT PR
gerieeds I esedsen

DNA 2Boess 8eBmont s
ARNBY

1) ‘AR ‘C’ O3NS

2) ‘B’=03) D’ 300N

3) ‘AP ‘B’ BOO30NES

4) ‘CRF, ‘D’ Z003NS
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27) During grafting the portion of the plant 27) By [NRW BoRPFRY, BE, Tn INRD
thatis grafted is called NS, Soeriowd FBCIOT
1) stock 1) @
2) scion 2) B
3) stalk 3) 3o
4) stem 4) w03
28) Links between organisms that show | 28) 200 QTET DFFREOD  BOWOFNERY,
branching pattern of evolutionary BROMWT WedNY IWAT BRoRNYR, Bt
relationship are shown by these THoeRn JIRdFDIR,.
evidences
1) Living fossils 1) 236303 JSOINPEIND
-
2) Comparative embryology 2) DO Geemy
-2
3) Phylogenetic trees 3) FPeedds Soonsd
4) Fossil layers 4) THodPS THORD
29) Speciation is the evolutionary process 29) F[p3epsCresiowetd NERIeCH  TIoHa3RNT

by which

1
2)

anew gene pool is formed.

evolutionary paths of species
converge.

3)
4

hybrid species are formed.
differences in physical traits are seen.
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Eolatelelal
) TRI[HODD R0Jwe& MO
BRAZTMIT.

TRiePng DIFICOD TR 2w0wB
SNV IAR

3) TR@ JPegnsd SRTRRNISZ.
4) %P8 NNy JTOANW TS,
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30) Four seedlings of equal size and height 30) A=RS M3 HI 2IOT Ty, ¢ IRV,
are taken and given the following snchdsom oPnen & WIS wgjEedhs,
treatment respectively. SRFDHTRN DTN,
. . B A — ORI, 3000y, D
PlantA —» Tip not removed nothing e 68&%62% % oFRe,
is applied. ‘"’
A% B — 300, Stobeecn
Plant B —  Tip removed nothing is D3[R, Searsdy.
applied. 3, C —>  Hoobs, SHobeoens,
. . 5208 DROD e Beoords”
Plant C — Tip removed, gelatin B, BORTD,
block was placed on cut 2
edge. D —>  Booh, dobeeondd,
i ) HITFIROONT Reoed
PlantD —>  Tip removed, gelatin OB, FZORT BOOD
block with auxin was BeS YBESOND.
placed on cut edge.
What would be the correct order of 3 3PN BITdRod T[OT BOSRE TR
growth rate of these plants? DTATHZR?
1) D>A>C>B 1) D>A>C>B
2)D>C>A>B 2)D>C>A>B
3)A>C>B >D 3)A>C>B sD
4) A>D>B>C 4) A>D >B>C
31) The membranes covering both brain 31) T@ed DI LY WYOLEY, GHOALT

and spinal cord is called

1) Convolutions
2) Diencephalon
3) Meninges
4) Cranium

45

RADENTY, “Boeriomd %803»5&

) 3BJORTT,

2) d AT BPOOT®
3) ﬁDQO&‘w

4) 3BSOTOB
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32)

33)

34)

35)

The carbohydrates which are not used
immediately are stored in our body in
the form of

1) Glycogen

2) Starch

3) Glucose

4) Sugar

Transpiration does not help in

1)

2)
3)

temperature regulation of the plant
body.

absorption of water and minerals.

upward movement of water and
minerals.

translocation of food, both in upward
and downward directions.

4

The breakdown of glucose in to
pyruvate takeplace in

1) Mitochondria

2) Cytoplasm

3) Nucleus

4) Chloroplast

Reflex arcs in human nervous system
are formed in

1) Cerebrum
2) Cerebellum
3) Cranium

4) Spinal cord

46

32)

33)

34)

35)

g roxle YIRS WRere Brdetnicd
83, BeRTY 33 TATIY TonmRrigss.

) B8R
2) &
3) mdeex

4) =8B

WP ARREN TS, ITTOBRNY.
) REBeRT wFBoDT, AODOERZY.
2) QD DZY DIRNTI, &eOERNTY.

3) Qe B DIRNY Woeen
ROMOEE0DNY.

[Shnietn d)ecnea) 53339 FYZND
mmsééozbg.

4)

Mygeen HThets® e FOBIFERIRT 3¢

) REEeezoor0d

2) Rdeespro
3) JIRgod
4) BRCCRETRA,

DT, FORRTBEQYT ToITHIFE WX
LOOERMH Y

1) Ropx=*

2) RORYRT
3) 3BTd
4) Db W
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36)

37)

38.

39.

Aplant harmone which inhibit growth

1) Auxin

2) Abscisic acid
3) Gibberllin
4) Cytokinin

The mineral required for the secretion
of thyroxin harmone.

1) Iodine

2) Iron

3) Calcium

4) Sodium

The process by which pyruvate is
converted into ethanol and CO, in
yeast

1) Carboxylation
2) Hydrogenation
3) Fermentation
4) Aerobic respiration

After being pricked by a thorn, a child
withdraws its leg immediately. The
Centre of this action

1) Cerebrum
2) Spinal cord
3) Cerebellum
4) Hypothalamus
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36)

37)

38.

39.

asesdséﬁoﬁdoel B03RAYDT O zsﬁ
TN

) o3

2) ST ER
3) nLodw

4) R d

zﬁdmga‘ RogexHn @assadoas &%

1) edeelds”
2) %a:&))sa
3) %aéeﬁo:bo
~
4) RReRODO

aa’ddodcw, QPTIO® DY) TWF® zsd e%w
&2 oeRRO TORBrS WIS Jgod

1) woleers SeRT®
2) BERRIeRT

3) FoFoedems”

4) F[OOINVRT YVLATOE3

SrdIpomd meéo zsmd 3#2@ aaoab &;od%
ae.?ab&raq#osﬁ éa aoiao:b Scod

1) RDTOTIF
2) DD WY
3) oA

4) ééaﬂraezsmmx‘
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40. A gland having endocrine as well as 40. dWEY THI WENROH FODFTRY, VRODTT
exocrine function 2.0 ROY
. 1) 280830
1) Pituit °
) ary 2) goechw®
2) Thyroid 3) waRe
3) Adrenal 4) Hoedpe3cs
4) Pancreas
41. Name of plastids found in Beetroot. 41. ReEFTRETIY Tow WTHT TPAW'S BRDH
1) Leucoplasts ) ondeemRAy
2) Carotenoids 2) BRSBTS, |
3) Anthocyanin 3)  BOBRERCIIT
4) Chloroplasts 4) BRESRETR,
42) Match column - I with column - IT and 42) e - 11H Ted - 1 &, Beod2 Tone
identify the correct answer BOC3RE GVZTHRY, MHThx
I 18 I 11
. . A) BARLATOT i) TIRY otny o3
A) Testosterone i) Concentration of salts « -
in the blood B) &D@Jﬁ"rc:mc_\ss 11) 25935 sRIAND) 253@(95
B) Progesterone ii) Physical and mental Bzedn
development C) mwrFdee®  iil) NOBIT ©Fransd
C) Cortisone iii) Masculine characters D) ‘5503?{,59 iv) REFER3EO
D) Thyroxin iv) Uterine changes VBB
v) Secretion of milk V) o903 3N
D) Awv, B-m,  C-wv, D-il 1) A, B-iii, C-iv, D-ii
2) A-v, B-v, C-il, D-ii 2) A-iv, B-v, C-ii, D-iii
3) A-it, B-iv, - Col, - D-it 3) A-iii, B-iv, C-i, D-ii
4) A-i, B-i,  C-v, D-iil 4) A-ii, B-i, C-v, D-iii
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43) Read the following statements and 43) B3 IINT BewIndE N0 DI KOWRT
select the correct option od,osy, 0%
. TePF A : TOTOPT TOBNYE Tea) =0
Stat tA: A help t t > % g’
e OB O preven SURY B, DL B8
ruit and leaf drop at early stages S0 BT,
Statement. B:.Abscisic acid promotes Bewd B : memondEa) S@AT
seed germination 03RRI
1) ‘A’ istrueand ‘B’is false ) ‘A RoDR B’ 3D
2) ‘A’ isfalseand ‘B’istrue 2) ‘A 3D R B’RO
3) Both‘A’and ‘B’are false 3) ‘A’ DR B’ 208 3
4) Both‘A’‘B’aretrue 4) ‘A’ R ‘B’ 20@R X0
44) The passage or duct that leads from 44) LOWFOINOW NYWFINCTE, TOIFF
ovary to the uterus BQREmY
1) Ejaculatory duct D Foss ¢
2) Spermduct D) Deodrmed
3 SReod ¢
3) Fallopiantubes ) FRERthodT I
4) ROMOBT %
4) Collective duct ) Ao
45) The fluid that protects the developing 45) VScIOITLHT PRFITRY, BOTY DR TS
embryo
1) Amnioticfluid D emolense g
2 Vi b 2) ToWICR oD
) Vitreous humour 3) TR D
3) Aqueous humour 4) 0BT 5B
4) Endolymph fluid
46) During photosynthesis the main function 46) w3 BoFeIr8 BHobTRY TVISoTW T

of stomatais tolet

1) CO2into the leaf from atmosphere.
2)
3)
4)

Out CO2 from the leaf to atmosphere.
O2in to the leaf from atmosphere.

Out O2 from released from the leaf to
atmosphere.

49

oles stanidalelatel

1) ezeRTER0TCO2D, HBOB
WHBREMTOZ BIOTIF.

2S00z CO2 5301 m@wdwéﬁ
DRT)T.

2oI0RTROT 02 334 Q031
BT,

Rowom 02 3)4 m@ddt@%&
RDBTY)T.

2)
3)

4)
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47) Given below is a schematic diagram
showing experiment on pea plants having
axial flowers with round seeds (AARR) and
terminal flowers with wrinkle seeds(aarr)
The phenotype of F1 progeny

Axial round Terminal wrinkled

AaRr \A \/\

aRr AaRr  AaRr

1) Terminal, round
2)
3)
4)

Terminal, wrinkled
Axial round
Axial wrinkled

48) According to the extent of threat to a
species and its population in natural
habits, four categories have been identified
which are given below
A) Extinctinwild
B) Critically endangered species
C) Vulnerable species
D) Endangered species
select the order of these species according to
their conservation priority
1) B>D>A>C
2) A>B>D>C
3) C>A>B>D
4) A>D>C>B

50

47) ToomT WEWNTTY, BRODTOT  F e
TR Tone BoINLUT  DERNST,
RRORTHT BVFIST BRNYR, BRODTLS
wERed BENY et Surm Jodeens deam

¥R, Ne@ReNB. vEoy  F1 moz3ackh
&MQ&%&U‘
33 eod WO BRFROT MWBNRT
AR ar ar
\ =, :
AaRr / \
AaRr AaRr  AaRr
) WNEIF, DO
2) WNFIT, DR

3)
4)

B3e0d DO
geod UK

48) mdzpaas STRITY W TRy DI, ©XT

oA YOOR TRoHT ab%w IT 33 R
AeRTHTo3 oD, 71:0&&:71%:&'&:»0l HSHSTSRNT.

A)
B)

FRTY PRI

ROPETTON BPOTOBTYTT 23eANT
C) FoaRedwy Beansd

D) ©90I0BIQWRT BednsH

8 Jderdne Foogme $BIH Iz
BB/, ©oR

1) B>D>A>C
2) A>B>D>C
3) C>A>B>D
4) A>D>C>B




NTSE - SAT

49)

50)

Variation combined with geographical
isolation may resultin

1) mutation
2) speciation
3) fossilization

4) geneticdrift

‘Ganga Action plan’ has been initiated to

A) increase fishery in the Ganges.

B) clean excessive pollutants in Ganges
water.

C) make theriver better for water transport.
D) control agricultural run off.
ofthese

1) Aand ‘C’are Correct
2) Band ‘D’are Correct

3) Aand ‘B’are Correct
4) ‘C’and ‘D’are Correct
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BIOLOGY
49) zpaida"o:b BR3INAR PReeYT ga"ﬁcésd:e
DOTN YLOERMHT)TD
) 282

2) TedepesTed
3) FoRDeTT0
4) 23w BT,

50) riorw gc3% cdReERodbRy, Boopaziedond

A) ROMRIDONY WeMOOFONY B
B) Romesd 2e0s DBoed BpITF@WR),
R TRBEED.

C) momONRR none SO,
PUTTOTRRED.

D) 3 ax0%y) 3rodex.
dRNSY

) ‘AP C’ 303N

2) ‘B’ ‘D’ 003N

3) ‘A®F, ‘B’ 3003013

4) ‘C’ R D’ O
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@B, RO

10

5, ev3onsd | TB, o, ev3ornsd

3 11 2
3 12 3
4 13 1
4 14 1
2 15 4
1 16 1
1 17 4
4 18 2
2 19 3
3 20 2

Key Answers
Subject : Biology

BB, Ross, evdTned | T3, R0, wvdon TB, Road, evITNED
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1) Identify the British Business settlements
in the given map

od Cu

a'

1) a. Pandicherry, b.Vishankapattanam,
c. Dhaka, d. Surath

2) a. Madras, b. Machalipattanam,
c. Kalkatha, d. Ahamadbad

3) a. Madras, b. Vishakapattanam
c. Kalkatha, d. Ahamadbad

4) a. Madras, b. Vishakapattanam
c. Patna, d.Agra

2) The Aim behind giving “Dastak” from
Faruk Shiyar to East India Company is

1) Obtained license to carry trade without
Actroi tax

2) License to carry trade without any duty.

3) Permission to establish factories at
Inland

4) Permission to mint the money by
company

3) Arrange the following events inchrono-

logical order.

a) East India company was established in
Natherlands

b) The British established their first
warehouse in Madras.

c¢) Sirthomas Roe visited the court of he
moghul emperor

d) East India Company was established in

England
1) d, a, ¢, b
2)d, b, c, a
3) d, a, b, ¢
4) d, c, b, a

1) 32038 oY JeRIBI  WWIT TR
deomneRy, M3ra

od Cu

a.

1) «.
8. IRTS

2) Q. DWF, 0. wBITY, A. FOI,
B. OBTLTOT

3) @ WTVE, V. DTLDTED, A. TYT,
B BTV

4) .
. =M

TDO&BECD, . @m@)&i@g@, 2. TFoBo.

0

DTVET, . DTVDTYED, A. TV,
P £}

2) ToCRFT BCIRTT WIOR “TBWIF” eRT

QT3
1) €508 YT TTRT IEIL TOTIEN
2)

3) wYTRTY  TREINTT),  AATW
T[N

4) BEOTOA, BNOFLD TTIOIN

ROFRYT mémd SBRED TToIN

3) NS FRINIR, UIRTHTY wecRr.

D) T, VORCI® IOTICHT, ITRFORIY
ARYRATICNS

Q) QONCRT TR, B[RTO ITRILCDONI),
TRATY AYLATE

) BT B¥IReFOD  CRTY AT

TOTTTRC 23083

Q) BT, QORAWP TOTIODZ, VRORSY
m@&ﬁmo&aa

D& »n oaw Y

2) &, , A, ®

3) &, VR 2, R

Ha AW D
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4) In the Indian map identify the place that

S)

6)

was French colony.

e3

*N

1) Calicut

2) Goa

3) Golkonda
4) Pandicherry

Choose the correct pair

1) Lord Dolhousic : Dual Government
2) Robert clive
3) Lord Wellesely : Subsidiary Alliance

4) Lord Cornwallis : Mahalwari system

: Doctrine of lapse

Match the Regions and their leaders
during 1857 revolt

A B
a) Rani Laxmibai 1) Delhi
b) Nanasaheb i1) Luknow
¢) Mangalpandy 1i1) Jansi
d) Bahaddur Shah II 1v) Kanpur

v) Barackpur

1) a-ii  b-iv c-1 d-v
2) a-iii  b-iv c-v  d-i
3) a-ii b-ii c-v  d-I
4) a-ii b-iii  c-iv  d-i
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4. yTITT a’%o::c:)ﬁ nITdTCRT  F,0WT
STTHTNG %%3335301 .

e3

LA\

1) 3Q30ced
2) "Rew

3) rﬁfaeeir%ocs
4) TooRBECO

5) ROGIRT WneEECHR, WOk, IRA

: B3y IR BdY

. RTRORT AR, TGS
3

1) SO F TR TR
2) CoweFrg &
3) SEFFREY

8

4) ST ETITEIT TR0 T 3,

6) 18570 Torcdh HOTYT TWOINRW Tene

RN mo&a%cﬁom‘!m‘)l BRODY

XN w
a) OOEd ©F €20 1) 3D
b) SoTe mTew 2) 08¢
C) SONOTROT 3) Ty,
d) 28¢ LFTRT T 4) T

5) e, T

1) a-iii b-iv c-1 d-v
2) a-iii b-iv c-v  d-i
3) a-iii b-ii  c-v  d-i
4) a-ii  b-iii  c-iv  d-i
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7) The provinces merged to the Britis 7) Ty WIIR Ty 3000w WECRT
Empire by the Policy of Doctrine of ‘wmsd@ QO TN
Lapse are a) RZ3
a) Satara b) seets
b) Mysore
¢) Udayapura ©) QHBTT
d) Hyderabad d) Z oo
e) Jaipur e) T3
f) Nagapur f) <onzs
Doa ¢ d f 1) a, ¢, d, f
2) a, b, ¢, d 2 a b ¢ d
3) b, d, e f 3 b, d e f
4)a, ¢ e f 4) a, ¢ e f
8) Assertion (A) The treaty of Lahore 8) T3TwR (A) CITRETT LT OTR)
conclude between Ranjith Singh and the SEOIToLOM® HI ST VORI Z0TACH
. . ) )
EastIndia company in 1809 Setos? 180958 evotmonds
(R)Ranjith Singh protected his territory (R) Srowsafronisd 3%, WIBWSI, S,
with the help of the East India SoRcIm oTRcH HIDRCT RANYE:
company
_ ROTS AT
1) BothAadetmeandesthe correct ) A3 R 20@e 50 3 R, A 3
explanation of A *aomJaj oo >
~ ~AOER .
2) BothAanthrqebutRlsnot ) A 3 R 20@s 50 ¢33 R, A 3
correct explanation of A . omJaj ot
20 NWTH )
3) Aistrue but R is false 3) Ao R3m
4) Ris true but A is false 4) R %0 A 3
9) “All the Native of Hindustan are 9) "%OBAIMBTBOTT T303RY TR VITACHR
completely corrupt” is quoted by BH' Q0w FSTRATT

1) Lord William Bentinck
2) Lord Cornwallis

3) Warren Hastings

4) Lord Dolhousie

1) SEradodho 23030
2) RTE T DR
3) SPTT TERON,

4) SOTE TOTTTOR
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10) Arrange the following incidents in 10) ESNT TINVAYT, FOCORTZHTY ek
chronological order a) en, dawr
a) August offer by Tom o
b) Poona Pact *
-
¢) 3rd Round table conference ©) WpTHe Do ey AL
d) Non-co-operation movement d) ©RTET WDBY
) d b, ¢ a ) d b, ¢ a
2) d, b, a, ¢ 2) d, b, a ¢
3) b, d, c, a 3) b, d ¢ a
4 b, d a ¢ 4 b, d a ¢
11) The Act which separated provincial 11) Feonm wEEFIOTW TEINT  WEWIY,
budget from central budget 28T RATOT
1) Indian Government Act of 1935 1) 19350 t»08 25700 503,
2\ Reulating Actof 1773 2) 177330 zﬁrbéefeworv‘ T0%)
)Regulating Acto 3) 19195 gROsccD TomT O
3) Indian Councils Act 1919 4) 19093 zBseoD TORT 50K
4) Indian Councils Act 1909
12) Arrange the following rebellions in 12)  3¢NT OEOBNTER, PORRFHTEY ek
chronological order
a) BTZT 200D
a) Surapura rebellion
b) Kittur rebellion b) d39%h womeod
¢) Isur rebellion C) BTRTD 20TIOD
d) Dondia wagh rebellion d) GreoBos® TTI WOTOD
lI)a, Db, c, d
I)a, b, c, d
Ad. boac 2d, b, a o
b, 4 a o 3)b, d, a ¢
4Hd, a b c Hd, a b
13) The objective of appointing peel 13)  "%ed®” BoIodH VesHIT ¢vTied

committee is

1) To redesigned the military system
2) To redesigned the police system

3) To frame the rules for land reforms

4) To Appoint civil servants
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1) 328 BJZ0H WD DT

2) BpedT FIZOD BB IR

3) R RTOTBOH JODTNTE, TRLTELD
4) REWFO TWDJNY Jea0FOSMON
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14) Assertion (A) British occupied the

15)

16)

French colony mahe is 1779 was the
reason for the 2nd Anglo Mysore war

(R) In this war British defeated Tippu
and responsible for his death

1) Both A and R true and R is the correct
explanation of A

2) Both A and R true but A is not correct
explanation of R

3) AiscorrectbutR s false
4) AisfalsebutRistrue

Recognise the correct pairs from the
following

a) Atmiya Sabha
Roy

: Raja Ram Mohan

b)
b)

c) Sathyartha prakasha
Saraswathi

Dravida Kalagam : Periyar
Vaikam movement: Anibesent

: Dayananda

d) Young Bengal Movement: M.G.

Ranade
1) a,b, c,donly
2) a, b, d, only
3) b,c,d, only
4) a,c,d, e, only

Which group did not show their
supportto 1857 Revolt

1) Majority of middle class people
2) Majority of Artisans

3) Majority of farmers

4) Majority of poor people

57

14)

15)

16)

TETTEE (A) 177989 RWIS Iows®
SHTL TRTODT, BFW2ER0W TWE
sonRe &émm o&od@% FOTEOTOTT

(R) 33 ongpdeg REIT &sas%wmel Bredy
TR TN TOTLOTITT

1) A% R a0@e 30 mre R, A K
TOOINT DETHSPAS

2) A 3y R riss 70«33 R & A
o HOoIRT  HTTCHODY

3) A o %00RNT T3S R 33
4) A 3z w33 R %0

8 FYARYNYY =TO0INT zs".rae@mfa’:el
ey

a) S0 TLID : TOLIDTORT BRCT” ToOIF
b) TROT IO : BOCVT
C) 3,80 BTNAT : VA0’
d) 5@53&-‘@@5 : DOSRIOT Sd@%
€) O30T LOTRY TT : 0.23. TOIT
1) a,b,c,d =33

2) a, b, d, =%3

3) b,c,d, SR

4) a,c,d, e, =0T

18570 TonRR 33 IYNT O30T Ine Woww
am@g

1) x03es mqﬁéab TJNETIID
2) WIBCT BDIOTNEN

3) w3e3 8@5363

4) WI3CT WBINE TR0,
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17)

18)

19)

Assertion (A) the King Portugal sold
Mumbai to the England's prince
Charles I1in 1666

1) Both A and R true and R is correct

explanation of A

2) Both A and R true but A is not correct

explanation of R
3) AistruebutR isfalse

4) AisfalsebutRis correct

"Leader without newspaper is like a bird
without wings" statement given by

1) Mahatma Gandhiji
2) Jawaharlal Nehru
3) Dr. B.R.Ambedkar
4) Balagangadhar tilak

Match the following incidents with the

suitable years
A
a) Indian National

B
a) 1942 CE
congress

b) 1930 CE
¢) 1885 CE

d) 1905 CE
e) 1906 CE

d-c
d-e
d-e
d-d

b) Partition of Bengal
¢) Quit India Movement
d) Muslim league

1) a-d,
2) a-c,
3) a-c,
4) a-a,

b-a,
b-d,
b-a,
b-b,

c-b,
c-a,
c-b,

c-C,

58

17)

18)

19)

TSTTR (A) VRQRWFNCTT Tk
BROLVOW OB, BORCTT ATTEIC R
$3 16663 S500T

(R) 2C@Rcd e dptdrne’ Sowmsnd
ﬁszsaa@m& QToTWoN zmowacx)oosmoe1
WLHTOTN B

) A 3 R 283 %0 mone R A &
FOCIRT DBBFHOIRNT

2) A 3 R rsd %0 w33 R & A o
FO0IRT QB|IROHY

3) A o RocRNT TS R 33
4) A 3% =33 R 70

"wgéﬁ@Qd TCHT 6%03;9;3 wgoﬁoé" 3
ReOT ACRTIT

1) mmée noo{ee

2) RTINS SHBID
3) @l R.e5T° @ozﬂecséce
4) OONOMRPT SOTF°

3 ISNT TRIINOR TODROTR aﬁaﬁeé?»q
RROD.

a) $O083 Uoo?/;eoja TORA  a) @.5.131942

b) 200TR¢ QPFRS b) 3.3 1930

c) é@? QOB BHRY c) 3,3 1885

d) &30 dere ©T0L d) §,3.1905
e) 8.3 1906

l)a-d, b-a, c¢-b, d-c

2)a-c, b-d, c-a, d-e

3)a-c, b-a, c-b, d-e

4)a-a, b-b, c-c, d-d
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20)

21)

22)

Assertion (A) The main reason for the
development of Nationalism among the
Indians was western education and
English language propagation.

(R) Due to Implementation of the
English language the freedom struggle
became intense.

1) Both A and R true and R is correct
explanation of A

2) Both A and R true but R is not correct
explanation of A

3) AiscorrectbutR isfalse
4) AisfalsebutRistrue

The main objective of "purification
movement of Arya Samaj"

1) Providing Indian Education to those
who also had western education

2) Promoting Nationalism for those who
returned from foreign to India

3) Purifying the temples which are
visited by the westerners

4) In order to bring back the converted
people back into Hindhudharma.

Observe the following sentences

a) Opposing slavery system

b) Free and compulsory education

¢) Influenced on Ambedkar

d) Elimination movement of unteachability
Identify the person related to the above
sentences

1) Swamy Vivekananda

2) Dr. Atmaram Panduranga

3) Jyothiba Phule

4) Dadabai Naoroji

20)

21)

22)

TeTewS (A) HITITY ToR o
DEAREED Besinn =08l “rcrendond
wéms 8359 wdé Iy aoﬁw mwox?a:
m@ﬁm@w@d)

(R) wonm® poFdodns:, wvzragoon
WRCBTY WBoZ, FeeTet: eFRROR

1) A 32 R 20@8r 70 mne R, A #
BOO3IDT DTTFWOSIVNTS

2) A 22 R A %0 o338 R A A oo
ROOSPT LWTFBODY

3) A 030 FOCIPNT &3S R 3T
4) A 33 33 R 70

SO TTET 5:6% BT oD
engcs

1) dIPY d3eo TRTROR 0TSO
9BED DETRYTO

2) BRTTESINONR  Fewd el mdéﬁé
DOTLTRONR LTSCONT L3BRTHT

3) YT et AeRT deswmm
stzm@:)ﬂoam

4) %0TR THFROT HITWOZT NROTRTI,
=3 %oom;mwﬁ ie@%&ra%%@cﬁa

BINT TN, NI

a) THSRTVNO0D BRET

b) wv =B WD o

¢) ©0L3eBTT e TyIod WeOTI
d) oz 5@ Q0TED TBLCTDES

doe@ﬁ @o3nen X oaoo@Nchchoo1 ey
1) TN DFeTOIOT

2) ol e:?a@ecrow TROTTON

3) méeém s

4) TOTRLROW IIBREI
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23) "Earth provides enough to satisfy every 23) "3 Ped» Qg8 wngnesh, Segmogt
man's needs, but not every Man’s TR0 ONT DOBCHR Y B Bewd
greed" stated by DeRTHD
1) Sardar Vallabai Patel 1) BRFT® RTYHOW Jedeer
2) Mahatma Gandhiji 2) ST mohes
3) Lal Bahadur Shastri 3) R WITRT TR
4) Subash Chandra Bose 4) BT 2307 3R
24) Important steps taken by Lord 24) QT MTRFED, WOTRI®L mO°
Dolhousic to strengthen the British P20 FRROT B Tsuosd T
Empire ) 68 B3 BT MBS
1) Introduction of Railway and Telegraph 2) TRF XY TOEeD
2)F ' f Legislative H
) Formation of Legislative Houses 3) done gesch o
3) Introduction of English Language
4) m%dm% Este
4) Western Education
25) Arrange the following in chronological 25) ESNTYRIRY, URRFRLIEDY wneRz.

order

a) Chauri Chaura Incident

b) Khilafat Movement

c) Jalian Walabagh Tragedy

d) Establishment of Swaraj Party

1) d, b, a, c
2) ¢, b, d,
3) a, c, b,

4) ¢, b, a,

a) :POWT TS
b) DT BHTY
C) ZOODT TN TTYFTOOT

- - -
d) Zooe, =3 mcpwﬁ

1) d, b, a, c
2) c, b, d, a
3) a, c, b, d
4) c, b, a, d
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26)

27)

28)

Assertion (A) Dadabai Naoroji
established East India Society in
London

(R) He desired to frame public opinion
on Indian freedom movement by the
Britishers

1) Both A and R true and R is correct
explanation of A

2) Both A and R true but A is not correct
explanation of R

3) AistruebutRis false
4) AisfalsebutRistrue

The Youth of Karnataka participated
in Civil disobedience movement with
Gandhiji

1) Hardhikar Manjappa
2) S. Nipalingappa

3) R.R Diwakar

4) Mylara Mahadevappa

Recognise the indian freedom
movement revolutionary leaders group

a) V.D Savarkar

b) Rajguru

c) Balagangadhar tilak
d) Chandrashekar Azad
e) W.C Bannerjee

f) Bhagath Singh

g) LalaLajapath Rai

1) a, c, d, g
2) a, b, d, f
3) a, d, f, g
4) c, d, f
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26)

27)

28)

T3TTI (A)  TRHRON TITREIPT
VOB VY "81%°, YorRS® TOF" m@&z)dd:.
(R) 5038 =308, Tomoshi a=cy WEsw®
TN MTFRIT  OPTIORRT, TR
WOBRTIT.

) A &% R o0@3» %0 e R A
AOCIPT DFTBOIHAT

2)A &3 R neo B0 o3 R # A o
RO03RT DTWTTBODY

3) A 03 BOIPNT S8BT R 33

4)A 37 T3 R %0

TR Fon BHIPHY meofemadeodnt
WONTET FTTOCEITT STHED

1) BReFTT WO
2) 7. dRIONT

3) ST, ©T°. QDI
4) da@jerad BOBTICTT

T WO, BeTWT FYOITO ToobET
TOOTRY, LS

a) A.8. WTJTIEO

b) TomT

C) SRONOTRGT 80T

d) @BorBeads wen®

€) TR LA.LRTRE

f) gnz® aon

g) TR ORI TIOIF
1) a, ¢, d, g
2) a, b, d, f
3) a, d, f, g
4) ¢, d, f
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29)

30)

31)

Assertion (A) Robert Clive arrived to
Bengal with a strong army in 1757

(R) Black room tragedy is also one of the
reason for the battle of plassey

1) Both A and R true and R is the correct
explanation of A

2) A and R true but A is not correct
explanation of R

3) Ais true but R is false
4) A is false but R is true

Arrange the following incidents in
chronological order

a) Dandi march from sabaramati Ashram
b) Lahore congress

c¢) Gandhiji attended the 2nd round table
conference

d) Gandhi-Irwin pact

1) a, b, d, c
2) b, a, c, d
3) a, b, c, d
4) b, a, d, c

Match the events from 'B' list to the
years givenin'A' list

A B

a) 1948 a) incorporation of
Pandicherry

b) 1949 b) Goa liberation

c) 1953 c¢) Merging of Junagadh

d) 1954 d) Merging of Hyderabad

e) 1961 e) Creation of Fazal Ali
Commission

1) a, b, d, c
2) b, a, c, d
3) a, b, c, d
4) b, a, d, c
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29) T3S (A) 175789 oowess 3 1 5° 2O

30)

31)

Bedc3eodR uom%ﬁ% WOTDH

(R) Tp» 30338 33 3pem wHT0TR) 2.0
plefao)

) A 3 R 2838 %0 mne R A &
FOCITT DBVHOIPNT

2) A 32 R 208» 50 ¢T38 R A A
030 TOC3RT NTTBWODY

3) A o %0o3RNT TS R 3
4) A 3% =33 R X0

NS PLRINERY, ToRIZTN e

a) BORE BTTNO0T TORCIWE

b)

C) TPORE RTTWIC THOTDTCRT
ABPBBTY TSR 0RT),

d) ™oReE - VRFT LITOT

CRTBRCT” TOONRA

1) a, b, d, c
2) b, a, c, d
3) a, b, c, d

4) b, a, d, c

'A' TYROS IREneRy,  'B' Syiends
BOCSRT FuIneRHTBeon

A B
a) 1948 a) TORWBCO HeTe T
b) 1949 b) Reeme LFWReWEI
c) 1953 C) STONT RCTET
d) 1954 d) ﬁéwmmw‘ ReTETH
e) 1961 e) PRT® B8O sodeen

0B

1) a, b, d, c
2) b, a, c, d
3) a, b, c, d
4) b, a, d, c
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32) The two principles of Gandhiji’s 32) TORECHTT TowbTw; FONCHL  DTW
Ramarajya concept EENES
1) Truth and Non violence 1) B I W0
2) Khadi and Non Violence 2) 00 BB @O
3) Good deeds and good results 3) ATIIOD DD BFR FOT003
4) Struggle and Truth 4) Tpeove: DY I,
33) Choose the correct matching pair 33) BOINRT TRODESTMT BRERODT,
1) Stalin : President of Russia ose
2) Churchil  : President of America D =0 H O 9T
3) Roosevelt : President of France 2) wire P ORORT ST
4) Degale : President of England 3) ORF B, ;TR SET
4) d3md : QORORT okt
34) Hunter commission is related to the 34) "Touo® wodeeng’ ReomerdESRmRHT.
1) Bardoli Satyagraha 1) mTeerd Fenz
2) Khilafat Movement 2) DRTF WRTY
3) Chouri-Chaura Incident 3) 200 PUS
4) Jalian Walabagh Massacre 4) BOCIRT sRIWT TTOY
35) Member countries of “alied power 35) QTRS DTEINTT 3TN WROFHIH"
group” in world war I1 MHORT TWF TORAN
1) Britain, Italy and Russia ) Que’, awd D) Ty
2) Germany, Italy and Austria Hungary 2) BRF, QO WP GReod® Toried
3) Britain, France and Russia 3) YT, W, DB T,
4) Britain, Germany and Italy 4) RT, ®DFA D LD
36) The factor not related to the regulating 36) TmSetion® TOHR BOWORAQNTLT @03

act

1) Creation of Governor General Post
2) Separate Electoral Constituency

3) Establishment of Supreme Court

4) Creation of Board of Directors

1) ASEFo w0 WPoH T
2) T3 B IR
3) AReOBRELFT TYTI

4) ATBerTT DOBYOD TWI
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37) Administrative period of Tippu Sultan

38)

39)

1) 1782 CE-1799
2) 1772 CE-1790
3) 1792 CE -1800
4) 1750 CE - 1777

Identify the Right pair from the
following list

1) Borar Battle : Mir Jaffar v/s
Robert Clive
2) Battle of : Portuguese v/s
Wandiwash Eas East
3) Battle of Siraj-ud-duala
Protonova v/s French
4) Battle of Protonova : Hyder Ali v/s
East India
Company
Which statements related to
Jawaharlal Nehru

a) President of National congress in 1967
b) Architect of Indian foreign policy

c) Founded socialist party within the
congress in 1934

d) Chairman of constitution drafting
committee

1) a, b and c
2)b and d
3)b and ¢
4)a and c
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37)

38)

39)

wa‘.&m

D 83
2) &3

GRS WRTTIRY
1782-1799
1772-1790
3) 3,3 1792-1800
4) 8,3 1750-1777

SN TOSHT &'Lrac@oﬁ:sd:& g ST

1) WFT FTT: NET° VPO V/s T
8

2) TORTOT  BTI:  TRDENCTD V/s
357 QOBOTT FOTI

3) TRA  ICT: AT -NT TP V/s

Boe3H

4) Bectiperdneme 3BT FTRD /s
BT, QORI FOT

BRI TS ITTTHOR
ReOIND

ToWoH W

a) 19670 Toeod TORAT WFFTINTF T
b) ¢PTIT Ddezeon dedod 89

C) 193489 WORTRRTR TRPRTO
TIS AT

¢) BODGRIR T IWIKDH BTIH

H a b D c
2) b B d
3) b &3 ¢
4) a VB ¢
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40)

41)

42)

Ascertain (A) Congress rejected crips
commission

( R) crips commission was group of
Britishers only

1) Both A and R True, and R is correct
explanation of A

2) Both A and R true but A is not
correct explanation of R

3) Ais true but R is false
4) A's false but R is true.

The main aim of 1924 "Vaikam
movement”

1) Temple entry to the backward
communities

2) Fight against the exploitation of
landlords

3) Removal of prohibition on Journalism

4) Encouraging inter caste marriages

Choose the correct pairs from the
following

a) 1767CE-69: First Anglo-moratha war
b) 1790CE-92 : Third Anglo-mysore war
¢) 1749 CE-54 : Second Carnatic war

d) 1803 CE-1805 : First Anglo-sikh war
1) b and d

2) ¢ and d

3) aand b

4) a and ¢

40) TITRTI (A) I, GodeenIT, TORCT
3RO

(R) 3T c3Reny) 50 RVOHT MHoToNBY

) A R OTBER FO Tone RA i
TOOSRT DTTHBOIINTS

2) A 3 R A B0 933 R & A 0
R003RE QRTHOHY

3) A 03 FOOIPNT ST R BT

4) A 33 ©T3R %O

41) 19243 "TBO WHTY" OB TI0sd evTies.

1) 3FXDE0VWON  Te@oLOID TFeT

Qe
2) R BIVDCFT  JREIDBOI ébo’acs@
TRCTORYTD
3) TEFReTIT  [edT  JREFNIFI,
BRTOTOBRTYTD
4) ©OBFIE Q[T TRLETLROYT
42) INIYNSY BOSHT wBReTENIRY, S0
a) 3.3 1767-69 : BTN sorye
DNleplofieva
b) 3 1790-92 : 33e worige HRAT
o:mc?p

c) 83 1749-54 : 23¢ BoFudw ofmt?p
d) 3.3 1803-1805 : BRTONe worRge v
oG
@
) bz d
2) ¢ B d
3) a DD b
4) a DAY ¢
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43) Arrange the following events in

44)

45)

chronological order related to world
war Il

a) Hitler committed suicide
b) America entered the war
c) Attack on Poland

d) America dropped bomb on
Hiroshima and Nagasaki

I)a c, b, d
2) c, b, d, a
3) c, b, a, d
4) b, ¢, d, a

The treaties alined during the cold war
a) SAVE Treaty

b) NATO Treaty

c) CEATO Treaty

d) SALT Treaty

e) CENTO Treaty

I)b and e

2)b, ¢ and e
3)a, b and c
4)a, b, c, and ¢

The main reform of 'Leap forward of
china

1) Converting public property as
property of thesociety

2) declaration of Buddhism as the
religion of the country

3) Giving importance to capitalists

4) Supporting to form communist
government in China
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43) QTWT 032 WITo030T T PFuINEIY,
FRDIDTY el

44)

45)

a)
b)

c)

Sy0° 83T
> ol
©e0T 0INT TzieD

TRCBORT eSS P

d) Bpeazm? &I TNRTICD e

1))
2)
3)
4)

530

a)

00T TP

a, ¢, b, d
¢, b, d, a
c, b, a, d
b, c, d, a

THTT BOTHFRY ST wToWNH

Hez” zwgozs

b) Tine LT0T

©)

203330 &Ja);ocs

d) moe* wToT
Y S}

e)

Dowdne ?Nagod

Db =D e

2)
3)

b, ¢ A ¢
a, b, ¢ DB ¢

4)a, b, ¢, PR ¢

BT "TFTED HTIWNT’ T TR0
pytarle ]

1)

2)

3)
4)

59RN SR, BRI SACTTN
TOWEF R

aﬁcgp VENSENINY an'éd)w FRF@oN
RRCNTITY T

2OBIVFTOLNVN TS ETWHT.

BeIPWY  FINIX, TTETT  TWIN
3020 JETTHT.
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46) The main reason for the end of Khilafat 46) DT WHTY WOFRRYLH Tidosd WO
movement ) RWITTO TIRITHTOR  00ITV0IE
1) The British pardaned Muslims QeRTO0T
2) Treaty between Congress and Muslim 2) mooRiem DF T0Ro O SEI
League %%Odm%@@d
3) Charui - chaura incident 3) #3020 PrITWOT
4) B3FORN AWCOIToN TIPS ToR
4) Kamal Pasha took the rule of Turkey as Y
a Sultan ©PRTT BLATLORTOOT
47) The treaty which is responsible to get 47) WWIoR Fowlow WAy ToRT?
back Madras by Britishes from French. TREOHLL FTLOTT L.TOT
1) Paries Treaty 1) RO 0O
2) Ex-la-chapel Treaty 2) T --WHS® LTOT
3) Madras Treaty 3) DI eTOT
4) Berlin Treaty 4) 2IFT wTOT
48) The correct statement on Ranajith 48) T 20nS BFT 2OTT BOSRT
Singh's army e
1) He had equal number of soldiers of 1) &omens ;533% SVZO  AINTONT
Hindus and Muslims [TIOD 50935033 Néaﬁdc'db&\ MO@%&
2) He had well trained soldiers in India 2) tRUSTPoDe I T IET
o RS, BRODTI
3) He had the army which is capable to e e
suppress the British Army. 3) BOTRON X[ B®EY, SWIDTW
ROTPF T, ﬁésé TRODT
4) He had worlds second best Army 4) wrsgge aomdch eHIW AT, 45T
ALCH)
49) Assertion: (A) Alexander Reid intro- 49) T 3Tews (A) T,3ow00 JTwW 30302
= d ) L

duced Ryotwari system

(R) This system helped to linked direct
communication between the govern-
ment and farmers.

1) Both A and R true and R is the correct
explanation of A.

2) Both A and R true but R is not correct
explanation of A

3)Aistrue butR s false
4)Ais false but R is true.
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@6@0509 OCTER RORALATH

(R)scd =oms =3y 33T I &g
Homer 30D

) A 3 RaoaEe %0 @re R,A &
TOOINT DETHSPNAS

2) A ®& R a0@e %0 53 R, AR
FO0IRT DRTBODY

3) A o3 ToosRAS w3 R 3w
4) A 3% @BS R 70
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50) State of India exempted by consumer

51)

52)

protection act
1) Gao
2)Karnataka
3) Meghalaya

4) Jammu and Kashmir

Which of the following statement is not
correct in the context of Bank
functions.

1) Acceptance of deposits from the
customers and others

2) Giving equal rate of interest to all types
of accounts

3) Hiring safe deposit lockers

4) Conducting foreign exchange
transactions.

Preetham wants to buy a car in future,
to save his money which type of account
do you suggest

1) Saving Bank Account
2) Current Account
3) Recurring Account

4) Fixed deposit Account

50)

51)

52)

MTE TOTTFHD TCH WFCPTPNE SIT
oo

)
1) Ao

2) 3IJoFET
3) TR

4) asmeméeed

méoﬁan‘eé FONFNROR ToWoRATWOS 83 SN
O350 Bewdosn TOCIPNY

) RTEFRITOOT OPI YITOOW
BeBEINTT), WONCTORYT

DTY  AFT 008N 52@@ ESIvSDIY
LRTTBIY, RT3

PTTO FIWEDNY FEBNTT), LBNRZT.

2)

3)

4) QTed IWJIONT B

?Sa:imo’r\‘@m‘aol
QT LT T

2030 FORTY TTRY, 0CRTLD LOTdATY,
O[DH  TEOWR, LVPYTOL  TRTWLD SR
QT aECH, AW

1) VPIT0D o3

2) W 98

3) STBE Bewed o003
4) 23 Bewmed 2008
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53) Arrange the procedure for opening a 53) wREIRY ooy, BTCkNE  TOINERy,
bank account in its sequential order. TOSRE FHTY EeeRa.
a) proposal form a) TRWIOD W!E
b) contacting Bank officer b) 087 ©HTOOH, WoTEFROH.
Initial D " C) TROORT BeIed
) Initial Deposi d) Tou3T e DITT, FPWRT
d) Give reference for opening account €) VOTOONOT TOSCLT
e) Verification from the officer ha b d c. .
1) a, b, d, c, e
) 2) a, b, c, d, e
2)a, b, c, d, e
3) b d
3)b, a, d, e, c )b, ’ © ¢
4)b, a, d, c, e 4) b, a, d, c ©
54) Assertion (A) Indian Merchants had 54) T2TWR (A) ao&racwszs R Petaecd

friendly relationship with the
Europeans

(R) Europeans trade was profitable to
Merchants of India

1) Both A and R true, and R is correct
explanationto A.

2) Both A and R true but A is not correct

explanationtoR.
3) AistruebutRis false

4) AisfalsebutRistrue
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msmamf - i{etAleln] ﬁg&*’ms@?mns_ap,

(R) xCnedm wommed yeddecd =3ees
cma;% TTEOTRNY,

) A3 R AL 20Re %O Fone R,
A R BOC3IRT QWTFHOITDNTS

2) A 3 R e %0 ©x3 R & Aodw
F00IRE HRTBCHY

3) A o3 RO0SRAT =33 R I

4) A 3= w33 R %0
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Question & Answer key

DO |WIIND| FRo | cugones | BAO. |evzsner| BAO |evsonive| BRO. | wwsre:
1 3 /12| 2 | 23| 2 | 34| 4 | 45| 1
2 | 2 | 18| 1 | 24| 1 |3 | 3 | 46 | 4
3 |1 | 14| 3 |25 | 4 |36 | 2 | 47 | 2
4 | 4 | 15| 2 | 26| 1 |37 | 1 | 48 | 3
5 | 3 |16 | 1 |27 | 4 | 38 | 4 | 49 | 1
6 | 2 | 17| 4 | 28| 2 |39 | 3 |50 | 4
7 | 4 |18 | 3 | 29| 1 |40 | 2 |51 | 2
8 | 1 |19 | 2 | 30| 4 |41 | 1 |52/ 3
9 | 2 | 20| 1 | 31| 3 |42 | 4 | 53| 3
10 | 1 | 21| 4 |32 | 2 | 43| 3 | 54 | 2
11| 3 | 22| 3 | 33 | 1 | 44 | 2
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1) “Secular State’ means that 1) "33 o Q0TS OB
1) The State has a religion ) ma@)@ VRNV 2RODT
2) The State is irreligious 2) UO%@ PIE JTTeTONT
3) The State is anti religious 3) UO@@ TRF BREHOIINT
4) The State is impartial in the matters of 4) TS QROPAYSY oomm R
religion R eTTRBOD, Bp00d
2) Which one of the following was 2) & INIYNCY BRIYTT, @l V.00
described by Dr. Ambedkar as the WOWET® TR “BORIT TTWH Iy
“heart and soul” of the constitution. ©E” Q0mh QTOATRE.
1) Rightto Equality 1) BRPIZ0D T,
2) Rightagainst Exploitation 2) 30eRBOD NTWF, T
3) Rightto Freedom of Religion 3) PONFE ATOT T T
4) Rightto constitutional Remedies 4) ROLTHIVIT TOTITH T
3) The Ultimate power of protection of 3) TROFPRIT TH|ATTY, THIT @oIW
Fundamental Rights is with the WRTTR) BWSYH
1) Parliament 1) BoxZ)
2) Highcourts 2) 63, T RO
3) Supreme court 3) ﬁd_{@@?%ﬁw méofmeoda
4) State Governments 1) oo, G
4) Inthe context of assesing democracy which 4) "TRTPHT I, SPOLIONT FRBRSTY

among the following is ‘ODD’ one out.
1) Freeand fairelections

2) Dignity ofthe individual

3) Majority rule

4) Equaltreatment before law
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33 FENTIYNIY BRP T MHo&R FeHRAY.
1) 308 308 THCHAMZ WTBENR

2) B3O NPT /FTE

3) 2BROVET es%%

4) TOTRAT BNOT FRPTI




NTSE - SAT

POLITICAL SCIENC & ECONOMICS

)

6)

7

Choose the correct option the basis of
following characteristics

a) India and china are the participatory
nations

b) Jawahar lal Nehru and chow-En-Lai were
the founder of this

c¢) Ithappenedin 1954 June

Choices:

1. NonAligned Movement
2 Disarmament

3. Panchashecla

4. SAPTA

Consider the following pairs and Choose
the correct answer

A) Power shared among different organs of

government -Federal government

B) Power shared among governments at

different levels-Separation of Powers
Reference to the above statements
1. ‘A’istruebut ‘B’is false
2. ‘A’isfalsebut ‘B’istrue
3. Both‘A’and ‘B’are true
4. Both‘A’and ‘B’ are false

Under what circumstances can the Indian
President proclaim emergency according
to article 352 of the Constitution

1) External Aggression

2) Armed Rebellion

3) Instability of Government
4) Financial Crisis

Codes

I. (i) and (i1)

2. (1) and (iv)
3. (i) and (iii)
4. (i1) and (iv)
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3)

33 IYNT VLN ©HST heed BOO3RT

esoﬂ:ﬁoszsaezmdoaz)

a) T3 W) e AST  FONEWRT
magmﬂo

b) x=TTwRe FBH B 230.0T.C0SF
2T BRFIFDH

C) 1954 oa® SONYSY AT YLOLWONB

tsoSoém*J:

1. @@&_’D Qed
2. 8355,3 3T
3. wo{{ée@
4., 3D

b

6) 32 3N LeeRNYRY, TORed2 LOITIRY, o,

TR

A) TTFOT QT WONNY BN ©HTT
TOWBE-BOOINE BFOF T

B) Q07 ©03ng TFong I@d €T
TOWBI-HTT B3

33 3eOR JewINen TowoR2WoS

L.

2
3.
4

‘A’ %0 ©T3 ‘B’ 3%
‘A 3T $T3 B’ %0

‘A’ 33 ‘B’ 28GR 50
‘A’ 3 ‘B’ 2030 3T

7) 8 FENT O3RN BOTHPFRY PCST TOFTJEN:

ToRTRRT 3528¢ 050308  ByToF
wazééoﬁab& FREQITWDOTING

1) 0%, 833060

2) #37 Bork

3) Br 0T ©4TY

4)BE0TORY TWNTE,

ode3ned

L) =3 (i)
2. () =3 (iv)
3.0 (i) =B (i)
4. (i) B (iv)
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8) Consider the following pairs 8) 82 $SNT EReRNRY, Toneda

Lists Subjects G DT

a) Central Forests ) 0T TN

b) State Health ) To% wdeen

¢) Concurrent Education ) BRNTEE éﬁg@

Which one of the above Pair/Pairs is/are
correctly matched

I. (a)
(b)
(©)
(a)

and

(b)
(¢)

and

only

L

only

9) Consider the following

The Prime Minister of India is the head of
the

a) Finance commission
b) Election Commission
c) Cabinet Secretariat

1. (a)
(b)
(a)
(a)

only

and (c) only
and (b) only
and (c) only

el

10) In which of the following issues both

Loksabha and Rajyasabha have equal
Powers

1) Constitutional amendment

i1) Remove the judges of High Court

1i1) Financial Bills

. (1) and (i)

2. (i) and  (iii)

3. (1) and (iii)

4. (i) (i) and (ii)

33 DT O30T BRe&B/EReBNRYY IOO3TN
BROTVEZFO3IONGS.

L (@ =3 (b

2. (b)) =D (©)

3. (c¢) =W

4. (a) =0T
9) é@n@@ﬁeéabé Cafeataol

ZITTT J[GOTT0ENYY VRT/AR)NY
maasm;mﬁwgé

a) TOTOR SOSREN

b) DTo=mHmo sadeen

C) TORTRCO FTOITVE OO

B33 FYNT O FBePF/TePINTD TOOSNES
. (a) =»g

(b) B (c) S0

(a) B, (b) =0

() ™3 (c) F0I

b

10) 33 NS ORT QWHNTY SReFTYI DI
cauézzsmasm 3T e.—a@aazssa’»ol BROD.

1) ROQNTPS SHHH

1) FBeeers T903PEETT JHS
111) TEOTORAT WRRT

Lo (1) =% (i)

2. (i) o (i)

3. (1) =3 (i)

4. (1) (i) == (i)
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11)

12)

13)

Which of the following institutions have
reserved seats for women

1) Panchayaths
i1) Municipalities
ii1) Legislative Assemblies

iv) Rajyasabha

v) Loksabha

Choices

1. (i) only

2. (i) only

3. (i) and (i)  only

4. (1), (i), (i), (iv) and (V)

Which of the following is/are the distinctly ¢
“Federal feature of Indian Constitution”

A) Supremacy of Constitution
B) AllIndiaservices

C) Emergency Powers

D) Division of Powers

Choose the correct answer from the options
given below

1. (A), (B) (C) and (D)

2. B), (C) and (D) only
3. (A) and (D) only

4. (A) only

Who among the following is/are generally
elected indirectly in India

1) Members of Lokasabha
i1) Members of Rajyasabha

iii) President

iv) Vice President

Choices

1. (i) only

2. (i) and (i)  only

3. (1) (1) and (iii) only
4. (i) (1) and (iv) only

11) 3 3$AT 35

RoANYY Dlvonhorn
DoeReRIabI:, IORPNG

(I) Soweonsnsd
(1) S0ARTILINED
(111) ZozToON FLNE
(iv) Doz, %23

(V) Sne3xed

Sodned

L (i) =og

2. (i) =W»

300 () WD (i) B[weg

4. () (i) (i) (iv) = (v)

12) & $ENSRINGY CIRRYT/BRRH POTI

BOC0T FIH O LNy, S9RTT.
A) TOLTRIT TONF LTI

B) ©@do 550038 ZeSned

C) = wé%\%oja 9OTITNED
D) ©5%3 5K

& PN @oﬁ%ﬁ@ozﬁ ROIPT  YLITEIIY,
noTER

L (A (B) (O = (D)
2. (B) (O) =3 (D) m®g
3. (A) ®% (D) Iwg

4. (A) =P

13) ROTY 32 FNTTOY CIRT> MTRFIN

w&@cg LHTTTECH THNRVT a—soﬁa&ommsgd
(1) Seezzge Sdssda

(i) ToxFL® ATZI

(iii) me@w\%

(iv) eVToFBE
=

eﬁoﬁo&mfo

D () =w

2) (i) =3 (i) =w

3) () (i) @& (i) =03
4) (i) (i) 3 (iv) =93
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14) Which of the following states of India have 14) 03T S NS SRS TEAY  QIT
Bicameral legislature system TTFOR T S0H, BRONE
i) Tamilnadu (1) BNDTD
11) Utté'lr Pradesh (ii) $03T T3
¥11) O'rlssa (iif) 2.0%

iv) Bihar ) »
v) Andhra Pradesh (1v) 2353
vi) Gujarath (V) ©o5TTe3
(V1) MO&TZ
Select the correct answer from the code given 8 TYNT FOTeTITTNYOT FOOITT
below VZTII), MTOSR
L. (%) (m) (V)_ L () (i) (V)
2. (1) @i (vi) 2. () (i) (vi)
3. @) (v) (V) 3. (i) (v)  (v)
4. (i) (iv)  (vi) 4. () (iv) (Vi)

15) Identify the right set from the following 15) 33 3SNTIYNLY BOSRT OOy, &O2.
(Army Training Institutions) (Centres) (B3 3Ted FoFns) (Beoznied)
A) National Defence a) Da&ecd UFED

Academy i) Wellington LD I) SQorres®
B) Defence Personnel b) oo NSD)
College ii) Dehradum AROK S i) BRTERT
C) National Defence C) Todyeod
College iii) Khadakvasla Ogme sode iii) 2FF R
D) Indian Military d) zposecd wdud
Academy iv) Chennai OTTW iv) ¥
E) Officer’s Training €) QFONY
School v) New Delhi g0ed oY V) SRIEFO
A B D E
A B C D E . ¢ . .
1. 1, m, v, 1v, 1
1. i, i, v, iv, i . . .
2. 111, 1, v, 1, 1v
2. i, i, v, i, 1iv . e :
3. v, 1v, m, i, 1
3. v, v, i, i, 1 . . . .
4.  1v, v, 1, m, 1
4. v, v, i, i, 1l
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16) The correct matching set of List ‘A’ and

17)

List ‘B’
ListA

ListB

a) General Assembly 1) Permanent member

b) Security council

¢) Economic and
Social council

d) Secretariat

nations

1) Day to day
administration
work

ii1) Representation of all
member nations

iv) Study and report of

various Academy
subjects

a b c d

. i, i, i, v
2. did, i v

3. i, i, i, iv,
4. i, i, i, v,

Match ‘List-1' with ‘list-2' and select the
correct answer using the codes given below
the lists

List-1( Form of Government)
a) Unitary Government

b) Fedaral Government

¢) Presidential Government

d) Cabinet Government

List-2 (Essential Features)

I) Division of Powers

1) Administrative law

iii) Collective Responsibility

1v) Separation of Powers

Codes:

1. a-iii, b-iv, c-ii, d-i
2 a-ii, b-I, c-iv, d-ii
3. a-iv, b-ii, c-i, d-i
4. a-iui, b-l, c-i, d-iv
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16) ‘A’ Iyow wo3ndeodn ‘B’ ok wosnesy,

BRODT TOO3TT MOT
‘A’ w% ‘B’ aj%
(@) mTP, B (1) 330030 BBFZ
TR

(11) asaéscs
@cé@:a—osg TOONE
o3P0

(ii1) &R BT

(b) 5T B

(¢) s6F3 Tonwe

0TIV TN Uo%ﬁ@ TEIONRD
(d) BeseoooD (1v) QG R0DAY
VFODI B
[T TR

a b C d

1. 1, m, i, 1v
2. a1, 1 v 1
3. 1, o, 1, 1v,
4. i, i, 1, 1v,

17) Be3-13 @o3neR, Be-2 3eodR Beod, S

3SR DRI  FoFeTFTNYOT  TOOIRT
NZTTRY, &0

Ted-1 ( ZFFOT SRTND)
a) OTIT BFFT

b) Boc3ng BT T

C) ©TFeoD AFOFT

d) Zozmtecd FoeT
TY-2 (e.—ozfsz3 VF OND)

1) ©QTT T0WTF

1) SBYZZT IR

1i1) TOTRLT 2T

1v) ©050 T3

méca@g oneh

1. a-iii, b-iv, c-ii, d-i
2.  a-i, b-l, c-iv, d-iii
3. a-iv, b-i, c-i, d-i
4. a-iii, b-l, c-ii, d-iv
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18)

19)

20)

The following are the list of Indian Political
Parties

a) CPI

b) Bahujan Samaj Party

c¢) Akali Dal

d) National Conference

e)BJP

f) DMK

Which one of the following groups indicates

the sets of ‘Regional’ and ‘National’ Political
Parties respectively

. ¢cdf and abec
2. aef and bcd
3. abc and def
4. ace and bdf

Some of the Nations are given below
1) Srilanka

1) Singapura

1i1) Nepal

1v) Thailand

v) Afghanisthan

vi) Malleshia

The Group which classifies above nations as
the member of “SAARC” and “ASEAN”
respectively

(i) (i) (v) and (i) (iv) (vi)
(i) (i) (iii) and (iv) (v) (vi)
(ii) (iii) (v) and (i) (vi) (iv)
(i) (i) (vi) and (iii) (iv) (v)

—

el A

The following are the sets of the Chief
Ministers of Karnataka State. The set
having order of their term

1) S. Nijalingappa, K.C Reddy, Veerendra
Patil B.D.Jatti

R. Gundurao, M. Veerappa Moily,
S.R.Bommahi D.Devearaj Aras

2)

3) J.H.Patel, S. Bangarappa, N.Darmasing

B.S. Yadiyurappa

4) S. Bangarappa, H.D.Devegowda,

S.M.Krishna B.S.Yadiyurappa
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18) TBT Towseod JINE JeIowRy, S R

19)

20)

QeReRNT

(a) R

(b) o@uT ZSWE TS
(c) w5dus

(d) RIS T FTT,
(e) V&

(f) 0%

DT TORICOD wsmfmol ‘Toeds’ ma
croweoja *iﬁ@om m\ers@ﬂ)cs 0T

?ﬁnmﬂ

. cdf =3 abc
2. aef =8 bed
3. abc =8 def
4. ace #H bdf

FOF) m@ﬁ@ﬁ:& 33 3YNT TeDdY JeRUeNT
(1) dc00%

(1) orPTT

(ii1) Sz

(iv) Bon0w°

(V) 3R 7s

(Vi) S,

RIS mwmfm% ‘Tozee’ ma ‘3203593
BoTRI0H = csfoémwﬁeﬁom “BACF202T
TOT BN

L) (1) (v) &= (i) (1v) (vi)
2. (D (1) ()2 (1v) (v) (vi)
3. (1) (i) (v) = (1) (vi) (iv)
4. (1) (i) (v) 2 (1) (1v)(v)

B3I ma%mogm* mow@ 3 ISR

QCTERNT. R BROD IWAT OHTITN

gmmnsos:mol RRONTHT MO

) % dRdoNT, 3.2.88, HTe0T, woLsee®,
2.8.%8 -

&S0, OOWTIT, D0.QCTH WBROWD,
BT, z&@moi'b 8.3800% @O
3) BT TP¥eer, DT WOMOTT,

DT PROFRAOTY, W.OF° o&@oﬁmdw

DF° womdw T2 .83. 3BT, T .00. ﬁ%
0. o&@oﬁmzﬁw

2)

4
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21) Consider the following statement about
“Pressure Groups’ and choose the correct
sequence to indicate the following
statements as True (T) or False (F)

A) Pressure groups are the organised
expression of the interests and views of
specific social sections.

B) Pressure groups take positions on
political issues

C) Allpressure groups are political Parties
Choices:

I. TFF
3. TFT

2. TTF
4. TTT

22) The process of Indian election is given

below

a) Scrutiny of Nomination

b) Counting

¢) Notification

d) Campaign

e) Election day

f) Nomination

g) Withdrawal of Nomination

The correct sequence of election process is

l. ¢, f, g a e b, d
2. e, f, a g d, b, c
3. ¢, f, a, g d, e b
4. d, f, a, g ¢, b, e

23) Consider the following two statement (A)
and ( R) and choose the correct answer on
the basis of codes given below

Assertion (A) The constitution of India is
quasi federal

Reason ( R ) It has given more powers to the
central government than to the state
governments

Codes:

1. Both (A) and ( R ) are true and ( R ) is the
correct explanation of (A)

2. Both (A) and (R ) are true but (R ) is not a
correct explanation of (A)

3.(A)istruebut(R)is false
4.(R)istruebut (A)is false
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21) WBR THOTRASR ToWORATWOZ B IYNT
TeVENERy, Jonedy wPnes O (T) DIy
33, (F) Qowmt Bosns wmbgmorddonsy,
TSR,

A. 22T MOTIND @@Fﬁw TOWIOVT
SRFMY ©78 B FABRIRT B0
e

B. oz Qd@ROPNSS ?Ngcé OTRN
3, MFTR, BROOT

C. 2 ugcémomﬁ%fo DO BCOR wgﬁeﬁe
SN,

esoﬁ:&ﬁeéez

1. TFF 2. T TF

3. TFT 4. T T T

22) (RT3E wmewms TZohodk sosmfsﬁ 33 3$R

TSN

a) JOTNT, WO

b) =0T 2edd

C) BORRBEI

d) =0

) ITOIT DT

f) evdecdz0d BYE
g) PVETNT0F L O0TTBOSNRNF

HTTE TEOHOH BOIRT FRRRNSE

I. ¢, f, g a e b/ d
2. e f, a g d, b, c
3. ¢, f, a g d, e b
4, d, f, a, g ¢, b, e

23) Bewd(A) B (R) 2SrRR, S[onedz deRTHT

TogeTog TRYOT TOCITT YOITHRY, MHTH2.

TETRTWS  (A) POTBE  FONTRIH) T

ROO3NTIONTS

530 (R) ot 0oz, BFoFTRONOZOR T2

©VHTTBI), 30T AFF T, RT3

Tose3neh:

L (A) &3 (R)azae 30 3 (R) (A)S
FOO3RT DWTFHBOITDNTS

2. (A 28@e B0 338 (R), (A)S
BOOIRT HRTBODY

3. (A)Ro&wT (R)3x

4. (R) %0 s33 (A) 3
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24)

Consider the following two statements

Statement (a) There is Parliamentary system
of government in India

Statement (b) The President in the Indian
Political system is real head of the Executive

Reference to the above statements

1. Statement (a)iscorrect

2. Statement (b) is correct

3. Statement(a) and (b) arecorrect

4. Statement(a) and (b) arenotcorrect

25) Assertion (A) - People’s courts came into

26)

27)

existence in 1985 in India

Reason ( R )The legal procedure is time
consuming and expensive in India

1. (A)is True, (R ) is false
2. (A)is False, (R ) is True

3. Both (A) and ( R) are True and ( R) is
the correct explanation of (A)

4. Both (A) and ( R) are True but ( R) is
not the correct Explanation of (A)

The Final and Punishment form method of
credit control use by RBI is

1) Regulating the Marginal requirements
2) CreditRationing
3) Moral Persuasion

4) Directaction

Identify the odd one from the following.

1) Sandhya Suraksha Yojana

2) Integrated Rural Development programme
3) Swarna Jayanthi Shahari rozgar Yojana

4) Swarna Jayanthi gram Swaraozgar Yojana.

24)

SN ée@éo&ﬁo TJonedy

DY (a) md@d@ TOROCON WIVTOON
XBFOET 55,\) 833@05)@(3

3T (b) mdécﬁ TO%BCON  R.:E 0N
TOFTENH Fo0DF ONT 3 & mm mﬁmﬁmg

33 33@@5 TeeInOn owofmdoé
Tewd (a) O

zewd (b) =0

Tevd (a) B (b) «20@ER O
Tewd (a) ) (b) «oBR 3XD

.

B

25) T2 (A) RTBTY BIT TCIPOCHR

26)

27)

19853 &=0nY e.—oaé%é& WOTR)

ARBES (R) 0839 méoda Q3TFHBOIN
RF0W msg da;;moja%mﬂd

I (A)%0 (R)3=
2. (A) 3= (R) 50

3. (A) 3 (R) 9530 50 mre(R), (A)
= TO0INT ARTHEIPNS

4. (A) B3 (R) 2582 70 &35 (R), (A)
= BOCIRE QBWIBOHY

Ro3ech Feom WREE WO ACROZRFN
WEDE TYIROH T dF O TeIT
QODOTED T

1) S[RBES® TET TRDEH
2) AT JIRST

3) 3,88 wEw

4) e 3D

VRINIY o Feogmy, LI
1) Bogm, ATTY 3pewT
)
2) RN, MDD BP0 TOODFTI
3) BFOF OO THO TREWTOT® O3PS

4) FgoF OO0 MR FBRELMOT® O3PS
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28) Which of the following statement is

“WRONG’related to Labour

1) Labour can be separated from the
Labourer

2) Labour cannotbe preserve
3) Lessmobility of Labour
4) Labour differences in the effeiciency

29) As ‘Theory of Demographic Transition’

explains ‘as the country developes’;
1) Population will increase
2) Population will decrease
3) Population will constant

4) Gender inequality in Population

30) The Sectors are classified into public and

)
2)
3)
4)

31)

private sector on the basis of
Employment conditions

The nature of economic activity
Ownership of enterprises

Number of workers employed in the
enterprises

Which is the group of Indirect Taxes

1) Excise duty, Value added Tax Service
Tax

2) Income Tax, Import-Export Tax, Stamp
Fee

3) Company Tax, Goods and Services
Tax, Wealth Tax

4) Wealth Tax, Goods and Services Tax,
Import-Export Tax

32) GDPis the total value of

1) All goods and services
produced during a particular year

All final goods and
services produced during a particular
year

3)

2)

All intermediate goods
and services produced during a
particular year

4) All intermediate and final
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28) ‘=’ 2

~ouo@~doé 33 FUNT 3w Iewd
3"?:\:3

1) gmsmagmsaozs 23eTBF BTN
2) BT, AONEA AW SMPVY

3) 3T TORCD W30 TR

4) TP TFBODY W3 B BROVT

29) ‘wsm "ossy, WOWIrTe Nmoswg ey ovort

30)

31)

B3R SR @ma moadoé

) &35NO@3230333 ézs%mag TRerdSTI

2) %5%@350333 BR[OOIROTY, TRETT

3) maxos%o:bo %C)pdmﬂdagzﬁ

4) %3F0B0HY IO
VBTPIZIPMTT

Tlabat :Soosmeémd TOTFBIT DIy &5eIN
NOOHNRBOTH FNCFTOUT ST

) @d@éms %@ﬁ@ﬁ@a

2) SHFF BDTLIN Z0RT

3) ROFTLIOD BRI

4) BoFURONY BRBNHDRRT FLIMOTT
xosjes

3 INIINTY  BRYT '“8.@@% 3oRn$
HOTINT.

1) ©@30 30R, ?@@@@Fé 30m, Aeww
3on
2) ROBRT 301, @RDH-0TW R, TWOT

@b@

%Owgb 30R,
ROBET gon

TOoTEZ 3OR, [T m@& Dewmo 3On,
©RH-TT For

3) ROB =Z) Feww B0R,

4)

32) GDP SR@th S@nY wigy PO

1) 0w JNFH wwaoﬁacﬁ em@cﬁﬁo:’md
DY BTB mza At

2) 20T JNFH OVLODY NTITI0INT
©9083 BT ma Besned

3) 20T JOFR @5@053@ NTITIOIRT
DFBEF BB W BeRed

4) uom QOFR eﬁw@o&@ TV
©0sT W DB ATH DR
DoAY
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33) ‘Demat’ Means 33) ‘eune’ (Demat) SRRHTH
1) Account opened by the rural people in ) 3o VLTOON TPBED TR BT
Post Office for savings 2028 828000 BT30S 2593
2) Account opened by Pensioners to get 2) 20wEBmIs 3R QouE  THEOI™S
Pensions in the bank Beemon 630,083 3030 2008
3) Account opened by industrialists for 3) FMOBRTND B BITTTN
their transactions in a bank 3%055@ 380303 O3 20F °
S 152)
4) Account opened to sell and buy the 4) RN, ZPOD  HI) BRI
shares RO FBoWF I
34) The correct group of ‘4R’ Techniques of 34) ZoIJHR ONY :ﬁodapé’oﬁ ‘4R’ Zogn¥

Resource conservation

1) Reduce, Reuse, Recharge Research
2) Repair, Restrict, Remark, Reuse

3) Recompense, Re compose, Recollect,
Recover

4) Recovery, Reclaim, Reorder, Recount

35) Consider the following statements related to

36)

goods and service Tax (GST)

1) Itis indirect tax system

i1) [t came into force from 1st April 2017
ii1) It has five slabs of taxation

The Correct statements from above

I. (1) and (ii)
2. (i) and (iii)
3. (1)) and (i)
4. (1) (i) and (i)

Match List-1 ( Revolution) with List-11
(Area) and select the correct answer using

the codes given below

List-1 List-I1
(Revolution) (Area)
A) Blue 1) Dariy development

B) Green i1) Fisheries development
C) White 1i1) Food production

D) Yellow iv) Silk production

1. A-ii B-iii  C-iv D-i

2. A-ii B-iv  C-ii  D-i

3. A-iv B-i C-ii  D-iii

4., A-ii B-iii  C-i D-iv
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2003 THom

1)Reduce, Reuse, Recharge Research
2) Repair, Restrict, Remark, Reuse

3)Recompense, Recompose, Recollect,
Recover

4) Recovery, Reclaim, Reorder, Recount

35) "oz WP Fewe 30RR FowoRaWoZ FWNT

TeLENTy, ToNed

1) 9uRom F3eeg 01 Tg S03RNTS

11) Q&e* 01, 2017 00T AT 230071 00T
1i1) 20T FBOINY SOR0D Jeedod, BRONT
88 20T TEYINTY FOOTIT TEPINW

L) =% (if)
2. (i) 3 (iii)
() % (iii)
4 () (i) =y (i)

36) =g3-1 (odnsh)sy, = 11 (3e3nied) deodn

TR0, T3 PR JCRTT  ZodeIneow
BOCIRT YVTHR, T3

we3-1 ze3-11
(03nsh) (3e3ned)

A) e 1) 08 BT
B)@am 11) QEIWOBFOD ORBQ,
C) 29 iii) 53R eTT

D) =6 1v) B¢z Q0TS

I. A-ii  B-iii  C-iv D-i

2. A-iii B-iv C-ii D-i

3. A-iv B-i C-ii D-iii

4. A-ii B-iii C-i D-iv
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37) The course of evolution of Money is depicted
in the following flow diagram. Identify the

correct sequence.
(]—[2]—[3]—[4]

a) Copper coins b) Debit cards
¢) Commodities d) cheques

1. 1a, 2b, 3c, 4d,

2. 1d, 2¢, 3b, 4a

3. 1b, 2d, 3a, 4c

4. lc, 2a, 3d, 4b

38) Measures of Money supply in India are given
below

1) Fixed deposits in commercial banks

11) Currency notes and coins

iii) Savings bank deposits in Post office
iv) Total Post office deposits

v) Demand deposits of commercial banks

Reference to the Financial Management
the group which classifies the above
measures as ‘Narrow’ and ‘Broad’ money

isrespectively

. i, i and iii, iv, Vv
2. ii, 11, v and I, 1iv,
3. 1, i, v and ii,iv

4. 1, 1iv, v and 1ii, 1ii

39) The Equations of Deficit Financing are

given below

1) Total Receipts - Total Expenditure

i1) Fiscal deficit - Interest Payments

1i1) (Revenue receipts + Total receipts expect
borrowing) - Total expenditure

Reference to the above equation the type of

deficit financing is respectively

1. Primary Deficit, Fiscal Deficit, Budget
Deficit

2. Budget Deficit, Primary Deficit, Fiscal
Deficit

3. Fiscal Deficit, Revenue Deficit, Budget
Deficit

4. Revenue Deficit, Budget Deficit, Primary
Deficit
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37) TR QTT TRODT TOINYRY, B EENS

TOR) UIWY SRCOTCINT. TOSRT

569505353%7136352)
[]—[2]—3]—

a) THWT TN b)céedes T EniEd

¢) SRR d) @5

1. 1a, 2b, 3c, 4d,

2. 1d, 2c, 3b, 4a

3. 1b, 2d, 3a, 4c

4. lc, 2a, 3d, 4b

38) wTIT T m@’ééoﬁ msgﬁmm& B3
SN wagoﬁe:g QeBSRNT.

1) 306825, LROVNTYTOT [NT Y BeTEINE
11) 33 Breetddnshd DY TN

1i1) 028 32EeONTYYT YPTIOD BeRWLBINRLD
1v) 9028 328eONYYTT 2ued) BeTENWD

V) 96825, LR0BVNRTYYTOI LdeRT BeBeSN

BCOTRNYY TRTOAY, AWFIH/ON
50%03305 Rlolapink msa ‘AT’ TED PO
TONEB3TI0T MO %mmﬁ

I. 1, 11 0D 111, 1v, vV
-0

i, i1, v 3D 1, 1v

i, iii, v, & ii,1v

il

39) &nT3ckH Teomeas BAZNER, 31 TR Aerwwend.
) e sdms—m&m;d
i) Deod 303 - W TTS
1il) (BOTROD [WTTPT + ASEST OB
BOBRT) — 283, %
BT AEIAYR  FOWORAT  FRTION
TEOTOAT TN TN
) PNT 30T, DoDINRTI, WODBOD
3003
Slevsbven 3RTE, TRPWT BRTI, DCOD
3203
3) D&eodn FeT3, TBIR, 8T, SONTOD
3508
6&&@5 8008, @o:bw?so&&radé, GIRIAIAN
3003

2)

4)
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Answer the question No. 40 and 41 based B YN BReFTRI, BPOA TJ, B0, 40
on following table W 41 8 YwZoA
Monthy Incomes of Citizens FRMOET SRAT GTmcd
Country y( in rupees ) (SRTOERRTY)
Average Bean | Jo—1| To-2 | -3 | To-4 |J0-5 | BoeR0

Country ‘A 5“560 T500| 9300[ T0000| T0300| =

@A 9500 | 10500 9800 | 10000 | 10200 | =

Country ‘B’ | 10800{ 10450 | == 110400 | 9000 | 9g30

%~ ‘B| 10800 | 10450 = | 10400 | 9000 | 9830

40) TheAverageincome of Country ‘A’is 40) oF ‘A’ S Z0oF0 SO
1. 10500 L 10500
2. 10200 5 10200
2. 10000 2. 10000
4. 10800 4. 10800
41) Income of citizen -3 in Country ‘B’is 41) CE% ‘B’ ch O hetRe Son0ess $mood
1. 8500 1. 8500
2. 9000 2. 9000
3. 10800 3. 10800
4. 10000 4. 10000

Observe the following barograph and answer the question no 42 to 45
33 YN Zoge asg oSaaSaB{ N gﬁd :3093ZS 42 00T 45 T TR LvId2.

DOF BOCHNEYT WOBRLENAT N[ DS

y Share of sectors in employment (y.)

100 +

15%
90 4
27%

80 10% Tertiary

Sector
EANE
TooH

70 +

24%
60 + Secondary
Sector
[SENE S
Took

50 +

40 + .
Primary
Sector
TR/BPWI
Tood

30 +

1972-73 2011-12
total no of total no of
y population population
(500 crores) (1200 crores)
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42)

Compare to 1972-73 the No of increase
population employed in Tertiary sector in
2011-12

1) 324 Crores
2) 75 Crores

3) 249 Crores
4) 399 Crores

43) The difference between the people who

44)

45)

46)

employed in secondary sector in 1972-73
and 2011-12

1)238 Crores
2) 50 Crores
3) 288 Crores
4)388 Crores

The No of population employed in Tertiary
sector during 2011-12

1) 180 Crores
2) 600 Crores
3)288 Crores
4) 324 Crores

The No of population employed in primary
sector during 1972-73

1) 50 Crores
2)375 Crores
3) 75 Crores
4)750 Crores

Assume there are five families. The average
per capita income of four family is Rs.6000.
If the income of four families is Rs. 4750,
Rs. 8250, Rs. 6000 and Rs. 7650
respectively. The per capita income of the
fifth family is

1) Rs. 6000
2)Rs. 12000
3) Rs.3350

4) Rs.30000

42)

1972-73 § RpcO220303 2011-12 S
Zoeon TOHTY WIRTY IRTNT,
o0 BRT0ss,

1) 324 3683

2) 75 3683

3) 249 gmoees

4) 399 gmoees

43) 1972-73 =33 2011-128Q H3eodh TOHTY

44)

45)

46)

POTRLATY BRTNT GRS SO FIX
1) 238 Bmees

2) 50 &t

3) 288 Bwees

4) 388 3mees

2011-12 =90 3@3603; TORTY
wd@s@r{dg gmmg zsszos%

1) 180 gwess

2) 600 Boee3
3) 288 Bees
4 324 dpess

1972-73 ©TPHY WBPWE TOCHTEY
NBRLNEY SRBNG ZRS Hosd,

1) 50 Bwces
2) 375 Z@ees
3) 75 dmees
4) 750 gmoees

DT BUNOWNLT NOTD PN, & BDEDOWNY
o080 ZeRweod TWR. 6000. woTH [
ToWy, WIVOWNE SweCH FFbwen Tw.4750,
oR. 8250, 3n. 6000 533_39 BR. 7650 &=[3
NTRE BEPOWT SO

1) Gw. 6000
2) 3%. 12000
3) Sw. 3350
4) 3%. 30000
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47)

Consider the following table

Name of a Person Profession
Rajan Bank Manger
Sheela Vegetable Vendor
Krishna Potter
Santosh Lawyer

Reference to the above table, which of these
persons would consider as ‘Organised
Workers.’

1) Rajan and Sheela

2) Sheelaand Krishna
3) Krishna and Santosh
4) Santhosh and Rajan

48) The total agricultural land in a village is 1200

49)

hectares, This is distributed among 320
families who form four groups in the
following pattern. It is assumed that the
land is distributed equally with in each
group. Identify the group of small farmers

No of Total amount of land
Group Families | owned and operated by
each group (in hectares)
P 30 300
Q 100 300
R 10 300
S 180 300
I. P 2. Q
3. R 4. S

Suppose Indian Farmers sell wheat at
Rs.50 per kg and the international price of
wheat is Rs. 40 per kg. what is the minimum
rate of import duty Government of India
must impose on imported wheat so that it
does not adversely affect Indian farmers in
the domestic market

1. 10%
2. 20%
3. 25%
4. 30%

47)

48)

49)

33 SN mw%smmq N2
TBOD BID T8
oDl méose a@m@wsm
e 30O IRVIRID
5@% MR TRRTID
Z030eR DEASIeY

35 NCDT &@e%ﬁ% TOWORRTOZ &8
FYNTHBTY ToFTesZ FORMOTT

L OonT 0 deew

2. e R TH '*’

3. 3R RN Oé@@w

4 Noéiram BB TOHD’

20T TYOPQILE Wiy T @R 1200
éécdomfo 3 z;fa;)ooﬁzszez 320 BEROWNEL
Sei28R0ntT T, ThoTNY JRF YN
Jedon 300U SRTONY  FITTN
TowsE [N, Ry T[Iwew GBS,
RRONTLHT MHoTT, ThTo 32

No of Total amount of land
Group o owned and operated by
Families .
each group (in hectares)
P 30 300
Q 100 300
R | 10 300
S 180 300
1. P 2. Q
3. R 4. S

RTSCON 8@536: SR. 50 ) WOST TeecHd
wno’oa‘&;os’ag TR. 4009n LowWd
é.z%.mac@osmoel TR0 TRBIMER 0T
PoQa, TEHLAH TRTIFLEORY  TeTIeoH
8é3®ﬁ 5536_69 TOFT NETROS 3WOHew
03T m%@oﬁo mda%égo:b RN Fedd
QRBWTTT 3T BT éaﬁoﬁmol e

1. 3e 10

2. 3e 20
3. 3e 25
4. 3e 30
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50) Ramappa in a farm produces 200 kg of 50) oot [E [[ERp IFY, wowd 2FS

wheat in one acre of land during every BREARY 200 F.28 ﬁ.@caoﬁa‘»& Seriaty
season one year his son joined him farming SRDOTE. 00T SHE 938 R
Reference to the above situation which of the POTVTRONY WTRROQN FeOBROTR..
following definitely indicates ‘Disguised

DT ﬁé’oﬁeéﬁé TOWORATAI B35 PN
. O3RN BOTLFTD ‘WTIPRT AVTRLN
1) Output remains at 200 kg 225368 P 5

4 -0

2) Outputincreased to 400 kg

Unemployment’

1) vzmEodn 200 3.230% Snwi

2) ©0ZBH0IN 400 $.23% LooITRR
3) suZEHoRD 300 8.2 DHoFc3TRN
4) @vZITI0IN 500 3.237 HOFOITTON

3) Outputincreased to 300 kg
4) Outputincreasedto 500 kg
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Answer Keys

Question
No

key

Question
No

key

Question
No

key

Question
No

key

Question
No

key

1 04 11 03 21 02 31 01 41 01
2 04 12 03 22 03 32 02 42 03
3 03 13 04 23 01 33 04 43 01
4 03 14 03 24 01 34 01 44 04
5 03 15 02 25 03 35 03 45 02
6 04 16 02 26 04 36 04 46 03
7 01 17 02 27 01 37 04 47 04
8 02 18 01 28 01 38 02 48 04
9 04 19 01 29 02 39 02 49 04
10 01 20 04 30 03 40 03 50 01
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1) The Latitude at which ‘Indira Point’ the
southern most point of India located is

1) 6°-45' North Latitude
2)8°-4' North Latitude
3)37°-6' North Latitude
4)7°-4' North Latitude

2) The neighbouring countries which share
border with India to the east are

1) Myanmar and Nepal

2) Bangladesh and Bhutan
3) Nepal and Bhutan

4) Bangladesh and Myanmar

3) Arrange the following mountain peaks in
decreasing order on the basis of their height

a) Mount Dhaulagiri
b) Mount Kanchanajunga

¢) Mount Everest

d) Mount Gurushikara
1)d, a, b and ¢ 2)a, ¢, b, and d
3)b, ¢, d and 4)d, b, a and ¢

4) Match the following and choose the correct
answer

A ‘B’
a) Himachal I. Nandadevi
b) Himadri II. Annamalai
c) Western Ghats III. Armakonda
d) Eastern Ghats IV. Darjeeling

1) II I III 1Y%
2) I II 1Y% II
3) v 1 II II

4) IV 1I I III
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5) Match the places with respective
temperature and rainfall and choose the

correct answer
Places Temperature/Rainfall
a) Ganganagar I. Heaviest rainfall
b) Ruyly I1. Highest temperature
¢) Mawsynram ITI. Lowest temperature
d) Dras I'V. Lowest rainfall
a b c d
1) I v I II
2) II v I I
3) I I II v
4) II v I I

6) The soil that formed by the decomposition

of organic matter is

1) Desert soil 2) Laterite soil
3) Mountain soil  4) Alluvial soil

7) The States that get heavy damage due to
tropical cyclones of Bay of Bengal are

1) Tamil Nadu, Andhrapradesh, Odisha

2) Kerala, Tamil Nadu, Andhrapradesh

3) Karnataka, Kerala, Tamil Nadu

4) Tamil Nadu, Andhra Pradesh, West Bengal

8) Match the states and the respective wild life
sanctuaries and choose the correct answer

A
a) Assam
b) Karnataka
c¢) Rajastan
d) West Bengal

a b
1) II v
2) v 11
3) I 111
4) 11 II

B
1. Rathambor
II. Dandeli
II1. Jaldapara
IV. Manas

I1I
I III
II v
IV I
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9) Choose the right group of West flowing rivers

10)

11)

of India

1) Ganga, Sindhu, Sutlej, Brahmaputra
2) Narmada, Sharavati, Kali, Tapi

3) Sharavathi, Tapi, Sindhu, Ganga

4) Brahmaputra, Mahanadi, Kosi, Bhadra

A method of farming in which a large
number of capital and labour are applied
for a unit ofland is

1) Plantation Farming  2) Intensive Farming

3) Humid Farming 4) Mixed Farming

Read the following statement and select the
correct answer

Assertion (A)lron ore is a ferrous metalic
mineral

Reason ( R) Odisha is the largest producer of

Iron ore in India

1) Both ‘A’ and ‘R’ are True and ‘R’ is the
correct explanation of ‘A’

2) ‘A’ is true but ‘R’ 1s false

3) Both ‘A’ and ‘R’ are True and ‘R’ is not the
correct explanation of ‘A’

4) ‘R’ is True but ‘A’ is false

12) Choose the correct group of minerals which

required for the generation of nuclear
energy

1) Uranium and Thorium
2) Sulphur and Potasium
3) Thorium and Potasium
4) Uranium and Sulphur

13) Choose the correct group of statements

which are correct with respect to energy
crisis in India

a) Poor quality of coal
b) Meager deposit and shortage of petroleum
¢) Increase the production of petroleum and coal

d) Limited use of non-conventional energy
resources

1) a, d, ¢ and b
3) a, d and b

2) b, ¢ and a
4) a, b and d
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14)

15)

Match column ‘A’ with column ‘B’ and
choose the correct answer

A B

a) Zaruki

International Airport 1. Hyderabad
b) Bijupatnaik

International Airport  II. Shillong
¢) Rajiv Gandhi

Interntional Airport III.Varanasi
d) Lal Bahadurshastri

International Airport  IV. Bhubaneswar
a b c d

1) IV 1 m I
2) I III IV 1I
3) II v 1 III
4) m I IV 1I

The oldest and still existing newspaper of
Indiais

1) India cronicle 2) The Bengal
gazette
3) Deccan Herald 4) Bombay
Samachar

16) The System which gathers information

17)

about the distance between two objects
without touching the objectis

1) Global position system

2) Global information system
3) Remote sensing Technology
4) Information Technology

Assertion (A) Mumbai is known as
Manchester of India’

Reason ( R) Mumbai is the most popular
center for cotton industries

Select correct option from the given
alternatives

1) Both ‘A’ and ‘R’ are true and ‘R’ is the
correct explanation of ‘A’

Both ‘A’ and ‘R’ are true and ‘R’ is not
the correct explanation of ‘A’

2)

3) ‘A’istruebut ‘R’is false

4) ‘R’istruebut ‘A’is false
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18) Choose the causes of floods

19)

20)

1) Heavy rainfall, claim air, highly saturated
air

2) Heavy rainfall, melting of snow silting
river bed

3) Construction of roads along rivers,
mining, Earthquake

4) Plates movements, volcanic eruption,
landslides

Choose the list of correct factors that
influence population distribution

1) Language, Region, Religion
2) Relationship, Government, culture
3) Interest of the people, society, Tradition

4) Physical features, climate, industries and
commerce

Match the international Airports indicated
as I, I, I, IV on the map of India with their
respective names

a) Indira Gandhi International Airport

b) Subhash Chandra Bose International
Airport

¢) RajivGnadhi International Airport

d) Chatrapati Shivaji International Airport
a b C d

1) I 111 II v

2) 1I I 11 v

3) 1 111 v 111

4) IV I I II
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21) Match column ‘A’ with column ‘B’ and

choose correct answer
colum ‘A’ column ‘B’
a) Mahanadi I. Traimbak
b) Tapi II. Amarakantak
¢) Narmada II1. Multai
d) Godavari I'V. Shiwaha
a b c d

1) v 111 II I

2) II I v I

3) v II I11 I

4) v 111 1 II

22) Match the following ports with their
respective features and choose the correct

23)

answer

Ports
a) Mumbai
b) Vishakapattana
c¢) Chennai
d) Kolkata

a b

1) I v
2) II 11
3) v 11
4) I II

Features

I. Tidal Port, requires
dredging

I1. Biggest and well
sheltered

II1. Deepest and Land
locked

IV. Oldest and artificial

c d
II I
v 1
I I
v il

The Article of Indian constitution which says
“Providing social Justice and people welfare is
the duty of the state government” is

1) Article-39
3) Article-21A

2) Article - 45
4) Article-51A
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24) Choose the group of statements which are

correct with respect to “features of social
stratification”

a) Social stratification is universal
b) Social stratification is globalized

c) Social stratification exists in different
ways

d) Social stratification is ancient
1) a, ¢c and b 2) a, ¢ and d
3) a, b and ¢ 4) b, ¢ and d

25) The British Government Act which

26)

27)

classified the untouchables and tribal
people as Scheduled Caste and Scheduled
Tribeis

1) The regulating Act of -1773

2) The Indian council Act of 1909

3) Indian Independence Act of 1947

4) Indian Government Act of 1935

The labours who are not receiving wages as
per “payment of Gratuity Act1971" are

a) Vegetable sellers

b) Construction workers
¢) Loading and unloading workers
d) Bank workers
I)a, c and d
3)a, b, c and d

2)a, b and ¢
4)b, d and a

Choose the group of correct answer with
respect to the remedial action for human
trafficking

a) Formation of Child Right Club
b) Organizing children grama sabha
c) Apppointing Panchayat Board

d) Formation of Balika sangha

2)band donly
4)a,band d

I)a anddonly
3)a,b and ¢
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28) Match column ‘A’ with column “B’ and

choose correct answer

column ‘A’ Column ‘B

a) Immoral Human trafficking
prevention Act I. 1961

b) Child marriage prohibition II. 1956
Act

c¢) Indian signatory of child  IIL. 2006
rights convention of UN

d) Dowry prohibition Act IV. 1992

a b ¢ d
h mor v 1 1

2) 1V 1 I 1I
3) o 1ar v oI
4) IV 1I I I

29) The lagoons that formed in the east coastal
plains are

1) Lake Nal, Lake Dal, Lake puLicate

2) Lake Chilka, Lake kolleru, Lake pulicate
3) Lake Kolleru, Lake Chilka, Lake Nal

4) Lake Dal, Lake publicat, Lake sambar

30) In the beginning of October South-West
monsoon winds begin to retreat because

1) High pressure on the land and low
pressure in Bay of Bengal

2) High temperature on the land and High
pressure in Bay of Bengal

3) Low pressure on the land and low pressure
in Bay of Bengal

4) Low pressure on land and high pressure in
Bay of Bengal

31) The Himalayan river systems which
deposit Alluvial soil in Northern plain are

1) The Indus, The Kosi, The Brahmaputra
2) The Ganga, The Sutlej, The Indus

3) The Ganga, The Indus, The Kosi

4) The Indus, The Ganga, The Brahmaputra
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32) Choose the correct vulnerable species in

the following

1) Andaman wild pig, Nicobar pigeon,
Arunachal pradesh Mithun.

2) Himalayan brown bear, wild Asiatic
buffalo, desert fox,

3) Blue sheep, Asiatic elephant, Gangetic
dolphin

4) Indian wild Ass, Indian Rhino, Black buck

33) Identify the non ferrous mineral group

34)

35)

36)

1) Bauxite, Lead, Copper, Zinc

2) Gold, Manganese, Iron, Bauxite

3) Bauxite, Copper, Manganese, Silver
4) TIron, Gold, Manganese, Copper

Choose the right arrangement of Mountain
ranges of India from North to South

1) Vindhyas, Satpura Hills, Aravalli Ranges,
Westerm Ghats

2) Aravalli Ranges, Vindhy Ranges, Satpura
Hills, Western Ghats

3) Western Ghats, Aravalli ranges, Satpura
Hills, Vindhya Ranges

4) Aravalli Ranges, Vindhya Ranges,
Western Ghats, Satpura Hills

Which one of the following factors are

causes for child labour

1) Child marriage, children trafficking,
agricultural crisis

2) Illiteracy, Hunger, poverty,
unemployment

3) Gender discrimination, Failure to
implement compulsory education, parents
attitudes

4) The policy of Government, lack of
literacy, parents negligence, migration

The major ports that located on the west
coast of India are

1) Paradeep, khandla, Tuticorn, Kochi

2) Kochi, Haldia, Navasheva, chennai

3) Khandla, Murmagoa, kochi, mumbai

4) Vishakapattanam, mumbai, ennora, haldia
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37) Choose the multipurpose river valley
projects of Karnataka

1) Tungabhadra project,Upperkrishna project
2) Bhakranangal project, Kosi project
3) Hirakud project, Damodar project

4) Nagarjuna sagar projectt, Narmada
project

38) Choose the two types of subsistence

farming in the following

1) Commercial Farming - Mixed Farming
2) Plantation Farming - Dry Farming

3) Humid Farming - Intensive Farming
4) Shifting Farming - sedentary Farming

39) The crops that grown in Jaid crops season

are
1) cotton, rice , wheat, barley

2) watermelon, cucumber, oil seeds,
vegetables

3) Jowar, ragi, tobacco, wheat
4) gram, linseed, groundnut, rice

40) Read the following statement and select the
correct option

Assertion (A) A Collection of people
assembled at particular interest without any
prior planis called ‘Mob’

Reason ( R) when the behavior of mob turns
violent, itis called ‘mob violence’

1) Both ‘A’ and ‘R’ True and ‘R’ is the correct
explanation of ‘A’

2) Both ‘A’ and ‘R’ True and ‘R’ is not the
correct explanation of ‘A’

3) ‘A’is True but ‘R’is false
4) ‘R’is True but ‘A’ is false
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37) 3RFWEE QOWRTS IN 33T CdReERATI,

e:soSa& WrlE)

L S0n-533, Srews,3FE Boew o o3nes

2. 3OT) TPOTRS® 03RERT—BRCR O3ReE

3. HTORT CIRCBRI— TORBT ST
o30S

4, TOMOWIFT  AONT  O3RCRI—T=0FT0
o300

38) FNSYNSY WeTTOH0Z WemoHT AT
DR, 8ol SRR
1) soedes, edemood — 3o e3emooDd
2) SEOBRET 23eTOD — 2060 3RO
3) STF BeTOD — AOT L3eTOOD
4) IoF =T L3eTOD —%C)pd Bemoon

39) e B¢ IHIATY VLT Wend
1) T8, 8, need, IF
2) 3LOMA, TPBTVCW, DFFWCBND, TTFOO
3) Xeey, ToN, BOWRR, RREY
4) 3®S, DoONR, JoNES, L

40) 3: 3SNT Jewdodsy, LOO W TOCIRT

e-.‘?os%osmo‘;l 302

TETRTS (A) BRPTe BRTE o8RRI
Q@d 2,00 SREOH W 333 zﬁméoﬁam
zssmozﬁ’ @33 sda

2033 (R) =3 @vodod
BIFFODT), VROV’ DTFII

1) ‘A" & ‘R’ 20@Ee 30 ©338 ‘R A3
Bo03IT DBTHOIONGS

2) ‘A’ 3 ‘R’ 20E» 70 @35 R’ A’
FO0IRT HWOHIRNY

3) ‘A’ %0 =38 ‘R’ 3

4) ‘R’ %0 ©33 ‘A’ 3

aoomées
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41) Inrecentyears the challenges that faced by

the unorganized workers are

1) Migration, social insecurity, physical and
mental harassment

2) Legal frame work, social security, meager
income

3) Health, education, legal support
4) Job security, health facility, poverty

42) The important valleys that appear in lesser

Himalayas

1) Shimla, Nainital, Ranikhet, Darjeeling

2) Pirpanjal, Dhauldhar, Naga Tiba, Mahabharata
3)Kashmir, Kangra, Manali, Kulu

4) Makalu, Nanda devi, Daulagiri, Kanjanajunga

43) Identify the tributaries of River Indus

1) Yamuna, Ghagra, Ramaganga, Gomati
2) Bhadra, Bhima, Ghataprabha, koyna
3) Shimla, kapila, Arkavati, Hemavati

4) Jelum, Beas, Sutlej, Ravi

44) Choose the major earthquake zones of India

1) Himalayan zone, Peninsula zone, Coastal zone
2) Islands zone, central zone, coastal zone

3) The peninsula zone, Northern plain zone,
Deccan zone

4) The Himalayan zone, The peninsula zone, The
Indo Gangetic zone
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45) The Latitudes that drawn on the map of
India are

37°-6'

8°- 4'

1) 8°-4' North Latitude and 37°-6' South
Latitude

2) 8°-4' North Latitude and 37°-6' North
Latitude

3) 8°-4' South Latitude and 37°-6' North
Latitude

4) 8°-4' South Latitude and 37°-6' South
Latitude

46) Identify the group of hydel-power
generating stations in Odisha State

1) Hirakud, Balimela, Rengali, Bhimkud

2) Iddikki, Sabargiri, Pallivasal, Parambi
Kulam

3) Shivana Samudra, Sharavati, Kali,
Lingana Makki

4) Metturu, Paikara, Papanasanom, Kodayar
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45) 1T FEODHY THTILHE W 0T

37°-6'

8°- 4'

1. 8°-4° emgd @6305 m?% 37°-6" wgea
@3305

2. 8°-4° erugd e%gos 533330 37°-6’ em%d
@%305

3. 8°-4 cjﬁsa @%305 m@g 37°-6’ emgd
@%305

4, 8°-4° cjghsa @%305 m@g 37°-6" wzzsa
@3305

46) %WRZ TOHT BOIWUST LTI FOTRY
TOOTRY, T2

1) &TORT, LI, TOMRD, YETBOT®
2) 2ags, FWT® NO, VYRS, TTHORBLO
3) d[TFIB/NT, Foow3, 599, YONTIY,

4) LR, ﬁe@d, TRTJORO, BRTWOZDT®
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47) Read the following statement and select

the correct answer

Assertion (A) The life expectancy of female
is always more than male

Reason ( R) Children mortality rate is more
among girl children

1) Both ‘A’ and ‘R’ are true and ‘R’ is the
correct explanation of ‘A’

2) ‘A’is true but ‘R’ is False
3) ‘R’is true but ‘A’ is False

4) Both ‘A’ and ‘R’ are true but ‘R’ is not the
correct explanation of ‘A’

48) Read the following statement and select the

correct answer

Assertion (A)In recent years the practice of
untouchablity if reduced at high extent

Reason ( R) “Civil Rights Protection Act” was
implemented

1) ‘A’istruebut ‘R’is False
2) Both ‘A’ and ‘R’ are true and ‘R’ is not the
correctexplanation of ‘A’

3) Both ‘A’ and ‘R’ are true but ‘R’ is not the
correct explanation of ‘A’

4) ‘R’istrue but ‘A’is False
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47) 33 IYNS TePINTR, LOO T TOCRT

emgddsa& 3020
TETRTS (A) DRRONOT N&WFONT
ReNTT WY ﬁ?ﬁ%ﬂd,
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3) ‘R’ %0 &38 ‘A’ 3
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Answer key

Quﬁstion key Qur:cs)tion key Quﬁstion key Q‘ﬁ?“” key Quﬁzﬁon key
1 1 11 3 21 1 31 4 41 1
2 3 12 1 22 2 32 3 42 3
3 1 13 4 23 1 33 1 43 41
4 3 14 3 24 2 34 2 44 2
5 4 15 4 25 4 35 1 45 2
6 3 16 3 26 2 36 3 46 1
7 11 17 1 27 4 37 1 47 4
8 2 18 2 28 3 38 2 43 3
9 2 19 4 29 2 39 2
10 2 20 3 30 1 40 2
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)

2)

3)

4)

5)

MATHEMATICS - ned3

The value after subtracting the sum of
first n - natural numbers from sum of
their first (n -1) natural numbers is

)1+n 2)-1+n
3)n 4)—-n
. b-c
Ifa,b,c areinanAPthen — "~ _
a-b
1)1 2)0
b c
3) e 4) P

a, b, ¢ are in Arithmetic progression.
b+

If the value of ? =x and 2 =%

then the value of (x+y) is
1) 2a
3) 2(a+ D)

2) 2b
42 (b+c)

Two Ap’s have the same common
difference. The difference between their
1000th terms is 100. The difference
between their 99th term is

1) 0 2)2
3) 100 4)1000

The 8th term of an Arithmetic progre-
ssion is zero. The ratio between its 38th
term to 18th term is

1) 1:2
3) 1:3

2)3:1
4)2:1
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1y

2)

3)

4)

5)

SRTWO n mdmas zfoa:"ém'f mgwm&

(n -1) mERIF FoLdne SeINow PN
WL YOIT.

1)1+n
3)n

2)—1+n
4)—n

a, b, ¢ e X=P03S BRAHOTS, wnt D0

a-b
1 2)0
b c
3) a 4) a

atb_

a,b, e 2RROIS Frpow Y. L3

b+c¢

Sy 5 =y eds (x+y) s B3
1) 2a 2)2b
3) 2(a+b) 4)2(b+c)

AT BRROIT FeRRY WTPF, FFTX 2,083
SNW. @B oJYnd 10003 IINY SRIS
[I/IRY 100 «nT, ePrd 997 I[N
SRIT FFoX.

1) 0
3) 100

2) 2
4) 1000

AZPo3T BeRoh 8 IW  ReZ 0NN,

Somund 383¢ aﬂd&aé 183¢ aﬁd&raé _THT
ORTS.

1)1:2 2)3:1

3) 1:3 4)2:1
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6) Statementl : 0.2, 0.22, 0.222 ....... is an 6) Bewd I : 02, 022, 0.222.. 2,00
example for Arithmatic progression XR7033 BeRCIPRNG. 530 mmaﬁ 56@63
because difference is constant. 5, 0NE.
P
Statemenf: Ilzgli s;lm of first n-natural Beod 11: S50 N - xR0 To g% el
numbers is ( > ) 203 (nz ;_ n) .y
1) I-True &II-False 1) I-%0 &3y [[-3T
2) I-True &11-True 2) 1-80 & M- 30
3) I-False &II-False 3) 1-3x 3 I1- 3D
4) I-False &II-True 4) I- 3= =3 I1- %0
7) Which term of an Arithmetic 7) n=50030 g@@ 131, 127, 123................ 3302,
progression 131, 127, 123....... is the AR TTRY, BTV 9ed Wo3CIRNT ?
first negative term ?
1) 32 2) 33 1) 32 2) 33
3) 34 4) 35 3) 34 4) 35
8) Adiceis thrown once. The probability of 8) TRYERY, 2OW WO UTTRNT. BT VAR
getting an odd prime number is %083, shed WIHR BogREReDHI
1 1 1 1
D3 2 3 D 72 2 3
1 1 1 1
3) < 4 3) % DG
9) If the sum to n-terms of an Arithmetic 9) XIS FeRod N-IBAYIBNT IeT
progression is n(n+2) then the common n(n+2) <538 mmgﬁ 32_)3365
differenceis
N1 2 2 ) 1 2) 2
3) 3 4) 4 3) 3 4) 4
10) The sum of first 13 terms of an 10) x=R03T JeRodh 7N [EPH 40 LT3, JeROD

Arithmetic progression of which 7th
termis 40 is

1) 520
3) 255

2) 502
4) 250
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11) Inan Arithmetic progression5,1,-3...... 11) 330088 FROHY 5, 1, =3 oo, )
the rank of -123 term is ~1238 |mSP
D1 2) 32 1) 1 2) 32
3) 33 4) 34 3) 33 1 34
12) If the ratio of the sums of the first m and 12) 8F003T BeRod INRTO m FZY, n

the first n - terms of an Arithmetic
progression is m?: n? then the ratio of
the mz# and nzh term is

D) (m+1):(m+1)
2) 2m-1): (2n-1)

3)(m-1):(n—-1)
4) 2m+1):(2n+1)

13) Four coins are tossed. The chance of

getting all the four heads is
1
1) 2) ¢

3)

o|— W

1
4y 2
)16

14) Six alternative answers are given for a
question of which two answers are
correct. The probability that a student

ticks the two correct answers is

1 1
b 15 2) 6

1 1
3) 3 4) >
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IBRYICNT [eInY oDTWSPH m® : n’

<TC R0 m e By n e IFAY SBIS
ORI

1) (m+1):(m+1)
2) 2m-1): (2n-1)
3) (m-1):(n—-1)
4) 2m+1):(2n+1)

13) 2.0%H TOREERY, Tow), PO WRHSNTW. HTP
ROBPFTOR Tow), BTN shed WIT WH3I.

ny 3 2 L
)4 )6

1 1
3 = 4y 2
)8 )16

14) wom HIR s I wod, wwIonYRy,

JRBUINT. OPYNYY ITHE LWITNW

Roc3eN. Tomws am@?o&o AT

R003RE PoITHR, TSRS HoggHRehS
1 1

D 15 2%

3y L 4 1

) 3 ) 5




NTSE - SAT MATHS

15) The true statement among following is 15) 39NIJnQ TOIRT Bewd

StatementI : 0< P(E)<1 Bewd 1: 0< P(E)<1

Statement Il : P(E)+ P (E) =1 Bewd I1: P(E)+P(E)=1

1) I and II are false D T == I3,

2) I and I are true 2) I &2 1T 5o

3) I true and II false 3) 130 &3y I 3=
4) I false and II true 4) 1 3= =3 11 3o

16) Theprobability of getting 53 fridaysina | 16) ©&3% IRFIQ 53 BoTzR0 2080 Bogg=RecH3
leap year is
Py )

7 2
1) ) 7

o

3) 4) %

N
\1|m \l|l\)

3)

17) Two dices are thrown simultaneously | 17) STE TRERRY Fbwen W GG, i ed

the probability of getting a doublet is 2T Fosdfieh BRRNTRNhS Bog@Reohd
5 1 S5 1

D 36 2 12 D 36 2 12

2 D % ) 9L

18) A jar contains 24 marbles, some are | 18) %0 RRFVY VRT 24 ReeORYY O

green and others are blue. If a marble is T DT ORH  VeOBPNT. 2ROJCT
drawn at random from the jar, the 20t Reedady, 3men, Bath Reed wabE
probability drawing green is given as Rog=Deoh3 % $R8  PRIODI Jed
%, then the number of blue marbles in Reeons 30935
that jaris

1) 8 2) 16
1) 8 2) 16

3) 24 4) 48 3) 24 4) 48
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19) Two coins tossed simultaneously. The
probability of getting at least one head is

1) 2)

3) 4)

BN A~
NG N N (3N

20) The decimal representation of % will
be

1) terminating
2) non-terminating
3) non-terminating repeating

4) non-terminating non-repeating

21) If(n2-1)is divisible by 8, then nis
1) An integer
2) A natural number

3) An odd natural number
4) An even natural

22) If ‘m’ is some integer, then the square
of any positive integer is of the form

1)3mor 3m+1
2)3mor3m -1
3)3m+1or3m-1
4)3mor3m+2

23) The decimal number 2.317317317 .........

in the form% (wherep, q € I and
q=0) is
1) 2315 2) 2315
900 999
3 2317 4 817

900 999

19) e QO mwgwag aaabemnd. BY
20T BT eSS WHE BoPINeoHhS

) 2)

3) 4)

N[N N e
ENJN NG N [08}

20) 1o05 Rosdedh GBEROB AT DFR
1) ©oZRRWNJ
2) eﬂoséﬁm%@do@m

3) @osém%w Clale
TITOTBE R OSTONTITY T

4) ©O3RAYE TRTVBIFIRAYE
BT

21) (n? -1) c3x 8’ 0o PNTVEC @R Xoss n
20T

1) Zpworos

2) mRERiE MO,

3) 837 ARERRT B0,
4) R AEODT FOA,

22) WO ‘m’ JpFrod xoa%omdd', od)de
S TRBFOTRE Rne SRTR)

1)3m egge 3m+1
2) 3m gz 3m-1

3)3m+ 1 gm0 3m-1
4)3m ezk=m0 3m+2

23) 2317317317 oo dganos Xosdoh P
dem (p,q € I mone q=0) 1
1) 2315 2) 2315
900 999
3 2317 5 2317
) %500 ) 999
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24)

25)

26)

27)

Which of the following pair of numbers
is co-prime ?

1) 9& 12 2) 14&21

3) 39 & 65 4) 6 &35

Choose the correct one in the following .
Statement I - The product of HCF and
LCM of any two numbers is same as
product of given two numbers.

Statements I1: The product of HCF and
LCM of any three numbers is not equal
to product of given three numbers.

1) I-True & II -True
2) I - True & II -False
3) I - False & II- False
4)1-F false & II - True

a and b are two real number. The

relationab =a \b is

1) Alwaystrue

2) Nevertrue

3) True when aandb are positive

4) True when any one of a or b is
negative

If the 4 cm cube is cut into 1 cm cubes,
then the ratio of the surface area of all
small cubes to that of the large cube.

1) 4:1 2) 1:4
3) 2:1 4)1:2
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24) B FIINIYNYY BRI zs—wamuﬁ
xoﬁsﬁ%hd.

) 9&l2 2) 14 & 21

3) 39&65 4) 6 &35

25) ROCIRT Bews wcdh, TRR.

Bewd - [ 20D Dofnd Dmw. DI
OMONY THRVRT), & BosdnY oo
BTRNTLHFTD.

Rewd - II Rt Rodned H.mw.e. DI
VMY THIVWY) © zoassm rbswzg;g
RHTNTHZS.

1) %0 a3y I1- RO
2) 130 @3 II- 3
3) -3 B II- 3
4) 13z, &3 II- %0

26) a =933 b Ny IT #oa:?ﬁn‘fa’a en
\/ab = +/a \b& Bowogy
1) cdwaenww RO
2) cimwenee 3T
3) a3 b Rw FRROSRNTT, ©n
QTR0

4) a ©g b RYcRE3G .0 :)3)9@:30335
neoNgo

27) 4 cm ©0H YOOI a,'s'aswab 1 cm @0 [N
PSnwon sFOXLNT. em NVOERT DR ass
TN a’o& R PRI d:cd &)~esar71s*
BORHTOIH)

1) 41 2) 1:4

3) 21 4) 1:2
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28) The area of three adjacent faces of a
cuboid are a,b and c. Ifits volumeis V
then the value V2 is

1)+/abc 2) a’b’c?
3) abc 4) abc
2

29) If the radius of the base of a right
circular cylinder is halved, keeping the
height same. then the ratio of the

volume of the reduced cylinder to that

of the original one is
1) 4:1 2) 14
3) 1:2 4) 2:1

30 20 m deep well with diameter 7 m is dug
and the earth from digging is spread
evenly to form a platform of 22m x 14m,

the height of the platform is

)5m  2)4m  3)3.5m  4)25m

31) A cone and a hemisphere have equal
bases and equal volumes. The ratio of
heights of cone to hemisphere is

1)2:1 2)1:2 3)4:1 4)1:4
32) The largest sphere is carved out of a
cube of side 7 cm. The volume of the
spherein cm®is
1) 1775.0 2) 1795
10
3) 1795 4) 1795.5
100
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28) a, b I ¢ W TN DEEITRTHT
03 PG PPV Vemsd V2 338

1)+abc 2) a?b*c?
3) abc 4) abc
2

29) 00> 3O0ROT 58‘5““11 e.-:z;‘r% }92,
DITIFY, WTSRONLY. TeTT FRTOIRT
200RO8 WP e 200ROZ PIPURY
OTRID).

1) 4:1
3) 1:2

2) 1:4
4 2:1

30) 20m @¢ TERR Tm RAIDE FeUN

LRR0LOT WO m%asad 3R 22m x 14m,
oY3 Qo =od xa’asw&;n TCBRNT.
TR 3 BTNT eagd.

1)Sm 2)4m

3)3.5m  4)2.5m

31) 3o I WPFRASAD DT T DR
[eHoen Eﬁ'aﬁvﬂﬂ?&d BroNH. mud
o I WPFRAYT HTTNY ODHIRS.

1) 2:1 2) 1:2 3) 41 4) L4

32) 7 cm 0 YHOHT PSOOTW .0TH @3603 c&rar:g
mwasmd SBeRNE. TOMTS T3l ReeYs

FIFOF cm® RS,

1) 1775.0 2) 1795
10
3) 1795 4) 1795.5
100
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33) If TSA and volume of sphere are same,

then its radius is
D3 2) 3
3)V6 4) 6
34) A sphere of radius 8 cm is melted and

recast into a right circular cone of
height 32 cm. The radius of the base of

the coneis
1) 4cm 2) 8cm
3)16 cm 4) 32 cm

35) The number of lead balls, each of radius
1 cm that can be made by melting a

sphere whose radius is 8 cm is

1) 1024 2) 256
3)324 4) 512
36) Match the following

SURFACE ARA VOLUME
1) Cone a) % o
i) Cylinder b) m¥h
2
iii) Sphere c) 3 ™
iv) Hemisphere d) % mxh

e) % 'S
1) i- ii-a iii-b iv-c
2) i- ii-e ii-d iv-a
3) i- ii-b iii-a iv-c
4) i- ii-d iii-e iv-a
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33) Reeddmd el Qperer By FIFORD
RNTIT &N TS W)

) V3
3) V6

34) 8cm $HEATHT ReeISY, 3SNL 8033 32 cm
QBOIHT ST BoBTRY,  TURTOWID.

MBS CUAR ORI TWT &%,
1) 4cm 2) 8cm
3)16cm 4) 32cm

35) 8cm  3xATOT ReedIN, FONL lem
SWAOE  2exE Reednn  [OBSraTen,
GVOETRTDS MO 2¢xT Reedns Bosd

1) 1024 2) 256
3)324 4) 512
36) BRoD WS0WO.
g PSP
) Zo® ) 3w
*h

ii) om0k b) ™

c) % oy
iii) Reeg

d) % nyth
1v) og@eiieey

e) % s
1) i-d ii-a iii-b iv- ¢
2) i-b ii-e  iii-d iv-a
3) i-d ii-b iii-a iv-c
4) i-b ii-d iii-e iv-a
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37) A cone is cut into two parts by a
horizontal plane passing through the
mid-point of the axis. The ratio of the
volumes of the upper part and given
coneis

D12 214 318 416

38) The median of the observations 46, 64,
87, 41, 58, 77, 35, 90, 55, 92, 33 after

replacing 92 by 99 and 41 by 43 is

)55 2)58 364 471

39) The mean of 13.5, x and 15.5 is 16.0

then the value of x is
1)17.5
3) 18.5

2) 18
419

40) The average score of girls in class X
examination in a school is 73 and that of
boys is 71. The average score in class X
examination in that school is 71.8. The
percentage of girls and boys in class X of

the school are respectively.
1) 40% and 60% 2) 60% and 40%
3) 45% and 65% 4) 65% and 45%

41) The mean of height of 15 students is 154
cm It is found later on that while
calculating the mean the reading 175
cm was wrongly read as 145 cm. The

correct mean of heightin cm is

1)144 2) 154 3)156  4) 161

110

37) .08 BoBTTY, T, WRoITTN BOSTN

wgd woz:ﬁdeg, sgoRoenyd.  ©n e-:%éo:b
d:ce:%ﬁ T B3 BoBAT FsFons
T2

1)1:2 2) 1:4 3)1:8 4)1:6

38) 46, 64, 87, 41, 58, 77, 35, 90, 55, 92, 33 &3
m‘oﬁﬁmg 92“’4 99 HOTH T 42 5’4 43
DOTY TP WTIT xosfsn’v’

d::;%os@

1)55  2) 58 3)64 471

39) 135, x DI 15.5 81 5033571%? Xoex0 16.0
&n8 8BS,

1)17.5 2) 18
3)18.5 4)19
40) .00 ZoBod 103¢ STRA0H TDWNCHT

NPT oINS TR0 73 Tone TN
YAl ©oEny XNTEROoID 71. 3 ITNSO®
24338 BoRZOA3N 71.8 ST, TrdNaDHThy ey
RS Bosd| BesRIY Fhaven

1) 40% o 60%  2) 60% Tomd 40%

3) 45% ToTH 65%  4)  65% Tord 45%

41) 15 &méafrﬁ? QIoNE XoeXO 154 cm S8

RNOPROODTY, TFOWMLRINT FoWFFTQ
175 cm &3 145 cm 20w TN
3"7?:3:8.@%0@03:33. TMTS HTTNY TOSRT
BoeRO cmnv

1)144  2)154  3)156  4)161
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42) If the frequencies of the numbers 10, 15,
20 are 5, 6, 9 respectively, then their
mean is

115 2) 16 )17 4)18

43) The average of ten numbers is 40. If the
average of the first 5 number is 36 then

the average of the remaining numbers is
1) 38 2) 40 3)42 4) 44

44) The perimeter of an arc which is form a
circle is 77 cm and slant height is 20 cm,
then the lateral surface area of cone

formed by folding the given figure is

1) 385 cm? 2) 770 cm?

3) 1540 cm? 4) 4840 cm?

45) In a given figure radius of cylinder and
hemisphere is 3.5 cm and height is
15 cm. The difference between volume

of sphere and cylinder is formed by

joining hemisphere.
=
S
\_
1) 2—4 cm? 2) % cm?
3)385 . 4) 539
3 cm 3 cm?

1M1

42) 10, 15, 20 moZne R 3nieh F=vawn 5, 6, 9
3038, W)Y BTIBO3N

)15 2) 16 317 4)18

43) T Hose oUROKD 40, LYY BRTV
5 Hosiie HoeRO 36 TS even Toaine
RoRO0%0
1)38  2)40

D42 4)44

44) ST, LVOOTREHDT  TOXI IS 77 em

B w8 T 20 cm SNTW. B ST I30WOW
TeBsm F0BAN TeIF Foed ; DL

1)385cm? 2) 770 cm?

3) 1540 cm? 4) 4840 cm?

45) u¥3RY 20c02THT q?m%éo:bg epriecy

Terh A00TON Jpnieh 3.5 cm ©F3oH 23T

15 cm =338 esz;rmwm;m& Bedaon
QOERTHE Reee DY 200BOT PFoRY

£

-
N_
1) 4:')’—4 cm? 2) 88 cm?
385 539
3) 3 cm? 4) 3 cm?
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46) Raj planned to purchase a mobile phone
for ¥15,025 in instalment without
interest. If he is paying first month
31500, second month I1450, third
month 31400 and so on, after paying 11
months the remaining balance amount
he has to pay is.

1)%1275
3) 71300

2) 1200
4) T 1375

47) If mean of a, b, c is ‘P’ and ab+bc=— ca,

the mean of a?, b?, c?is

1) p* 2) 3p
3) 6p* 4) 9p*

48) If the three sides of a right angles

triangle are in AP, the ratio of these
sides is

1)3:4:5
3)1:1:42

2) 5:12:13
4H1: 2 :\3

49) Which one of the following is not an

example for an A.P.

1) a+ 8/b, a+5Vb,
2) V2, N8, 18, 32,
1
3) 2 ’ ]-7
4) -3,

1

2 2
50) Abag contains 5 white, 7 red, 4 black
and 2 blue balls. One ball is drawn at
random from the bag. The probability

that the ball drawn is neither white nor
black is

1) 1:4
3) 1:3

2) 1:6
4 1:2

112

46) coers 15,025 noR [eRet FeeIW,
oSwR)se uaéo&md BT 30RY DOeLTLD
c3RcTRh. XD IS onsd 1500,
NOBS  Sonsh  T1450, Heote  Sonsh

71400 &R RootHToams».  113¢ Sones
N03T YOO L0F BEY.

1?1275
3)%1300

2) ¥1200
4) T1375

47) a,b, ¢ N WoeTO ‘P’ & ab + be = -ca,

s@d a2, b?, ¢ nY Boex0.

1)p?
3) 6p*

2) 3p*
4) 9p

48) ©OWERLT ST THRT WRTND BR503T
BeRoNYR. TMRT OJYNY WTNY
ORI
1)3:4:5
3)1: 12

2) 5:12:13
4) 1: V2 3

49) ISNSJYNYY BRI IIR0IT IR
NTOBTHOING.

1) a+ 8Vb, a+5+b, a+3 b,
2) \/7: -\jga \I1_89 \I3_2,
3) 5.1 11

50) ot WNTRY 5 we, 7 O, 4 ITT, DR
2 Qe utgcs Bornwss. womwd zé‘ozzaael
ossacgzg')omn 2nodheoend. Rohent Bom
D OFPTD IZ, zatgcr%nd:w BoRRACoH B30

1) 1:4
3) 1:3

2) 1:6
4) 1:2
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51)

52)

53)

54)

A cubic polynomial with sum of its
zeroes, sum of the product of its zeroes
taken two at a time and the product of
its zeroes as - 4,7, -9 respectively is

1)z*-422+7z+9
2)z*+4z>-7z-9
3)22+4z22+ 72+ 9

4)z3-4z2-T7z -9

If sum of the product of zeroes of the
polynomial p (x) =4x3 - x2 - 3tx + 2 taken
two at a time is -9, then the valueof t is

1)+3
2)-12
3)-3

4) +12

If one zero of the polynomial
f (x) = (k*+ 4)x>+ 13x + 4k is reciprocal
of the other, then k isequalto

1)2
2) -2
3) 1
4)-1

If ‘m’ and ‘n’ are the roots of the
quadratic equation x> + zx + 8 = 0 with
condition (m -n) =2, then the value of ‘z’
is

1+8 2)+6

R) =] 4H+7

113

51) womh FR wmmneescd eFInY Ne3,
OTASW  BRFINY TorovRRY S D

B3eT3ne mt'ae:a%aj) wen -4,7,-9 «nd
& P WRTRRLICID

1)z3-4z2+7z+9
2)z2+47*-7z-9
3)22+4z>+7z+9

4)73-47%-72-9

52) p (x) = 4x° - x* - 3tx + 2 WR>ITWVRCIOH
OTESR  BRFINY vy RXedy -9
Slalel SRALL

1)+3
2)-12
3)-3
4)+12

53) f ()= (k2 +4)x® + 13x + 4K LRoTRRed0H
O BB a%s 03 ‘a&a‘zou’o ) 363033
3o k o

) 2
2) -2
3) 1

4) -1

54) ‘m’ Y ‘n’ AYy JINF WTITBwee
x*+zx+8=0 1S BegInwen, (m - n) =2,
DO DWOPN BROZT ‘2’ & LS

1)+8 2)+6
3)+5 4)+7
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55)

56)

57)

58)

If sum of all zeroes of the polynomial
3m?- (4 +K) m + 5 is zero, then zeroes of
the polynomial 2m?-3 (k+6) m-20 are

1)-2,5 2)2,5
3)4,5 4)5,4

If ‘> and ‘b’ are the zeroes of the
polynomial f(x)=x2>+t (x—1)—c,then
(a-1)(b-1)isequal to

Dc

2)c—-1
3)1+c
41-c

A rectangular flower garden of length
(2x*+ 5x* + 7) m has the perimeter,
(6x* + 4x? - 2) m. The breadth of the
garden in meters is

1) (* - 3x2 + 8)
2) Bx2+2x +6)
3) (0 + 5x2 + x)
4) (2 —x>+5)

For (x*>+2x+5) to be a factor of
(x*+ px* + q), the values of p and q
should respectively be

1) 25,8
2) 8,25
3)6, 25
4)25, 6

114

55) 3m*> - (4 + k) m + 5 wzTRecdon

QOY s‘.raa‘sa"n‘ea’ IpeTI Iw wﬁmdd‘,
2m*-3 (k+6)m-20 2z ecsod ZRFIND

1)-2,5
3)-4,5

2)2,5
4)5,4

56) ‘a’ =3 ‘b’ R f(X) = 22 + t (x-1)-c,

WEsTHRRe30H BRRINTHES (@ - 1) (b - 1)
3 238

)c

2) c-1
3) 1+c¢
4) 1-c

57) (6x° + 4x? - 2) ewic® HIVE BRoDT

B030TVTTT  WOWY JBRITNLCVT emu;

(2x® + 5x% + T) oewdvt =$us, OEs Wne
(SoetTTnRYY)

1) (x®-3x2+8)
2)(3x2+2x+6)
3) (3 +5x%+x)

4) (¢ —x2+5)

58) wab@BRey (X+ 2x + 5) o (X px® + q),

S eTSIFITNBRGS, p DI, q BSod
Lseh
1) 25,8
2)8,25
3)6, 25
4)25, 6




NTSE - SAT

MATHS

59)

60)

61)

62)

If 1 and -1 are the zeroes of the
polynomial A x'+ Bx® + Cx? + Dx + E,
then the values of

i) A+C+E
i) B +D
iii) B®+D? respectively are

® (i) (iii)
1) 1 -1 1
2) 0 0 0
3) 1 1 1
4) 1 0 0

If the polynomial x*+x3+8x2+ ax-+bis
exactly divisible by x> +1, then the roots
of ax? +bx+6are

12,5 2)3,-4
3)-2, 5 4)-1,-6

If (3, 2) is the solution of the equation
3x - ky =S5, then the value of k is

D1 2) 4
3) 3 4) 2

The present age of a father is equal to
the sum of the ages of his 5 children. 12
years hence, the sum of the ages of his
children will be twice the age of their
father. The present age of father (in
years) is

1) 36 2) 42
3) 34 4) 46

115

59) 1 @3 -1%3 Ax+Bx*+Cx?+Dx+E
WTTRRCID BRTINTTT, WSTLTN

i) A+C+E
i) B +D
iii) B*+D? ni¢ 8

@ (i) (iii)
1) 1 -1 1
2) 0 0 0
3) 1 1 1
4) 1 0 0

60) wEoTBeed  x*+ x* + 8x% + ax th A
2+ 1) dom =oZeearson zpanzgééd,
ax +bx+6 S Zeg3ne:

1) 2,5 2) 3,4
3)-2,5 4)-1,-6

61) (3,2) vx SneRwesssd 3x - ky =5 @508
ROTB kS 330k

D1 2) 4
3) 3 4y 2

62) w2 IoTcd BN T[obD OB 5 DY
Sobxone R2egg BHTRNT. 12 SRene 8o,
RN S SobMmRY ey odked [obas
QTFOTWBRIT. FoBoH BN [ODEY,
(RIInYY)

1) 36 2) 42
3) 34 4) 46
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63)

64)

65)

66)

If the pair of equation kx — Sy -2 =0,
6x + 2y = 7 has no solution, then the
value of k is

1) +15
2)-12

3) + 12
4) 15

The cost of 2 pens and 3 note books is
Rs 60. If the cost of 1 note book is Rs10,
then the cost of 1 pen is

1)Rs. 15
2)Rs. 30
3)Rs. 10
4) Rs. 25

The equation y=4x—7 has
1) no solution

2) unique solution

3) infinitely many solutions

4) exactly 2 solutions.

The sides of an equilateral triangle are
given by (x + 3y), 3x + 2y — 2) and
(4x+ 75 y+1) respectively. The length

of each side of the triangle (in units) is
1) 14 2) 15

3) 16 418

116

63)

64)

65)

66)

kx -5y -2=0, 6x+2y=7 2Bnek
Rovegdeonsh WdSnYRy, Beodedds k 8
ALSTon o

1) +15
2)-12
3)+12
4)-15

2 ﬁab&m*o B 3 Bects® IDIEAY WS
BR60. woTH Reet® TRsE XS Srld S
2O TN 33

1)Rs. 15
2)Rs. 30
3)Rs. 10
4)Rs.25

Bewezdo y= 4x—7 awd

1) ToTT BeodY

2) DTN 20T TOTT BRODVZTD.
3) 0N RoBoDH TOTOTNER, BROVT.
4) DTN ST TOTITNY, BROLT.

WOTH TDRT JPPWW WTNW  Fdhwon
(x+3y), (B + 2y - ) 3% (dx +7 y+1)
BET SRIBT T,E WITIIT WOT,
(FRORRIRIY)
1) 14
3) 16

2)15
4)18
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67)

68)

The sum of the numerator and the
denominator of a fraction is equal to 7.
Four times the numerator is 8 less than
5 times the denominator. The fraction is

D 2
2)

3)

Wb AW A=

4)

The Sum of the digits of a two digit
number is 5. If th digits are reversed, the
number is reduced by 27. The number is

1)32
2) 41
3) 50
4)23

69) The ages of A and B are in theratio 9 : 4.

seven years hence, the ratio of their ages
will be 5 :3. The ages of A and B (in
years) respectively are

1)27, 12
2)9, 4
3) 45, 12
4)18, 8

117

67)

68)

2OTH zpadcasoﬁ ®038 T Pernd 2o 7.
[leY-1a1 me%da':% B 5 d%aﬁos ‘8’
BRDOINTS. &3 zpsdcaéos:a

D 2
) +
3 5
9 3

DTW WoscH WoZNEYS wosnY R 5. &
:3033603: WOINER), WT wI SRRWRN
:30.93603» 27 SR, RZDASRMHRYT. Temess
(o] soa%os:o

1) 32
2) 41
3) 50
4) 23

69) A 53 B 138 Iodmne owTesSH) 9:4.

7 SIReFnY 808 W= FohANY wHTRIF) 5:3
Tomeny B A H3) B 930 Sobha ghaen

(BREASQ)
1)27, 12
2)9, 4

3) 45, 12

4) 18,8
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70) In AABC, ZC=3 /B=2(ZA+ 4£B)

1)

72)

73)

The three angles are
1) 20°, 40°, 120°
2) 30°, 60°, 90°

3) 45°, 45°, 90°

4) 90°, 40°, 50°

3 men and 4 boys can do a piece of work
in 14 days, while 4 men and 6 boys do the
same work in 10 days. The time taken
by one man to finish the same work (in
days)

1)75
2) 85
3)70
4) 80
A and B have incomes in the ratio 3:4. If
they spend in the ratio 2:3, each saves

T 400. The income of A and B
respectively (in Rs) are

1) 1200, 1600
2) 1300, 1400
3) 1500, 1100
4) 1000, 2000

36 is divided into two parts whose sum
of the reciprocals is % Two parts are

1) 12,24
2) 16, 20
3) 13,23
4y 15,21

118

70 ) &% ABCohg ZC=3 /B=

71)

72)

2(LA+ /B)
O35S e deesnsh

1) 20°, 40°, 120°

2) 30°, 60°, 90°

3) 45°, 45°, 90°

4) 90°, 40°, 50°

2,00 FOT[T, 3 LI TR 4 WOFD
14 DFNYY [INnTBETHRT wile JORIN, 4
OIS Tene 6 DdRAT 10 ARAYY

SRRBYD. TS BHe ORI, DB
2:0) LI IRLIRDS B (ASNYY)

1) 75
2) 85
3) 70
4 80

A ) B n¢ ITIRRE 0RTIY) 3:4 DI
OST BPRY LvIIY) 2:3. F3cdepte

2 400 LVOTCH FRRTS, A W B Y
RORPEG) FHTN (SRREY)

1) 1200, 1600

2) 1300, 1400

3) 1500, 1100

4) 1000, 2000

73) 366: T mm{%n RNTRN & Ponne

33 e msw) 1 & sow gmnne
1)12,24
2) 16, 20
3) 13, 23
4)15,21
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74) If x = 2 is a root of equation 74) kx*+2x—3=0,80e800003Q x =2  w0m
kx? +2x—3=0, then the valueof k is FReTES k 8 B3S8a3»
) 3 n 2
3
Ol D
Y 4 Y4
75) The quadratic equation with solution 75) {-2, 3} &) TozeC nreNTN BROALT

76)

77)

set {-2, 3}is

1) x2+2x—-6=0
2) x*+2x-3=0
3) ¥*-2x+3=0
4) x¥*-x-6=0

The roots of the equation
x%+ x%— 2=0are

1) 1,-8

2) 1,2

3) 1,-5

4) 1,4

The roots of the equation

(x+3)-4(x+3)-S5S=0are

1)
2)

—4,2

3)
4)

119

76)

77)

Inie BawedcrNons
) 2+2x—6=0
2) #+2x-3=0
3) ¥—2x+3=0
4) ¥-x-6=0

X7+ x7 — 2=0 320e300R IR
) 1,-8
2) 1,-2
3) 1,-5

4) 1,-4

x+3P2 -4 (x+3) -5 =0 "3cz00es
Seonsd

1) 4,2

2) 4,-2
3)

4

—4,-2
4, 2
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78) If \\x—-1 —+x+1 +1=0, then 4x is

79)

80)

81)

equal to
1)5
2)0
1
3)1 4
4) -1
Five times a certain whole number

equal to three less than twice the square
of the number is

)3
2) 3
3
3) >
-1
4) 3
Theroots of the equation
3 |X D =
ﬂ’s +3 ’xs 10 are
9
s, P
2)3, 45
5 L
N9 35
4) 5, 4?5

If the quadratic equation

4x? — (p-2) x + 1= 0 has equal roots, the
value of ‘p’ is

1) 20r6 2) 2or—6
3) 2or—6 4) 2or6

120

78)\x—1 —\Vx+1 +1=0, <=8 4x S 3
1)5
2)0
1
3)1 4
4) -1

79) wLOT TR :)‘oaséo:b 5 o®p, BT INFR
adddai@os Rt DR ADHWTIY @
:.109350&»

-1
N =
) 2

2) 3

3)

[ \SJ[IV)

4) %

80) Xnesoed

3/F+3[5 <10 smomeons
9

)5, 25
5,

23 45
5 1
3)9’ 45
4) 5, %5

81) 4x?>—(p-2)x+1 = 0 Sns FCFTHRT
Feond IDTRY  ‘p’ | BSodw

1) 2 95806 2) 25w —6

3) 2o -6 4) -2 953z 6
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82)

83)

84)

If x=-3 and x =2 are the solutions of
quadratic equation mx*> + 7x + n = 0,
then the values of m and n are
respectively.

1) 7, 42

2) 7,-42

3)-7,42

4) —7,-42

In a certain positive fraction, the
denominator is greater than the
numerator by 3. If 1 is subtracted from
the numerator and the denominator

both, fraction reduces by ﬁ . The
fraction is

1)

2)

ol woln

3)

4)

[N v

The product of digits of a two digits
number is 24. If its unit’s digit exceeds
twice its ten’s digit by 2, the number is

1) 38
2) 64
3) 46
4) 83

121

82)

83)

84)

mx?+7x+n=0 SInF T0CITLT TRON

=3 ®3H x=2 83 m BB 0y
BSods Fbamn

1) 7,42
2) 17, -42
3)-7,42
4) -7, -42

wWOTH TN zpsdcaéobg, 03 cécqsqbos 3
%aagnd. ©OZ3 TR 6@671@3&35:4 1 oo
YRR PIYTed0I0 14 SR IRHOIRMHIH.
TOMTT, & zpqlcwo:ba

1)

2)

ol ooln

3)

[ »po

4)

NTB ©OINY #os:?sosacgdow BOINY
r{moa%@ 24, zba:%asw ©90%03% BT :3%6:3
[Slel:Ton) adzzd;g%os 2’ 625368 Z] 3093603::
1) 38
2) 64
3) 46
4) 83
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85)

86)

87)

88)

If the speed of a car is increased by 10
km / hr, it takes 18 min less to cover a
distance of 36 km. The speed of the car
(in km/hr)is

1) 40
2) 50
3) 30
4y 60

If the sides of a right angled triangle are
(x-1) cm, 3x cm and (3x + 1) cm, then its
areain cm? is

1) 84
2) 48
3) 36
4) 64

If < and B are the roots of the equation
3x2 —6x+4=0, thenthevalueof%Jr B

oC

1)%
2) 3
3)%
9 2

The distance of the point P(5, —5) from
origin (in units) is

1) 2V5
2) 5V2
3) 5V3
4) 273

122

85)

86)

87)

88)

WOTH TON uamd 10 &.50¢/ Poed %zgﬁomn
TH 36 3. we. z&radﬁabd 18 ew|nieh Bens
BRDHIVBIRET FON BRI (3. Soe/Fowd)

1) 40
2) 50
3) 30
4) 60

WOTHOCWERER SPWW I (x-1) cm,
3xcm 23 (Bx+1) cm SWS STWS DREERF
(em*neQ)

1) 84
2) 48

3) 36
4) 64

ceHI P B Bwedsrd 3x® -6x+4=10
BTT HRONRTS % + B o
oC

1)

N
—

W
N’
wlbh A= W AW

N
-

TR WomaNow wom P(5, —5) «oe
BRT (FeSnvY)

) 2V5
2) 5V2
3) 543
4) 23
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89)

90)

91)

92)

If the pint P (x, y) is equidistant from the
prints A (3, 6) and B (-3, 4) then the
value of 3x +yis equal to

1) 10
2) 5

3) -10
4) -5

Two vertices of a triangle are (1, 3) and
(4, -5) and its centroid is (7, 2). The third
vertex of the triangle is

1) (15, 8)
2) (8, 12)
3) (16, 8)
4) (8, 14)

Area of the triangle (in square units)
whose vertice are (p,q + 1), (p,q -r) and

¢p,1)
1) 2qr
2) 2pr
3)p@@+)
4) q(p-1)

The co-ordinates of the points on x-axis
which is equidistant from the points
(-3,4)and (2,5) are

DO %) 2) (3, 0)

ONCRRY 4 (3, 0)

123

89)

90)

91)

92)

pod: P (x,y) v A (3, 6) 3 B (-3,4)
DOHRYOR ARPY BACRYES Ix +y B
236303

1) 10

2) 5

3) -10

4) -5

WOTH SEHHRTW AT %ormeéo 1, 3), (4, -5)

Zy WL deom (7, 2) BWO & RPHD
SRTSCD Fon)

1) (15,8)

2) 8,12)

3) (16, 8)

4) (8,14)

P,qt+tr), @ q-r1) DB -p, r) %071
NOWNYOR LVOLRT SPHWE IR (¥IT
IPINLO)

1) 2qgr

2) 2pr

3) p(q+r1)

4) q(p-71)

(-3, 4) = (2, 5) Oox IIWI
BRTUBYT  x - ©¥IW eOT VoI
AWFeTOIND
2
DO %) 2 (3, 0)

3 &, 1) 49 &, 0
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93)

94)

95)

96)

The quadrilateral obtained by joining
the points (1,1),(-1,5),(7,9) and (9, 5) is

1) Rhombus
2) Square
3) Rectangle
4) Kite

If the points (8, 1), (k, -4), and (2, -5) are
collinear, then the value of k is

1) 9
2) -9
3) 3
4) -3

Area of the quadrilateral (in square
units) formed by the vertices (2, -3),
(4,-5), (4,-2)and (6,-7)is

19
2) 6
3) 7
4) 12

The vertices of APQR are (P(2, 1),
Q (6, -2), R (8, 9). If PS is the angle
bisector, where S meets on QR then the
co-ordinatesof S are

)

124

93) (1, 1), (-1, 5), (7, 9) =3By (9, 5) Vo
0 enh= BRPHrED)

1)
2)
3)
4)

DN ~DE A
2508
003
moYes

94) (8, 1), (k, -4) 2 (2, -5) VoA

Sesmonzmongd k ob Boks
D 9
2) -9
3) 3

4) -3

95) 2.0m WHGHFEE Porind (2, -3), @, -5),

4, -2) =B (6, -7) ©TB, ©BS DaeeRERY
(@58 IRERYO)

1) 9
2) 6
3) 7
4 12

96) APQRS o (P(2,1),Q (6,-2), R(8,9)

PS gnes opmwsmen), QRS Shed 309238,
S ODIT JBFETOTR)

) 6Y)
(5, 11)
» (@)

4) (20 5)

2)
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97) If A (a, 0), B (2a, 0) and C (o0, 2b) are the
vertices of AABC, then the co-ordinates
of the centroid of AABCis

1) (2a-§ab , %b)
) (352 3)
3) (Za%ab, %b)

JCURD

98) The value of k if the distance between
(2K, 5) and (—k, —4) is 190
1) +3
2) +£2
3) £4
4) +1

99) The linear equation coincide with the

line 2x+3y=12is
1) 8&x+10y=18
2) 2x+3y=15
3) 7x+ 14y =13
4) 8x+ 12y =48

100)Valueof x in pair of linear equations
6x=Ty+7
Ty-x=8 is
1) 8
2) 5
3)3
4) 7

125

97)

98)

99)

A(a, 0), B(2a, 0) =35y C(o, 2b)
%ombodm@ocs ootRT uhw ABC o
30T WOWAT AWFLTOBY

1) (2a-?|’-ab , %b)
) (5 3

3) (Za;ab, %b)

b (5 1)

2k, 5) =B (—k, —4) VoBRY VRIS
BR%%) 90 &x38 k 8 3e3cin

1) +£3

2) £2

3) £4

4) 1

2x + 3y =12 Seadohy, BoRpms Seandd

RNCTTED

1) 8x+10y=18
2) 2x+3y=15
3) Tx+14y=13
4) 8x+12y=48

100) 6x="Ty+7

Ty-x=8
83 2300R TNeTTINSO x & LB

1) 8
2) 5

3) 3
4) 7
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101)If sin6 and cos6 are the roots of the
equation ax*-bx+c¢=0thena,b and ¢
satisfy the relation

1) 2+b2+2ac=0
2) a®-b*+2ac=0
3) @+c?+2ab=0
4) a®-b*-2ac=0

102)If ABC is a right angled triangle with
ZAisrightangleand Z/B: ZC arein the
ratio 1:2 thensinB is equal to

1) 28

3) 4) 1

Rl 1o

103)If tan® =‘% then the value of sin0 is
+4 +4
) 3 2) %

but not_4—

3) 5

Wk = w

butnot T4

4) 5

104)The value(s) of 0 which satisfies
sinf+ cos0 = 1among the following

(A) 0° B)90° (C)180°
(D) Any value

1) Only A
2) Only D

3) BothAand B
4) A,BandC

126

101) ax? - bx + ¢ = () 830eITT O sind

Ty cos6 NTT a, b DI ¢ AW
BOTANRT BwesTd

1) a®>+b*+2ac=0

2) @®>-b*+2ac=0
3) > +c*+2ab=0
4) @*-b*-2ac=0

102) vowdres pxm ABC o LA
VOWERETTNTY, /B: LC obaess1:2
338 sin Bod 236,

1 V3
1) 5 2) 5
) 5 4 1

103) tan6 =‘% =038 sin 0 & 3330

1) +4 2)t4
) 5 ) 5
3) % Sinlel _% SHO)

-4 +4
4) 5 ©TY T 8Ny

104) sin + cosO = 108, MORANDWS 3¢NS
0 S 28S(nsh)

A0 (B)90°
(D) oimyzde B

) A 303

2)D =%3

3) Awd) Brecas
4) A,B3ve C

(C) 180°
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105)The correct statement among the
following is

1) sin 1°= sin 1
2) sin 1° >sin 1
3) sin 1° <sin 1

4) sin 1°< sin 1

106)If f(x) = cos’>x + sec’x then the correct
statement is

) fe) <1
2) f(» 21
3) f(x) <2
4) f(x) 22

107)If y=cosx then the highest value of ‘y’
is

1) o 21 3)-1 4o
108)The value of tan 1° tan2° tan° 3.........

tan 89°is

Do 21 32 45

109)If sin6 + cosecO = 2 then sin® 6+ cosec? 0
is equal to

1) 4 2)3 3)2 41

127

105) $$NIJNLY Kooen Bevdodhows
1) sin1°= sin1
2) sin1° >sin 1

3) sin 1° <sin 1

4) sin 1° <sin 1

106) f(x) = cos’x + sec’x TMES TOABREI

e

1) f() <1
2) f(x) =1
3) f(x) <2
4) f(x) 22

107) y = cosx &8 ‘y’ S rog B3S.

)0 )1 3)-1 4o
108) tan 1° tan2° tan°® 3....ccccceeeue. tan 89°

N B3¢,

1) 0 21 32 4+

109) sinO + cosecd =2 W3 sin? 6+ cosec? O R
ADTOTD,

1) 4 2)3 3)2 41
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110) The correct option which matches the

following identies is
A) 1-sin’s (D cosecx
B) sec*x-1 (i) sin%*x
C) cosec®-1 (iii) sec’x
D) 1+tan%x (iv) cos*x
E) 1+cotx (v) tan’x
(vi) cot*x

Options:

A B C D E
M O o) G G W
2 @O @) ) () (@)
@) @Gv) @) () v @O
@ @) ) ) @§) @

111 If sin® + cos® =a then sin’0 + cos
is

D - @-17]
2) % [4-3 @- 1))
3)2 @- 1y

4)  (a- 1y

112)If sin (3A-B)=1 and cos (2A - B) =*’%
the corresponding value of sin A and

cos B are
V3 1
1 %’1 2)5’1
1,
330 49 50

128

MATHS
110) &N D, TWCTCRANYR, TVRODIT
BOSRT &od,cdhons
A) 1-sin’*x (I) cosec’x
B) secx-1 (i) sin%x
C) cosecix-1 (i11) sec*x
D) 1+tanx (iv) cos*x
E) 1+cot’x (v) tan’x
(vi) cot’x
SO :
A B C D E
I @ @y @) 3G
@ O 3G © - @)
@ v @G) ) ) @
@ v ) ) 3> @

sind + cos® =a ©3 sin0+ coso
)2 [1-(@-1y]

2)4 [4-3 (- 17]

111)

3)g @- 1y

4 5 G- 17

<|

112) sin (3A- B)=1 =3 cos 2A-B)="3
TOBE OFTTN  sin AL cos B 1Y
Bene

)|

V3,1 1
1) 2 2) 51
DT, 0 4 20

2
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113)If sin6 — cos® = 0 then the value of
(sin4 0+ cos"O) is

) 1 2)% 3)% 4)%

114)If an arc subtends an angle of 60° at
the centre of a circle of radius 6¢cm then
length of minor and major arc (in cms)

respectively.
1) 10rand 2 & 2) 2mand 10w
3) 1lnr and = 4) mwand 1ln

115) The total area of an equilateral triangle
OAB of side 12 cm and a circular arc of
radious 6 cm drawn with centre ‘O’is

1) 363 cm?

2) 660 cm?
7

o

3) (36\3 -

4) (3643 + 6%)) cm?

116) The area which belonging to a circle of
radius 12 em and not belonging to
regular hexagon inscribed in the circle
is

1) 62.35 cm?
3) 13.08 cm?

2) 78.89 cm?
4) 137.78 cm?

117) If a minor arc of a circle of radious 6 cm
subtends an angle of 45° at the centre
then the area made by the major arcis

1) 45 nmcm? 2) 63 wcm?

3) 31.5 ncm? 4) 36 ©cm?

129

113) sin® — cos6 =0 <=3 (sin’'0 + cos'0) 3
AL

D1 2) 3) 4)

3 1 1
4 2 4

114) 6 cm 3RIJY 2o F3IW 30XPY $eonrY
60° %Jacswabd QOO TPRTR VPO D)

QT FOXNY LOZNWD (cmMAYY) BN

1) 10n &3 2n 2) 2n B 107

3) lln &3, = 4) n B, 1ln

115) 12 ecm ms:@g A $pdE OAB DY
‘O %eogaj)g Tone 6 cm SHT FTEIn
i3 DY

1) 36vy3 cm?

2) 660 cm?
7

3) (36\3 — 6%)) cm?

660

4) (363 + 757 ) em?

116) 12 cm gz:r@% aggé* Beor 3y wide a;gwg
esos:m;mw Rles SPAvT aid%m%aﬁ Xeoon

LONT DRLERF.
1) 62.35 cm? 2) 78.89 cm?
3) 13.08 cm? 4) 137.78 cm?

117) 6 cm 3RIY [ OTHERIY) FeonRY 45°
msmﬁl VoW RWRRW3 & ;sdgzs (Dlal
BOTOOT LVOoEHRT DRLEDE.

1) 45 ncm?
3) 31.5mcm?

2) 63mcm?
4) 36 m cm?
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118) If an arc of same length make angles 75°
and 60° at the centre of two different
circles then the ratio between their radii
is

4
l)g

2 12 2
s 35 Dis

119) The angle of elevation of the sun when
the length of the shadow of a tree is
equal to the height of it is

1)30°  2)45°  3) 60°  4) 90°

120)If the angle of elevation from an
observer 2 m. tall to the top of a tower
which is 10 V3 m away is 30° then the
height of the tower is

D2m  2)10m  3) 12m  4) 14m

121) If the angle of depression of the top and
bottom of a tower from the top of a
hill of 100 m high are 30° and 60°
respectively then the height of the tower is

1) 2223 m 2)33.34m

3) 66.67 m 4) 44.45m

122)The distance between tips of tops and
bottoms of two poles are 15m and 12 m
respectively. If the length of the longer
poleis 11m then the shorter oneis

D2m  2)20m 3) 10m 4) 9m

123)In a right angled triangle ABC if ZA

and ZB are complementary then the
value of cos (A+B)is
1) 0 21 35 4)*%—

130

118) oTw@> 8ed FB Seoqned .0me 3oxR 75°
3y 60° BReINR, votd TRRT3 ©
FINY SRNY VHTIRY

2

4 2 12
D35 25 35 HDis

119) 2.0% HTT ICOT  OFR) ©[S 2T,
RDTRN BRCHFS AR wootes R3S
EReIR)

1)30°  2)45°  3) 60°  4) 90°

120) 2m  238FY, g DegIvom 10V3 m
BRUBY wod ReeXond emqls ERCTR)

30° 0350R3 ReeTHTT RZTH)

D2m  2)10m 3) I2m  4) 14m

121) 100m  QIBISHS 34T HRWOR WO
ReeHOn sheend w3 EHONE WIS

gpesnt: ZHaoN 30° L 60° RVBS
Reeahod 2353

1) 22.23m
3) 66.67 m

2)33.34m
4) 44.45m

122) 0 gownd HedS AR ¥ BHoRY
©o3ds) WRHEHIN 15m HIH) 12m SN,

Be% sowE 23T 1lm <=3 w3, Tow:
DZTH).
1) 2m

2)20m  3) 10m 4) 9m

123) 2,00 vowdres 3% ABC o ZA =3

/B rivs Re0% 2peRnwns cos (A+B) 3
23

1) 0 D1 33 4)\%




NTSE - SAT

MATHS

124) The altitude of an equilateral triangle of
side “a’ is
V3a

3a? 3a
D 7% 27

3a
3) 5 4 5

125)In the rhombus ABCD, AB? + BC? +

CD*+AD?=
B o D
C
1) OA%+ OB? 2) OA%-0B?

3) AC?+BD? 4) AC?- BD?
126)If PD is altitude of an equilateral
triangle PQR then 4 PD? is equal to

1) 2QD? 2) QR?
3) 2 DR? 4) 3 PQ?

127)In the given figure, if AB || LK and BC ||
KM then 32 s equal to

AL L
e
J a K
W

M

M
D cm

JB

JB JB JK
2)BK 3K YIL

131

124) ‘a’ o¥30iny MITORY BDWT> BT
DZTR).

V3a 3a? 3a 3a

) 55 2)5%5 3) 55 4
125) ABCD  =:gecn® AB® + BC? +
CD*+AD*=
B 0 D
C

1) OAZ+0? 2) OA%-0OB?
3) AC*+BD? 4) AC?-BD?

126) 31> $% PQR 8 2383y PD &ng

4PD* R Bhemnich
1) 2QD? 2) QR?
3) 2DR? 4) 3 PQ?

127) 8at300% 6359 AB|| LK =3, BC || KM
Temns JA Zmhann)

AL L
e
J a K
W

M

M

M

B JB JK
1) B IXK Y1
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128)In an isosceles triangle SRQ, S_g= @
and RS is produced to ‘P’ such that
SP=SR then ZRQP isequal to

1) 135° 2) 90° 3)45° 4)70°

129)The area of a rectangle whose sides are
in the ratio 3:2 and the diagonal 117

units is
1) 54 cm? 2) 585 cm?
3) 117 cm? 4) 6318 cm?

130)In a quadrilateral ABCD, if AB || CD,
/D=2 /B, AB=Db, and CD = a, then
theside AB is oflength

1) 2a+b 2) at+2b
3) 2a-b 4) a+b

131)The triangles obtained by a bisector of
an angle formed by two equal chords of
acircle are

A) Congruent triangles
B) Similar triangles

C) Right angled triangles
D) Acute angled triangles

Options:
1) Only A 2) Both A and B
3)A,Band C 4)AllA,BCand D

132)In an isosceles triangle ABC, AC=BC,
AD bisects ZBAC and ‘D’ lies on ]ﬁ,
IfAD=AB then the value of ZACB is

1) 54° 2) 36°
3) 60° 4)72°

132

128) SRQ Zshiymad $erY SQ=SRzers
SP = SR wnzod ‘P’ o, RS =on
3Qw3 ZRQP 8 13

1) 135°  2)90°  3)45°  4)70°

129) pORY SR oDHI?E 32 DI 117

NFZ0N &)69@?@% BODHIT DRLEIFT)

1) 54 cm?
3) 117 cm?

2)585 cm?
4) 6318 cm?

130) ABCD oz #3:30ruE®, AB || CD,
/D=2 /B, AB=b, =3 CD = a, ci»ad
AB @R evgy

1) 2a+b 2) a+2b

3) 2a-b 4) a+b

131) w.0%H aggw TR TR msmocs DTFEY
B2RCIRT APRRTOOT LVOLRT S wrish

A) AT Jewned
B) ARTHR SN
C) ©OoWIRET SFPWNTL
D) OFTVIRCT SFPWNO
Options:

1) A &3
3)A,Ba3 C

2) A=3) BRYsre
4) A, B C3 D agp

132) ABC xbgpmad Hdeng AC = BC ond.
Z/BAC cb® AD ob Opesngs w9
Doy BCod 33208 AD = AB <50
ZACB ob %8,

1) 54°
3) 60°

2)36°
4)72°
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133)P is any point in the interior of an
equilateral triangle ABC of side 23
units. If x, yand z are the distances of P
from the sides of the triangle, then the

valueof x+y+z is
1) (2 +V3) units 2) 5 units

3) 3 units 4) 9 units

134)In triangles ABC and DEF, /B = ZE,
ZF=/C and AB=3 DE then the two
triangle are

1) Congruent but not similar
2) Similar but not congruent
3) Neither congruent nor similar

4) Congruent as well as similar

135)In the given diagram, AABC and

ACDE are right angled triangles.
If AC =24 cm CE = 7 cm and

ZACB=ZCED then thelength of AE is

C

A Lg
1) 15cm 2)25cm
3) 22 cm 4) 30 cm

136) A square and a triangle have equal areas
if the ratio between side of square to
height of triangle is - then ratio of
height to base of the triangle is

D2 2% HT 93

133) 23 23[R W)Y BHewED 3phes ABC
0% wRPATOS 2,00 Worh P &nd. 3wy
TAYOR P & ©03TH) X, y I z ¥R
x+y+z8 83S

1) 2+/3) 23=2s
3) 30303

2) 50380
4) 9 HESPI

134) &b% ABC =3 DEF n$Q /B = /E,
/F = /C 2 AB= 3 DE mmad
Sphunie.

1) ZRFIRD STB RXTRANGY

2) BTRT SBT3 FaDTRANTY

3) ARVFRE Tone ATRANSTRL Y
4) ATFRR ToNRR ATBRANGTBR SNI.

135) 3p¥0xT WITY IH°x% ABC =3
&% CDE nsd 0owdncs SRRRTINTD,
AC = 24 cm CE 7 cm &3
ZACB=ZCED nivows AE o g,

C

(AN

A

1) 15cm
3) 22 cm

2)25cm
4)30 cm

136) 2oz Ine DI FPPPRF) WD QReF
BROPTLTR. INFT T _Tene SPET
230 RN SHIR 3 YBY Hder
230 TR WENY SHOS ORI,

2 4 4 9
1) 3 2)73 3z M3
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137)If in a triangle ABC, ZABC = 90° and
BC =Y 3AB then the value of sin Cis

Dl 1 yF 3

138) If the sides of a triangle are 5, 6 and 10
units, then the length of the bisector of
biggest side is

1) 2units 2) 11 units
3) WL ynits 4) L ynits
3 s

139)The criteria among the following which
satisfies both similarity and congruency
criterioes of triangles

A) Angle - Angle - Angle (AAA)
B) Side-Angle-Side (SAS)

C) Side - Side - Side (SSS)

D) Right Angle - Hypotenuse - Side

(RHS)
1) A only 2) Both Aand B
3)A,Band C 4)B,Cand D

140)If a circle inscribed in triangle MNO
having MN = 12 cm, MO = 14 cm and
NO =18 cm touching sides at P, Q and R
respectively then MP + NQ + RO in
equal to

1) 18 cm
2)20 cm
3) 22cm
4) 44 cm

134

137) $gb% ZABC 0b9, ZABC = 90° 3
BC =V3 AB 03533 sin C o 23¢3

1)-%— 2) 1 4 3

1
3)4?

138)5, 6 = 10 mmasmaeg EtAst it d:acg
RTINS %mz:%d emc;a

1) 2units 2) 11 units
3) % units 4) j% units

139) 83 3ISNTJNSY  phwne THSRT DI
RBEATHI TRSTORNSSRR, VRGRHH).

A)BeS-dnes-dRes (dne.dne.dee.)
B) &ne3-tom0-30es (300.250.80¢.)
C) 20T — LT — LI (239.239.29)
D) 00080 -RT0F —L0md (©0.20.239)

1) A 323
3)A,Bada) C

2) Amo3) BRiES@En
4)B, Ca3 D

140) MN =12 ¢m MO = 14 cm =3
NO = 18 cm mBnHY, bt MNO 89
©oZ:BReon FBRY wHEHTN P, Qb3 R
neQ BorHRPmns MP + NQ + RO R
BT,

1) 18cm
2)20 cm
3) 22 cm
4) 44 cm
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141) The obtainable figure QOPR from two
tangents PQ and PR drawn from an
external point ‘P’ to a circle with centre
‘Q’is
1) Parallelogram
2) Rectangle
3) Square
4) Cyclic Quadrilateral

142) The length of an arc made by a swinging
pendulum which is of length 75 ¢cm and
describes an angle of 30° is

1) 39.28 cm 2)42 cm
3) 16.50 cm 4)35.28 cm

143)In two concentric circles of radii 15 cm
and 9 cm, the length of a biggest chord of
the larger circle which is tangent to

smaller circle is
1) 10cm 2) 12 cm
3) 20 cm 4) 24 cm

144) The parallelogram circumscribing a

circle is
1) Square 2) Rectangle
3) Rhombus 4) Kite

145)Four congruent circles with centres are
the vertices of a square ABCD of side ‘a’
touch each other externally. Then, the
area of the region in the interior of the
square and exterior of circles is

1) @ (1-7) 2)%2(4-1:)

2 "
3)% (1) 4 5

135

141) ‘O’ FeomRs word [ wegnom P’
dom PQ w3y PR 33ranesy, adoen
LVOERT QOPRe:ss@éoxw

1) XT5003T 23305067
2) 3033

3) ™/NF

4) 2330 BWIOFF

142) 75 cm uglod e Sweewssy) 30°
smsw;s:el DTFR2TN YOOI BORT LT

1) 39. 28 cm 2) 42 cm

3) 16.50 cm 4) 35.28 cm

143) 15cm 233 9cm 3EAHY HTB DFEeOQCH
%371@;3@, zsg :538& BIFITONTOR BRB
- o -d @

q)gcs méd emdo

1) 10 cm 2) 12 cm

3) 20 cm 4) 24 cm

144) S22, @03:%7&@0:3 TR5003T BN

1) InE 2) 3003

3RS 4) MoYTE3

145) x> ‘a’ @*g =ne ABCD o zsdome:m&
BOTTONOTOZ 2¥T Toey,  AIEAD
IR WORT  WBETeN BOFMTA.
TWBB, SRS LR DI q,gm%
TBRTLRNIP SNTHT JWeBW JRLor.

1) (1-n) 2) & (4-m)

2 na”
3) 4 (m-1) 4 "y
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146)In the given circle, AB is a diameter and
AC is a tangent. If ZAOD =50° then
the value of ZACD s

B
(0)
50° D
A C
1) 65° 2) 50°
3) 45° 4) 105°

147)In the figure if the chords AB and CD
interest at point P then the correct
statement among the following is

A D
"

1) AB.CD= AC.
2) AP.PB = PC.
3) Ap.PB = AB.
4) AC.BD= PD.

BD
PD
CD
PC

148)If PR =9 cm and QS =5 cm are the
tangents drawn from ‘P’ and ‘Q’ to
bigger and smaller circles respectively
then the length of PQ is

1) 9cm
3)l4cm

2)5cm
4)4 cm

136

146) 3oyl FIRY, AB ok R DA
AC ot ZBrsemnd. ZAOD=50° «zd
ZACD o3 33

B
O
50° D
A C
1) 65° 2) 50°
3) 45° 4) 105°

147) 8330 AB 3 CD R P 20mIRY
330333, &R 28NS BewdnvQ TOBRT,

1) AB.CD=AC.B

2) AP.PB = PC.PD
3) Ap.PB = AB.CD
4) AC.BD= PD.PC

148) Bor, w3 By FIAeR P73 Q’ Hver
oHIHeen PR =9cm =3 QS = 5 cm
RBEBRIR, PN Tomeas PQ oo

1) 9cm
3) 14cm
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149)If a circle is inscribed in a triangle PQR

with sides PQ 10 cm, QR =8 cm and
PR =12 cm then the lengths of QM, RN

and PL arerespectively (in cm)

R
N
Q L P
1) 3,5,7 2)3,7,5
3) 5,3,7 4)7,3,5

150) The area of a circum circle of a square of
length 6 cmsis

2)9 1 cm?

4) 8 T cm?

1) 2 cm?

3) 18 m cm?

149) PQ =10 cm QR = 8 cm &3 PR =12 ¢cm
TN, u5 PQR as’c:) TR
Elor-H SMoa&ded QM, RN abza PL

ny Wdﬂ% ODFSoTTeN
R
N
Q L P
1) 3,5,7 2)3,7,5
3) 5,3,7 47,3,5

150) 6cm LVTIT RN [T TOFZW DYeer.

2) 91 cm?

4) 8 m cm?

1) 27 cm?

3) 18 © cm?

137
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MATHEMATICS (KEY ANSWERS)
1) X(n-1)-Xn=-n 7) a,befirstnegativeterm = a, < 0
a,= q+(n-1)d
2) a,b,c inAP ~1314(n-1) x 4
= b-a=c-b =131-4n + 4
= —(b-c)=—(a-b) =135-4n < 0
135
b-c _, n < g
a-b
n < 33.75
3) xty= atb , b+c The first negative term is 34th term
2 2
_at+2b+c
2
8) S={1,2,3,4,5,6}
But 2b=a+c (..a,b,c are inAP)
xt+y= 2b+2b A={3,5}
y 2 _ 1
~P(A)= € -3
_ 4b
2
= 2b
9 S, =n(mn+2)
4) Ans is 100. S, =1(1+2)
because common difference is same for =1x3
both Aps —3
S2 =2(2+2)
5) T,=a+7d=0 —9 % 4
a=-17d
=8
T, a+37d 30d _3 3
T, a+17d 10d 1 4+ a,=
a,=8-3=5
cd=d= a-a
=5-3=2

138
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10)

11)

13)

14)

7thterm= a= 40

ata,
=>a;= "5

= 40
Now s13=12—3 [a+1]
at a

=13 —

=13 x 40

= 520

a, = a+(n-1)d

~123=5+(n-1) -4
~123-5 _
4
—128
—4

n—-1=32

n-1

= n-1

n=32+1

n=33

n(s)=16
n(A) =1
LR (A= g

n(S)=15 = Canuse 6c2 or group the
answers

n(A) =1
1
~P(A)=15

139

16)

17)

18)

19)

20)

Days= 366 days have friday 52 x7= 364
Remaining day - 2 maybe (M, T), (T, W),
W, T) (TF), (F,S) (5,5) (S,M)

2
= 7
n(s)= 36
n(A)=6

_ 6

p (A) ~ 36

1
6

P@) = 3

Letblue —» x Green= (24 -x)

x 24 —x
pB) = 24 p(G) = 24
24 —
Now > = %
24
8
24-x = 2 x24
3
-x=16-24
—x=8 x=8
n(S)=4
n(A)=3
3
.'.P(A)=Z
83 _ 83
1500 ¥ x22 x3

Denominator isnotin the formof 5" x 2"

Hence non -terminating
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23) x =2317317317.....
1000 = 2317.317317317......

999x = 2315

_ 2315
999

24) HCF of 6 & 35 =1

4x4x4

, = = 64
27) No.ofsmall cubes T x 1x1
Ca 64 x[As]l 64x1z 64 4
A= = - = —
42 16 1
AB
a:A=4:1

28) 1=+a, b=4+b, h=+c
v=1xbxh
= +Jabc

v2 = gbc

2

29) = my*h, V=7 (%)h

nT ¥4/ 4 xh
7t ¥%h

\'4
M
Vo

=1:4

1
4

140

MATHS
) V. =
Well Platform
n¥th= Ixbxh

22 x(l)zx 20= 22 x14xh
7 2

h=25m

3D) V (cone) =% nx*h

Let x= x

V(HS) = £

Now V(C)= Vg

x*h

=%nx3

a

N

X

i—h\)

= h:x=2:1

R 5 W=

32 V(Cube) = a*>="7TxT7x17

V(Sph) = L (x=%)

Ay x(l)3
3 2

11

3 2 292 %2
= 17_95 cm?
10
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4 1 )
34) 3 n@8) = 3 Ax32 x¥

4x8%x8%x8
32

— r2

¥= 8cm

35) No

— (OO0
Wl w

= 512

48 = 29 +x

48 —29

x=

x =19

141

40) TOTAL (GIRLS) =73 x
TOTAL (BOYS) = (100- x)71
TOTAL(CLASS)=100 x71.8

=7180.0
Now  73x+(100-x)71=7180
73x+7100—-71x=7180
2x=7180—-7100
2x=80
x=40
. GIRLS = 40% BOYS=60%
41) Total =15x15
=2310

Difference inReading =175-45

=30
Actual Total =2310+30
=2340
Correct Mean =% = 156
42) Mean — 10x5+15X6+20X9
5+46+9
_ 60+90+180
20
_ 320
20

Mean = 16
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43) TX(AllTenNo.)

>X (Givenfive No)

=400
=180

>X (Remaining No.) =220

X (Remaining)

.. Difference =

_220
5

= 44

44 x 7

308
_ 308 539 _

385
cm

1 5

5

142

46) a,= 1500

a,= 1450

~.d=-50

wn
Il

—

—

11

x 2500

=

= 11 x 2500
= 13,750

.. Balance Amount =

47) Meanof a,b,c =

P=

[2 x 1500 + (11 — 1) (=50)]

[3000 - 500]

15,025 - 13750
31,275

at+b+c

3

at+b+c

3

Now (a+b+cP=a2+b*+c?
+ 2 (ab + bc + ca)

(3P)2 = a2+ b2 +c2+2 (0)

L @2+ b2+ = 9P

Mean of a?, b? c¢?=

a2+b2+c2
3
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50) n(S) = 5+7+4+2
=18
(A)=9 (White/black) neither of these two

9

18

~ P(A)= 1

51) For a cubic polynomial az ? + bz? +cz+d,

sum of zeroes = o

Sum of the prod%ct of its zeroes taken
two atatime = 3

Product of zeroes = _%

Given 2 =—4
a
C _
5 =7
-d _
a -9

sa=1,b=4, c=7, d=9. Hence the
required polynomial is z* +4z2+7z+9

52) Given polynomial is p(x) = 4x® - x* - 3tx
+ 2 sum of the product of roots taken two

at a time is
3t

£
a

143

53) Let «© and B are the zeroes of the
polynomial f(x)=(k?+4)x2+ 13x+4k

1 _

©w == or oof =
B p
_ 4k

We know ooff = 2+

1 _ 4k
= e+4
k2-4k+4=0

(k-22=0 k=2

54) x2 +zx+8=0
m and n are the roots sum of the roots,
mine 27
Given m-n=2
We know, (m - n)> —(m + n)> — 4mn
4=(-z)* - 4(8)
4=2722-32 =36
z= =6

55) Sum of the zeroes of the polynomial

3m?-(4+k)m+5is
b —[—(4+ W]

a 3
=0 (given)

4+k

-3
S~ 4+k=0 k=-4
Now polynomial
=2m?>-3 (k+6)m—20

= 2m? — 3 (-4 +6) m — 20
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=2m? - 6m — 20
=m?-3m-10
=>m?*-5m+2m-10=0
m(m-5)+2(m-5)=0
(m+2) (m-5)=0

m=-2 m=95 are the zeroes

56) a,b are the zeroes of

X+tx-1)-c

=x2+tx—t-c

=x2+tr—(t+¢)

ie,a+tb=—t

ab=—(t+c¢)

Now (a-1)(b-1)=ab—-b-a+1
=ab-(b+ta)+1
=—(t+c)-(-t+1

=]1-c¢

57) Perimeter of the rectangle =2 (1 + b)
6x+4x2-2=2(2x*+5x*+7+Db)
3 +2x2-1=2x*+5x2+7+D
Breadth = 3x* +2x? -1 - 2x* - 5x* -7

=x*-3x2-8

144

58) For x> + 2x + 5 to be a factor of
x + px +qremainder should be zero
4

x2-2x+5
x2=2x+5 m
x4+ 2x* + 5x°
-2 +(p-5x*+9
- 2x3 —4x2-10x
p-Dx*+10x +q
5x2+ 10x +25

(p-6)x2-25 +q
Remainder should be equal to zero.
p—6=0 and -25+q=0
p=6 q=25

6,25 are the values

59) 1 and -1 are zeroes of the polynomial
Ax*+Bx*+Cx*+Dx+E
. A+B+C+D+E=0 — (@
A-B+C-D+E=0 — (@
Adding @ and @
2A+2C+2E =0
ie,[A+C+E=0]
@ from @O
2B+2D=0 ie,[B+D=0]
(B+D)* = B +D* +3BD (B+D)
O0=B*+D*+0
B2+ D*=0

subtracting

ie.,
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60) x*+x*+8x2 + ax + b is exactly divisible
by x2+ 1, remainder =0

x2+x+7
*+1f x+x>+8>+ax+b
x*+x?
x*+7x>+ax +b
x* +x
Tx2+(a—1)x +b

T2 +77
(a-1)x+b-7

(a-Dx+b-7=0
(a-1)=0 b-7=0
a=1 b=7
a*+bx+6 => x*+6x+x+6=0
x(x+6)+1x+6)=0
x=-1 x=-06
61) (3,2)isthesolution3 3)—-k (2)=5

9-5=2k
4=2k k

Il
[}

62) Let the present age of father = x years
ages of 5 children =y years
x—-y -1
12 years hence,
age of father = x+ 12
sum of the ages of 5 children
=y+ (12 x5)
= y+60
2(x+12)=y+60
2x+24=y+ 60
2x—y =36
2x—x=36 x

36 y=3

145

63) For no solution,

a b C
_1__1¢ M

a, b, )
k_ -5 2
62 *7
k =—§ 2k= -30
62 k=-15

64) Let the cost of 1 pen = x Rs
Cost of 1 note book = y Rs

2x+3y=60 — (D

y=10 —@
Solving, 2x + 30 =60
2x = 30
x =15

65) x can have infinite values

66) Since it is an equilateral triangle, sides are
equal.

x+3y =3x+2y-2
y=2x-2 — @
x+3y= 4x +%y+1
(B-3) y= du+l
%y= 3x+1
52x-2) =2@x+1)
Lx=3 y=4

Hence the sides are 15 units each
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67) Let the fraction be %
x+y=7 — (D
y=T-Xx
4x = S5y-8
4 = 5(T-x)-8
= 35-5x—-8
Ox =27 =
y=4

.. Fraction is %

68) Let the two digit number be 10x +y
x+ty=5 — QO
(10x+y) — (10y + x)=27
10x + y—10y— x = 27

Ox — 9y =27
9 x—y) =27
x—-y=3
x—(5-x)=3
x+x=3+5
2x = 8 x=4
y =

69) Let the present age of A =x years

Present age of B = y years

%:% or 4x = 9y —(Q)
seven years hence.
xX+7 _ 5
y+7 = 3

3(x+7) =5@+7)

146

70)

71)

3x+21= 5y+35
3x-5y = 14

3(3)y-5y=14

— 4
y= 14 ><7

y=8 = x=% x8 =18

£C=3/B
ZC =2 (£LA+ £B)
Ina A, sum of three angles is 180°

£X =2 (180 - £X)

3 £C =360
£ZC =120
/ZB =40°

ZA =20°
Let a man take ‘x’ days to do the work a
boy take ‘y’ days.

3 .4 _ 1

x Ty T 14

4 6 _ 1

Ty 10

14 By +4x)= xy — (D
10 4y +6x)= xy — @)

From 1 and 2
y = 2x

3 4 1
1.€., ;"‘E—ﬁ
x =70
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72) Let the income of
A=x %X
B=y %

=% = 4x= 3y —D

<=

savings of each =400 ¥

Income - savings = Expenditure

X- 400 _ 2

Y- 400 3
3 (x - 400) =2 (y — 400)

3 (%y—400) = 2y — 800

y(% ~2) = 1200 - 800
y=1600 x= 1200

73) Let the two parts be x and 36 —x
1 1 _ 1
_+ —_— =
x 36-x 8

B6-x)+x 1
x(36 —x) 8

36 x8= x(36 - x)
288 = 36x —x*
x2—36x+288=0
x*—24x—-12x+288 =0
x(x—-24)-12 (x—24)

x=12 x =24

147

74) x =2 is aroot of the given equation
ie, k®+2x-3=0
k4)+4-3=0
4k =-1
1

k=13

75) Solution set {-2,3 }
x=-2 x=3
x+2=0 x-3=0
x+2) x-3)=0
xX*+2x-3x-6=0

x*—-x—-6=0

76) Given equation
x%h +x¥%h-2=0
Let x/a=y then
y+txy—-2=0
y2+y-2=0
y(y+2)-1(y+2)=0
xs =1 x5 =-2

cubing with sides
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77) Let x + 3 =Yy, then the equation becomes
y’—-4y-5=0
y2—5y+y—-5=0
yy-3)+1(-5=0
y+1D)(y-35=0

y=-1 y=5
x+3=-1 x+3=5
x=-4 x=1

78)Vx— 1 —Vx+ 1+ 1=0 Rationalising,

¥ =1 —xF1 = -1 — 1

\]x —1+\Ix +1)

\]x—1+\[x +1

(=-61) |

=1

x-D-(x+1D)=-1 (x=-1+yx+1)

x—1-x—-1=—yx—-1—qx+1

Vx—1+{x+1 =2 — 2

Adding 1 and 2

2x—-1=1

148

79) Let the whole number be x
5x = 2x* -3

2x*—-5x—-3=0

2x*—6x+x-3 =0

2x(x-3) +1(x-3)=0

2x+1=0 x-3=0
x=% x=3
80) Let [X

® |»n Lﬁ
I

U= <

Given equation reduces to

3

+ = =
3y+3 =10
2 +
3y 3=10
Yy
3y2+3 = 10y

3y2—10y +3= 0
3y2—9y—y+3=0
3(y-3)-1(-3)=0
By-1) (y-3)=0
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81)

82)

42— (p-2) +1=0

a=4 b=-(p-2) c¢=+1

since the roots are equal
b? —4ac = 0

p> -4p+4-16=0
p>P—4p-12=0
p>—6p+2p—-12=0
PE-6)+2(p-6)=0

p=-2 or p6

If x=—3 is aroot of the equation

mx? +7x +n=0
= m(-3*+7 (-3)+n=0
Om-21+n=0

Om+n=21 — 1

If x =2 is a root of the equation

mx*> +7x +n=0
m(2)*+7((2)+n=0
dm+n=-14 — 2

n=—-42 m=12

149

83) Let X be a fraction
y

y=x+3

x=y-3 — 1
x _x-1 _ 1
y y-1 14

y-D-y&x-1_ 1

y(y-1) 14
2-y

y
Xy—x—-yx +y= 14

14 (x+y)=y*-y

y> -y = — l4x + 14y
y?+14x - 15y =0
y2+14(y-3)-15y=0
y?+ 14y —42 - 15y =0
y2—-y—-42=0
y2—Ty+6y—42=0
yy-n+6(y-7=0
y=-6 y= x=4

.. Fraction is

<[V 32
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84) Let the two digit number be 10y +x

xy=24 = x= 24
y

x—-2y=2

24

£ _ay=2

y y

24 -2y* = 2y

2y2+2y —24=0

y2—-y —-12=0

y?+4y—-3y—-12=0

yy+t4)-3(y+4)=0

y=3 y=-+4

y cannot be negative number is 38

85) Let x be the speed of the car.

Time taken to cover 36 Km = 7

36

New speed of the Car = (x +10) Km / hr

New time = _36__ hrs

x+10
It takes 18 min less,
36 36 _ 18

x x+10 60

36 (x+10)-36x 18

x (x + 10) 60

Solving, we get x =30

.. speed of the car =30 km / hr

150

86)

87)

(3x+1)
(3x) cm

Q =1)

cm

Bx+12 = GBx)*+(x-1)

R

Ox2+6x+1=9x2 + x2—2x+1

x2-8=0
x(x—8)=0
x=0 x=8

sides are 24, 7, 25
1
Area= 2 x 7x24

= 84 cm?

= (o< + B -2 (ocf)
s o (d
=@r-2(3)
4 8
_4_3

4
3
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88) Co-ordinates of the origin, 0 (0, 0)

89)

90)

D =+/(5-0p+ (-5-0)
=+/25+25
= {50 = €]2_

Since p is eqidistant

PA=PB

PA?=PB?
B-xP+(6-yP=(3-xP+@-yy
9—6x+x*+36—-12y +y>

=9+ 6x+x2+ 16— 8y + y?
—12x—4y+20=0

-3x-y+5=0

3x+ty=5

Two vertices of a triangle are (1, 3) and
(49 '5)

Centroid is (7, 2)
Let the third vertex be (x, y)

1+4+x 3-5+y

H =7,2

3 3 (7,2)

5+ x=21 y—2=6
x=16 y=8

151

91) Area of triangle

92)

- 2[5 GG + %0, -y)]

-2 [P@-v-9+pa-@+v+
P @+)-@-)]

[P@-2)+pG-q-7)
P (q+%) —q+7)]

N =

% (pq — 2p¥ — pq — 2p¥)
17 -
2[ 4pr] 2 py

Area cannot be negative

. A= 2 pr Sq. units

Let P be a [point m x-axis with co-
ordinates (x, 0) Let X, Y be the points
given

x(-3,4) y=(2,)5)

—

JE3—x2+16 = (2-x)2+25

Now px =py

suaring,
(-3-)+16=(2-) +25

O+6x+ x2+16= 4—-4x+ x2+25

10x=4
x= 2
5

Co-ordinates of P (2’ 0)
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93)

94)

ALD D©.5)

B(-l, 5) C 7,9

AB=+4+16 =20
BC=+64+16 =80
CD=V4+16 = \20
DA =164 +16 =80

Opposite sides are equal

AC= 36+64 = V100
= 10

BD=+100+0 = 100 = 10

Diagonals are equal

- Itis arectangle

0:% [x1 (y2_y)+

x@-y)t % -yl

=% [8(—4+5)+k(-5-1)+2 (1 +4)]
=% [8 — 6k + 10]

O=4-3k+5

3k

9 k=3

1562

95)

6,-7 C “,-2)

2,-3) (4, -5)

ABCD are the vertices of the
quadrilateral

Area of quadrilateral ABCD

= Area of AABC + Area AACD

Area ABC= 7 [2(-5+2) +

[4(—2+3)+4 (-3 +5) ]

- % [-6+4+8]=3 Sq. units.

Area AACD =
2(-7+2)+6(-2+3)+
4(-3+7)]

= % [-10+ 6+ 16] = 6 Sq. units

Areaofread= 3+6

= 9 Sq. units
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96) P 98) 90 =4/(2k + k) + (5 +4)
90= 9k2 +92
9k? = 90 - 81
Q R g
©.-2) S &2 =41

PS is the angle bisector by angle bisector
theorem for APQR

PQ_ Q8
PR SR

PQ =4 (627 + (:2-1 =5

PR =+/(8-2+ (9-1)* = 10

5 .QS .. QS _1
10 SR 7’ SR 2

Thus S divides QR in the ratio 1:2

2 x6)+(1x8 (2x2)+(9x1)

S = 2+1 ’ 2+1
_ (20 5
373
97) (2, 0)
(2a, 0) (a,b) (o, 2b)
2a+ab ’ 2b+0
3 3
2at+ab 2
(52 50)

163

99) For coincident lines,

E1=hl=£1
a, b, ¢,
2 _ 3 _12
8 12 48
1 _1_1
4 4 4

. 8x + 12y =48 is the required
equation

100)6x -7y =7
7y = 8+x
8+x

7

substituting,

y=

6-7 3+tX _4
7

6x —8—x=17

5x=15 x=3
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SOLUTIONS

101)Sum of the roots, siné +cose =~

Qo

Product of the roots, siné . cose = £

a
Now, (sinf+cos0 )2= sin’0+ cos?0+2sin0 . cosO
—h)z _ 140
() = 1+25

b>= a? +2ac
a’-b*+2ac=0
102) x+2x=90°
x =30°
/ZB= x=30°

sin /B = sin 30°

103) When tan is negative 0 is either in Il or IV

quadrant.
InII quadrant sin@= %
InIV quadrant sin@ = —%
ca-t4
sinf =— 5

104)When 6 =0°; sin0°+cos0° =0+1=1
6=90°; sin90°+cos90°=1+0=1
0=180°; sin180°+cos180°=0+(-1)=-1
A and B both

105) 1 radian= 57° 30’ approximately.

sinl1® < sinl

106) AM > GM
cos?x +sec?x

5 > \’ cos?x . sec®x

cos%x +sec?x 2

f(x)2 2

v

154

107)-1 < cosx <1
Highest valueofyis1-1 < y<1

108)tan 1°.tan2°.tan3°......... tan 89° .
=cot(90°-1).cot(90°-2°)....... cot 89°
=cot89? .cot88°.cot87°

1 1
cot 88°  cot 89°

109)sin@ + cosecO=2
sin20+ cosec20+2sinO.cosecO=4
sin?0+ cosec?0+2=4

sin?0+ cosec?0+4—-2=2

100 9 A B C D E
v) v ) @) @

111) (sin?6 + cos?0)® = (sin?0)* + (cos?0)>
+ 3 sin?0 cos?@ (sin?0 + cos?0)
+ 6 6 i .
1 = sin®+cos® + 4 (2sin6.cos0)*—(1)
sin’0 + cos’ = 1 —%(az 1y
[-2sin0.cosO =:11 (a*- 1)]

sin’+cos’d = % [4-3(a®=1)]
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112) sin 3GA—-B)=1 cos 2A-B)= 3
sin (3A — B) = Sin 90°| cos(2A-B) = cos 30°
3A-B=90° 2A-B=30°
3A-B=90°
2A-B=30° . 3
o sin 60° = 5
cos 90°=0
S 3A-B=90°
3 x 60°-B=90°
180°-90°=B
B =90°

113) sinB — cos0 =0
= sin® = cosO
= 0=45°

Consider (sin?0 + cos?0)* =
(sin6)4 + (cosef+ 2 sin%0 . cos?0
12 = si'® + cos'® + 2sin?0 . cos?0
If 6 =45°
1-2(Z ) (F) = sirf0+cos'@
1- % = sin'0 + cos'0

1 )
5 = sin' + cos'0

114) 1=106 : minor arc length,
5 T
@x6Ax — =

6

1= 6x60°= 2n

major arc length,

1L
l=6x300°= 4x300° x 7

=10x

165

115)

Areaof AOAB=3xbxh
But, height of A OAB=0D

- OB _BD?

- JOB — @Y

=3 =12x6v3 = 3613

Areaof circle= ny? =367
Area of Sector ODE =%x¢ 0 = 62 x 60°
1 x36x60 x %0
=6m
Total Area = Area of A AOB +
Area of circle
— Area of Sector ODE
=36V3+36n — 67
=36\V3+30n
=36\3 + 30 x% = (36V3 + @)
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Areaofcircle- = n¥?=nx12x12 = 144w
Areaof AOAB= % x b xh

But, heightof Ale OAB=0D=+0A2-AD?

—\124-36 =108 = 643

. Ateaof AAOB =7 x 12 x 6y3= 36 B

.. Area of hexagon = 6x36V3 = 216\3
Required area= 1447 —2163= 144><2—72—216\/§

= 452.57-373.68

=78.89
117) Area of a sector = % ¥20 =
1 _m
5 ¥0 X 180
Angle by major arc = 360° — 45°
= 315°
.. Area made by major arc =
2 x6x6x315 x T80
=31.5n cm?
118) We know that 1=¥0 =y = %

r 1/0 06, 75°

MATHS
119) tang= 2 =1
=tand =1
X
=tanb =tan45° = 6=45
)
X
120) tan@ = ﬁ
¥ an30=1op3
e 1_ x_
2m 3 - 1043
4+ —>
1043 x=10

Height of tower=10+2=12m

121)
tan 60° 190
- 100
0 100 V3 = x
100
60° X = —=
«— x —» V3
tan 30° =<
1l_ v
3 100
V3
V3 100
100
- = y
3
Height of tower= 100 — 100
3
- % — 66.67m
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122) 122+ (11— g2 = 15° 125) AB? = AO? + OB?
; 112+ x2 - 22x = 152 - 122 AD?*=A0*+O0D?
= s
Dy = ¥ —22x=81-121 CD#= OC*+O0D*
: 2 — 2 + 2
X2 —22x+40=0 BC*= 0C*+ 0B
x x AB+AD*+CD?*+BC? = 2A0%+20C2+20B? +20D?
-2 =20+ 40=0 —4AO*+4BO*  (~AC=0C, BO=0D)
12m (x-2) (x-20)=0 = AC2 + BD? (--2AD =AC, 2BO =BD)
x=2 or 20
126) P PD? = PQ? - QD?
123)cos (A+B) =cos (180 —c) - A+B+C=180 )
A+B=180—c =PQ-(3 QR)?
=cos (180 —c¢) 1
=PQ* -4, PQ?(QR=PQ)
= cos (180 — 90)
= PS 22 — PS 22
=cos 90 Q D R 4
PD? = 7 PQ
4PD? = 3 PQ?
A _
124) ADP=AC - CD* 127) Since AB || LK, AABJ ||| AJKL
BC
AD = {55) L, IA_JB_AB
- IL_ JK KL
AD=ya' =4 o JL_K
- 1A IB
a a B 2_ = JL ;- JK
B C JA 1B
D = [F_03
— ="—xa
42 L IL-JA _ K-IB
TA JB
AL _ BK
= A~ B
JA _ B
= AL ~ BK

157
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128) In APQR, PS = SR = QS 130) Given 2 /B = /D
y =/P=/PQS =/SQR=/R=x If /B=x = /D=2x
D a C
S = _/P+/PQS+/SQR +/R=180° T But /D= /AEC = 2x
= x+ x+x+x=180° b b In Ale BCE,
Q R
= 4x=180° X\ /B+ /BCE= ZAEC
A E B
= x=45° x+ /BCE = 2x
Now, ZPQR = 2x =2 x 45° = 90° /BCE =x
~./BCE=/CBE =x
=>BE=EC=b»
129 D c AB=AE+EB=a+b
W
A B
Given AB:BC=3:2 131)In AABD and AACD A
Let AB = 3x and BC = 2x AD = AD ¢
Also AC = 117 units ABD =ACD
AB=AC B
Since ZABC =90°, AABC is right angled ¢
Ale .. AABD = AACD

—=AB?+BC2=AC?
=>(3x)* + (2x)2=(117)
=9x2 + 4x2 = (117)*
=13x2= (117
=x2=117 x 117

13

=x2=9 x 117

=>x=3 x117
Area= AB xBC=
3(ANTI7)x 2 (3117)
=54 x 117

= 6318 cm?

= AABD ||| AACD

Also, ZADC = ZADB

But ZADC + ZADB = 180°

= 2 Z/ADB = 180°

= ZADB =90° = ZADC

= AABD and AACD are right angle Ale
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132) Given AC =BC A 3«I_=%><ABxx+%chy+%AC><z
and D bisects . 3\I3_=% 2y3 (x+y+2)
=/BAD = /CAD=x 3=(x+y+2)
/S\ince f\‘c - B¢ C b B 134) AABC and ADEF
B=CAD =2x

In AACB, ZA+ /B+ /C=180°
2x + 2x + ZACB = 180°

2(36°) + 2(36°) + ZACB = 180°
72+ 72+ ACB = 180

144° + ZACB = 180°

ZACB = 180° — 144°

ZACB = 36°

Given AD =AB

= ZABD = ZADB

= AﬁB =2x

In AADB,

ZBAD + ZABD + ZADB = 180°
x+2x+2x=180°
5x=180

_ 180 _
5

x 36°

133)
AD =+JAC? - CD?

AD=112-3

Given AB=BC=AC=2 V3

Area of AABC=%XBC x AD
=% x2v3 x 3
=343

Area of Ale ABC = Ar AAPB + Ar ABPC +
Ar AAPC

169

4B = ZE (. Given)

ZC = ZF (. Given)

ZA = /D ('. Remaining angle)
AABC ||| ADEF

Also given, AB = 3 DE, that corresponding
sides are not equal. Therefore, not
congruent.

Similar but not congruent.

135) ZACE = ZACB + ZDCE
= ZCED + £ZDCE
ZACE =90°
. ACE is a right angled
triangle with AéE =90°
AE? = AC? + CE?

=24 + 7
AE?= 25?2
AE = 25
- a_2
136) Given =
h 3 a
a=2h
3
a b
Area of square = 4 =%xbxh = Area of
triangle
(&):Lbh
3
%x h2=%bh
h _9
b 8
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137) Given BC _ C
) AD V3

A(:=\IA_-|32fBC‘2 2
—I+@3r =vd=2 3

sinCc=4AB _ 1

AC ~ 2 —

138) We know that,
AB*+BC?=2 (AD? + BD?) 4
52+ 62 =2 (5 + BD?)

D
6 - 5 =2 BD?
11-2BD* £
11 _ gpe
> = BD
ﬂ:
’2 BD
139)B,C and D
140) M
P R
N 0
Q

MN +NO + MO = 12 + 14 + 18

MP +PN + NQ + QO + MR + RO = 44
MP + NQ + NQ + RO + MP + RO = 44
2MP+2NQ+2RO=44

MP+ NQ + RO = 42_4= 22 cm

160

141) Cyclic Quadrilateral

142) y_ .o no_ 22 _
Lxe_75x6 75><—7><6 39.28

143) AC2 = AO?— OC? A
AC? =152 -9
AC?=225-81 o—c
AC? = 144
AC=12

L AB=2AC=2x12=24cm

144) Rhombus

145) Area of Square = a*

) A B
Area of Circle = ma? A
na? e
Shaded Area =qa? -4 (T) A
=a? - ma? D C
=a® (1 -mn)
=a* (1 -n)

146) BOD = 180° — 50 = 130°
A 130°
BDO = 2 = 65°

A
CDO =180° - 65° — 115°

In Quadrilateral OACD

/DOA+ ZA+ ZC + ZCDO = 360°
50°+90° + £C + 115° =360°
C=360° - 255°=105°
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147) AAPC & ABPD 150) Length of Side of square = 6 cm
ZAPC=/BPD (V.O.A) A ’ D . Diagonal = 6v2 cm
ZCAP=ZCAD {\ Radius = diameter _Diagonal _ 642 _ 3{2 cm
2 2

(Angles of same are) B
ZACP = ZDBP C
(Third Angle)

APC || BPD

&L _AP_FC - ARPB-PC.PD

148)PT = PQ + QT
PR - PQ + Q5 (~PT- PR
9 =PQ+5 QT=38

PQ=9-5=4

149)PQ+RQ +PR=10+8+12
PL+LQ+RM+MQ+PN+NR =30
PL + MQ + NR + MQ + PL + NR = 30
2 (PL + MQ +NR) =30
PL+MQ+NR = 15 — (D
But PL+ LQ =10
= PL+QM=10
1 Becomes, 10+NR =15
NR =5 cm
Also, RN + NP=12

RN+ LP=12
1 Becomes, M_Q+12=15
MQ=3cm

By Substituting, PL+3+5=15
PL=7Cm

161

Areaofcircle= ny= m x 3{2 x 3{2

=18 mcm?
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Key Answers

Subject : Maths

QNo.| Key |QNo.| Key |QNo.| Key |QNo.| Key |QNo.| Key
114 |11 3 |21 3 31| 1|41 ]| 3
2 | 1112 2 |22 1 32| 2 |42 | 2
3| 2 |13 4 |23 2 |33 | 2 |43 | 4
4 | 3 |14 | 1 | 24| 4 (34| 2 |44 | 2
5| 2 |15 2 |25 2 | 35| 4 |45 3
6 | 4 |16 | 2 | 26| 3 |36 | 3 |46 | 1
7 | 3 (17| 4 |27 | 1 |37 | 3 |47 | 2
8 | 2 |18 | 1 |28 | 3 |38 | 2 |48 | 1
9 | 2 (19| 2 | 29| 2 [ 39| 4 |49 | 3
10| 1 20| 3 |30 4 |40 1 | 50| 4

162
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QNo.| Key |QNo.| Key |QNo.| Key |QNo.| Key |QNo.| Key
51| 3 |61 4 | 71| 3 | 81| 4 | 91| 2
52 | 4 (62| 1 |72 | 1 |82 2 | 92| 4
53| 1 |63 | 4 | 73| 1 (83| 4 93| 3
54 | 2 |64 | 1 | 74| 3 |84 | 1 | 94| 3
55 | 1 |65 3 | 75| 4 |8 | 3 | 95| 1
5%6 | 4 |66 | 2 | 76| 1 |86 | 1 |96 | 3
57 | 1 (67| 3 |77 | 1 |87 | 2 | 97 | 1
58 | 3 |68 | 2 | 78| 1 (88| 2 |98 | 4
50 | 2 |69 4 | 79| 2 (89| 2 | 99| 4
60 | 4 |70 | 1 |80 | 2 |90 | 3 |100| 3

163
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Q.No.| Key |QNo.| Key |QNo.| Key |QNo.| Key |Q.No.| Key
101 2 |1M11| 2 |121] 3 (131 3 [141| 4
102 1 |1M12| 3 |[122]| 4 (132 2 [142| 1
103| 2 |113| 3 |123| 1 |133| 3 [143| 4
104 3 |[114| 2 |124]| 1 |(134| 2 (144| 3
105| 3 |115| 4 [125]| 3 |135| 2 [145| 1
106 4 |[116| 2 |126| 4 |(136| 4 [146| 4
107 2 |117| 3 |127| 2 (137 1 [147| 2
108| 2 |[118| 1 |128| 2 |138| 4 (148| 4
109 3 |119| 2 [129]| 4 |139| 4 [149| 1
10| 4 |120| 3 [130| 4 [140| 3 |150| 3

164
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